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1. Introduction

This Data Note reports on work done to improve the quality and consistency of
the spells of employment collected for all main respondents of the National Child
Development Survey, covering the period 1974 to 1999/2000. The information is
based on data collected when the respondents were aged 24 (NCDS 4), 33
(NCDS 5) and 42 (NCDS 6).

This work was undertaken as part of the Gender Network Project with Professors
Shirley Dex and Heather Joshi, examining the occupational mobility of men and
women over the lifecourse, using the retrospective employment histories from
NCDS 4, 5 and 6.

The information provided below forms part of the work undertaken to construct
an employment history dataset. A separate Date Note (CLS: Programming
Employment Histories in NCDS 4, 5 and 6. 2007/02) indicates the final stage of
work once the cleaning had been completed. Both of these Data Notes should
accompany the Employment History dataset deposited at the Data Archive. It is
hoped that the information provided and the dataset will be of value to others
analysing the NCDS data.

The Contents of this Data Note are structured in the following sections;

2. National Child Development Study (NCDS): A brief introduction to the
NCDS survey and details of the user support group are provided.

3. NCDS Employment history: Specific details will be provided relating to the
information available at NCDS 4, 5 and 6.

4. Problems encountered: Details of the problems encountered in the original
employment history data and their resolution during cleaning.

All syntax used is available in the three Appendices: NCDS 4 syntax; NCDS 5
syntax, and Hand-cleaned amendments for employment dates.



2. National Child Development Study (NCDS)

The National Child Development Study (NCDS) is a continuing, multi-disciplinary
longitudinal study which takes as its subjects all those living in Great Britain who
were born between 3 and 9 March, 1958. NCDS began as the Perinatal Mortality
Survey (PMS) in 1958 and since then six further surveys have been carried out in
order to monitor the physical, educational and social development of
respondents. These surveys were carried out in 1965 (NCDS1), 1969 (NCDS2),
1974 (NCDS3), 1981 (NCDS4), 1991 (NCDS5); and 1999/2000 (NCDS6).

User Support Group

This group, supported by CLS staff, provides advice and guidance on the use of
NCDS data by:
e providing documentation about the data;
collating and disseminating information on uses of the data;
producing publications;
producing and distributing a newsletter and working papers;
providing access to non-computerised NCDS data;
collecting additional information; and
servicing the User Group.

The User Support Group can be contacted by post, ‘phone, fax, or email as
shown below:

Cohort Studies User Support Group,
Centre for Longitudinal Studies,
Institute of Education,

20 Bedford Way,

London WC1H OAL
Tel: +44 0207 612 6864
Fax: +44 0207 612 6880
Email: cohort@cls.ioe.ac.uk
Internet: http://www.cls.ioe.ac.uk/ncds



3. NCDS Employment Histories

The NCDS employment histories are based on spells of employment recalled
and recorded by respondents at NCDS 4, 5 and 6. Each of these interview
sweeps provide different information that have been used to prepare a
chronological employment history dataset to chart the moves that respondents
make in and out of employment from when the respondent left full-time education
to the latest interview at NCDS 6 (1999/2000). In preparing the data numerous
problems were identified across the data sweeps and it is these issues that are
discussed and remedied in this Data Note.

NCDS Data:

The fourth follow-up (NCDS4) of the National Child Development Study took
place in 1981 when the cohort members were aged 24. 12,537 people (born
between March 3-9th 1958) answered one or more sections of the study.

The fifth follow-up, NCDS 5, took place in 1991 when the cohort members were
aged 33. NCDS 5 instruments included a self-completion questionnaire known
as "Your Life Since 1974" which was posted to the cohort members during the
course of NCDS 5 and asked for retrospective and dated information on
marriages, children, jobs, non-employment, and housing from the age of 16 until
the time of the 1991 survey along with the dates of marriages and births and the
start and end dates of spells of employment or non-employment. Responses on
some or all of these data were obtained from 11,178 cohort members. The
development of this employment history dataset has relied heavily on data from
the NCDS5 ‘Your Life Since 1974’ questionnaire. The sixth follow-up (NCDS 6)
took place when the cohort members were aged 42. Retrospective information
relating to all spells of activity (i.e. employment, non-employment) were collected
at this sweep, dating back to sweep 5.

Data were collected in spells, where a spell represents one job. Respondents
were asked to delineate each spell with its start and end dates (month and year).
Obviously each of these spells represents a period of employment. However, two
successive spells, namely two jobs may not represent an uninterrupted period of
employment unless the end date of the first spell is followed without any gap by
the start date of the second spell. Where these dates are not continuous, it is
assumed that a period of non-employment separated these two job spells.

In the discussion below we use the terminology as follows:

1) job spell — which is a job but also implies a period of employment

2) non-employment spell — is the gap between discontinuous job spells.

3) Hours status — is whether a job spell has been coded either working full
time (code 1) or part time (code 2).



Table 1 below provides an overview of the information on employment histories
available from the three sweeps of the NCDS survey, 4, 5 and 6. This table

indicates the information that is available and how this information was collected
and stored in the original datasets.



Table 1: Overview of employment and occupation details available.

Survey Data Collected Respondent Details Collected
Collects up to four job spells. The Main respondent | Date job spell started - start
first spell refers to the respondents’ only. month and start year.
first job since leaving school. The Date job spell ended - end month
second and third spells are jobs and end year.
following on from the first. The fourth Hours status - part time or full
spell refers to the current or last job at time.
the time of interview, regardless of the Occupation classification — based
NCDS 4 | actual number of jobs a respondent on CO80.
—age 24 | has had.
Data is arranged in the order of the
first ever job to the current/most
recent job i.e. 74, 76, 80.
Current employment/job at time of Partner Based on CO80 occupation
interview. Respondent. classifications.
Collects up to 12 job spells covering Main and Partner | Date job spell started - start
the period from interview (1991) back | Respondent — month and start year.
to age 16 (1974) and therefore details taken from | Date job spell ended - end month
overlaps with NCDS 4 from ages 23 the “Your life and end year.
to 16. Spell one refers to the earliest | since 1974” self Hours status - part time or full
job spell and spell 12 refers to spell completion time.
nearest to the NCDS 5 interview date. | questionnaire. Occupation classification — based
on SOC90.
The start dates of the main
NCDS 5 | respondent interview are arranged in
—age 33 | the order of the first ever job to the
current/most recent job (e.g. 74, 76,
87, 89, 91) for the majority of cases.
However there are a number of cases
(approximately 300) where the data
uses the opposite order (e.g. 91, 89,
76, 74). There are also some
overlaps in the dates where the
cohort member has had two jobs at
the same time, although these are not
always part-time jobs.
Collects up to 10 job spells dating Main respondent | Date job spell started - start
from the interview (1999/2000) back only. month and start year.
to NCDS 5 (1991). The details Hours status - part time or full
collected at this sweep include spells time.
of employment and non-employment Activity status — whether
together. employed or non-employed.
NCDS 6 Occupation classification — based
—age 42 | Dates range from most recent job at on SOC90.

time of interview (spell one) to last job
(spell ten). This differs from the
NCDS 4 and 5 as the data are stored
in the opposite chronological order
e.g. 97, 95, 91. The dates are also in
four digit format whereas in NCDS 4
and 5 they are in two digit format.

No information are collected
regarding the end dates of each
spell.

The current or most recent job at time
of survey (1999/2000).

Main and Partner
respondent.

Occupation details use the
SOC90 classifications.




4. Problems encountered

The problems encountered were highlighted when we were attempting to collate
an employment history dataset that charted the moves in and out of employment
and between different occupation categories from 16 to age 42. Specifically, the
aim was to understand the occupational mobility of respondents over their
lifecourse. This relied heavily on the month and year values available in all three
of the NCDS surveys used.

Initially for each dataset (NCDS 4, 5 and 6), all missing values in the employment
histories had been set to system missing. This was problematic as it was found
that NCDS 4 and 5 system missing values did not distinguish between cases
where the question was ‘not applicable’ for the respondent to answer and cases
where the question was applicable but an answer was not given. This was
mainly a problem for the NCDS 5 employment histories: only minor cleaning was
needed and undertaken on NCDS 4. The NCDS 6 data were found to be of good
quality and therefore this document focuses mainly on the cleaning undertaken
on the NCDS 4 and 5 retrospective histories obtained at the cross-section
interview sweeps.

To facilitate the cleaning process | used a new naming system on all variables
that | had cleaned to allow comparisons to be made with the original variables.
The variables were renamed using the following structure (a typical variable
name could be dmjbstm or emjbedy);

d = denotes NCDS 4 or e = denotes NCDS 5 survey,

m = main respondent (cleaning was not undertaken for partner
respondents),

jb = job,

st or ed = refer to a spell’s start or end values respectively,

m = refers to a spell’'s date month; y = refers to a spell’'s date year.

Start month, start year and End month, end year

All missing values on NCDS 4 and 5 employment history variables (specifically
the employment dates) were checked and reassigned accordingly. This meant
re-defining the system missing into either a ‘don’t know’ (-8) category or a ‘not
applicable’ (-1) category. A ‘Don’t Know’ category is defined here as those who
were eligible to answer the question but did not provide an answer, or were
unsure of the correct answer at the time of interview. A ‘Not Applicable’ category
is defined here as those where the question was not relevant for them to answer
and they had been routed away from answering by earlier responses.

Further to this, the number of cases which had system missing codes in the
month (start or end) of a job spell should correspond to the number of system



missing codes in the year (start or end) of the same spell. The following shows
the frequencies of codes for a start month and start year of one example job
spell.

n507415 CML:13,8a)/1 Job #1 Date Job Started-MO

Cumulative
Frequency | Percent | Valid Percent Percent

Valid 0 41 4 4 4
1 320 2.8 3.1 3.5
2 182 1.6 17 5.2
3 285 25 2.7 7.9
4 337 2.9 3.2 11.2
5 329 2.9 3.2 14.3
6 1144 10.0 11.0 25.3
7 2432 21.2 23.3 48.6
8 2103 18.3 20.2 68.8
9 2385 20.8 22.9 91.6
10 504 4.4 4.8 96.5
11 253 2.2 2.4 98.9
12 116 1.0 11 100.0
Total 10431 90.9 100.0

Missing  System 1040 9.1

Total 11471 100.0
n507417 CML:13,8b)/1 Job #1 Date Job Started-YE

Cumulative
Frequency | Percent | Valid Percent Percent

Valid 0 1 .0 .0 .0
72 32 .3 .3 .3
73 165 14 15 1.8
74 5800 50.6 53.7 55.6
75 1295 11.3 12.0 67.6
76 1281 11.2 11.9 79.4
7 463 4.0 4.3 83.7
78 248 2.2 2.3 86.0
79 512 4.5 4.7 90.8
80 438 3.8 4.1 94.8
81 257 2.2 2.4 97.2
82 92 .8 .9 98.0
83 49 4 .5 98.5
84 26 .2 .2 98.7
85 25 .2 .2 99.0
86 14 1 1 99.1
87 16 1 1 99.2
88 12 1 1 99.4
89 30 .3 .3 99.6
90 21 .2 .2 99.8
91 18 .2 .2 100.0
Total 10795 94.1 100.0

Missing ~ System 676 5.9

Total 11471 100.0

Firstly, the missing system codes do not have the same number of cases in both
the month and year variables relating to the same spell. There are 1040 system
missing values in the month variable and 676 system missing values in the year
variable. While this gap points to a problem, a thorough check of all of these
cases in survey sweeps 4 and 5 was required to identify which cases were



genuinely system missing, and which should have been coded as “Don’t Know” (-
8).

Secondly, if a spell had not ended then the value of zero was assigned. In all
cases it was necessary to check these values. In some cases, spell dates were
assigned a zero but had no corresponding job details. In the above example,
however, for the first job, a value of zero should not occur as this marks the
respondent’s first job in the NCDS 5 retrospective employment history and as
such these cases had to be investigated.

If a case had a value in a month variable but was missing in the corresponding
year variable, the missing variable was set to Don’t know (-8). If however, a case
had no value in all of the month (start and end) and year (start and end) dates,
and had no further details about job spells (in all variables), then that case was
set to ‘Not Applicable’ (-1) signifying that the record of job spells had come to an
end.

There was a process of checking system missing values on spell dates to see if
they should be changed from ‘system missing’ to ‘Don’t know’ or ‘Not Applicable’.
The box below provides an example of this. Job spell one has a system missing
month value and job spell two has system missing codes on the start month and
end year values. My policy for handling this is that each of these three system
missing variables would be assigned to -8 (don’t know) instead of system
missing, to facilitate the identification that while a job spell has been recorded we
are unsure of some of the dates.

EXAMPLE
Job Spell One Job Spell Two
Month Ended Year ended Month Started Year started | Month ended Year ended
System missing 1980 System missing 1982 7 System missing

If an individual had only 3 job spells, the rest of the job spell variables allocated
to storing their employment history would be recoded from system missing to ‘not
applicable’ (-1).

During cleaning, | found other problems relating to the actual job spell dates
(start and end). Some were found to be incoherent given the format of the
variables and these were deemed to be coding errors. | was able to correct these
individual errors on a case-by-case basis. The syntax is included in the appendix.
Other errors found relate to noticeable overlaps between job spells and non-
employment spells. These were investigated by examining the whole set of job
spells and non-employment spells for each specific case. Again, if obvious
corrections could be made, these have been implemented and the syntax is
included in the Appendix.




Hours status (Full or Part time)

On variables which related to the hours status of a job spell (part time or full time)
and employee status (employee, self-employed or temp) of a given job spell, |
have only focused on cleaning the missing values and any inconsistent values.
Any out—of-range or system missing values on hours status and employee status
were set to either ‘don’t know’ (-8) or ‘not applicable’ (-1).

Occupational Cateqories

Details about individuals’ occupation categories for a job spell are not
investigated in this Data Note (please see the cautionary note attached to the
NCDS 4 details in the syntax section). NCDS 4 uses CO80 codes and NCDS 5
and 6 use SOC 90 codes. All had missing values correctly defined already as -8
(don’t know) or -1 (not applicable) and were left unaltered.

Date structure

As previously outlined, some of the job spells in NCDS 5 were not stored in the
same chronological order as the majority of cases, according to their dates, and
were found to go in the reverse chronological order. Other cases were found to
go from the past to the present and then turn and be stored from the present to
the past direction in the middle of the employment history. These cases needed
to be amended and stored in the same order as the majority of cases which is,
from first employment (i.e. 1981) to most recent employment at the time of the
interview (i.e. 1991).

All cases with a discrepancy were identified by simply cross-tabulating one
spell’'s date variables by the next spell’s date variable (for example, start year of
spell one by end year of spell one; end year of spell one by start year of spell 2
etc). All end year values should have higher or equal values to the start year of
the same spell. If any cases were found to have lower values in the end year
when comparing to the start year, these were checked. All amendments to cases
which were clearly in error are outlined in section three of the syntax.

In line with our project, further work was carried out. This work specifically went
on to examine the cases that had a value of -8 on any of the job spell dates. For
example, in some cases these missing dates were replaced by valid dates (start
month and year, end month and year). The dataset we are depositing in the
Data Archive with this Data Note does not contain any of these further changes,
nor does the syntax included in this Data Note cover these changes. This leaves
other researchers free to make their own assumptions and alterations as they
see fit.



APPENDIX ONE — NCDS 4 cleaning

NCDS 4 cleaning — run on NCDS 4 data only

**The majority of the ncds 4 variables here require no cleaning but for consistency purposes they have been recoded to
use format identified at start of this data note. Some variables required small amounts of cleaning and this is shown in the
syntax **

RECODE n4143 n4144 n4145 n4147 n4149 n4150 n4152 n4154 n4156 n4158 n4159 n4161 n4163 n4165 n4167 n4168
n4170 n4172 n4174 n4176 n4177 n4179 (sysmis=-1) (98=-8) (else=copy).
value labels n4143 n4144 n4145 n4147 n4149 n4150 n4152 n4154 n4156 n4158 n4159 n4161 n4163 n4165 n4167
n4168 n4170 n4172 n4174 n4176 n4177

n4179
-8 'Don t Know'
-1 'Not Applicable'.
execute.
missing values n4143 n4144 n4145 n4147 n4149 n4150 n4152 n4154 n4156 n4158 n4159 n4161 n4163 n4165 n4167
n4168 n4170 n4172 n4174 n4176 n4177 n4179 ().

compute dmjbstm1=n4145.

variable label dmjbstm1 "Start month first Job since school".
value labels dmjbstm1

-8 'Don t Know'

-1 'Not applicable'.

execute.

compute dmjbsty1=n4147.

variable label dmjbsty1 "Start YEAR first Job since school".
value labels dmjbstyl

-8 'Don t Know'

-1 'Not applicable'.

execute.

compute dmjbst1=n4149.

if serial='"515077L"' dmjbst1=-8.
if serial='683033F' dmjbst1=-8.
if serial='"720097M' dmjbst1=-8.
variable labels dmjbstl "First Job Status - Full or Part time".
value labels dmjbstl

1 'Full Time'

2 'Part Time'

-8 'Don t know'

-1 'Not Applicable'.

execute.

*EXAMPLE: End month job one - serial='683033F' is set to 68 on end month - coding error**
** amend to 6 and then amend end year to 81 having checked rest of history**

compute dmjbedm1=n4150.

if serial="683033F' dmjbedm1=6.

variable labels dmjbedm1 "End month first job since school".
value labels dmjbedm1

0 'Doing same job'

-8 'Don t know'

-1 'Not Applicable'.

execute.

**Example: end year job one - serial='683033F" is set to 10 on original - coding error - as month was set to 68 - therefore
will amend to 6/81**
**serial='"720097M' was set to 10 but believe should be set to 1 — which refers to ‘doing same job™**

compute dmjbedy1=n4152.

if serial='683033F' dmjbedy1=81.

if serial='"720097M' dmjbedy1=1.

variable labels dmjbedyl "End year first job since school".

10




value labels dmjbedyl
1 'Doing same job’

-8 'Don t know'

-1 'Not Applicable'.
execute.

compute dmjbstm2=n4154.

variable labels dmjbstm?2 "Start month 2nd Job".
value labels dmjbstm?2

-8 'Don t Know'

-1 'Not Applicable'.

execute.

compute dmjbsty2=n4156.

variable labels dmjbsty2 "Start YEAR 2nd Job".
value labels dmjbsty2

-8 'Don t Know'

-1 'Not Applicable'.

execute.

compute dmjbst2=n4158.

variable labels dmjbst2 "2nd Job status - full or part time".
value labels dmjbst2

1 'Full time'

2 'Part time'

-1 'Not Applicable'.

execute.

compute dmjbedm2=n4159.

variable labels dmjbedm2 "End month 2nd Job".
value labels dmjbedm?2

0 'Doing same job'

-8 'Don t Know'

-1 'Not Applicable'.

execute.

compute dmjbedy2=n4161.

variable labels dmjbedy2 "End YEAR 2nd Job".
value labels dmjbedy2

1 'Doing same job’

-8 'Don t Know'

-1 'Not Applicable'.

execute.

compute dmjbstm3=n4163.

variable labels dmjbstm3 "Start month 3rd Job".
value labels dmjbstm3

-8 'Don t Know'

-1 'Not Applicable'.

execute.

compute dmjbsty3=n4165.

if serial="182026R' dmjbsty3=82.

variable labels dmjbsty3 "Start YEAR 3rd Job".
value labels dmijbsty3

-8 'Don t know'

-1 'Not applicable'.

execute.

compute dmjbst3=n4167.

variable labels dmjbst3 "3rd Job status - full or part time".
value labels dmijbst3

1 'Full time'

2 'Part time'

-1 'Not Applicable'.

execute.

compute dmjbedm3=n4168.
variable labels dmjbedm3 "End month 3rd Job".
value labels dmjbedm3

11



0 'Doing same job'
-8 'Don t Know'

-1 'Not Applicable'.
execute.

compute dmjbedy3=n4170.

variable labels dmjbedy3 "End YEAR 3rd Job".
value labels dmjbedy3

1 'Doing same job'

-8 'Don t Know'

-1 'Not Applicable'.

execute.

compute dmjbstm4=n4172.

variable labels dmjbstm4 "Start month 4th or latest job".
value labels dmjbstm4

-8 'Don t know'

-1 'Not Applicable'.

execute.

compute dmjbsty4=n4174.

variable labels dmjbsty4 "Start YEAR 4th or latest job".
value labels dmjbsty4

-8 'Don t know'

-1 'Not Applicable'.

execute.

compute dmjbst4=n4176.

if serial='095039R' dmjbst4=1.

if serial="186105J' dmjbst4=1.

variable labels dmjbst4 "Job status 4th or latest job".
value labels dmjbst4

1 'Full time*

2 'Part time'

-8 'Don t know'

-1 'Not Applicable'.

execute.

compute dmjbedm4=n4177.

variable labels dmjbedm4 "End month 4th or latest job".
value labels dmjbedm4

0 'Doing same job'

-1 'Not Applicable'.

execute.

compute dmjbedy4=n4179.

variable labels dmjbedy4 "End YEAR 4th or latest job".
value labels dmjbedy4

1 'Doing same job’

-1 'Not Applicable'.

execute.

Missing values dmjbstm1 dmjbstyl dmjbedm1 dmjbedyl dmjbstl dmjbstm2 dmjbsty2 dmjbedm?2 dmjbedy2 dmjbst2
dmjbstm3 dmjbsty3 dmjbedm3 dmjbedy3 dmjbst3 dmjbstm4 dmjbsty4 dmjbedm4 dmjbedy4 dmjbst4 n4145 n4147 n4149
n4150 n4152 n4154 n4156 n4158 n4159 n4161 n4163 n4165 n4167 n4168 n4170 n4172 n4174 n4176 n4177 n4179 (-9
thru -1).

12



Note of caution for NCDS 4 occupation details:

Within this dataset there is a discrepancy for 808 cases where one job spell has dates and
complete information on all the variables, but a second job spell contained only an occupation
code and no dates or other information. This may have occurred in cases where a respondent
had two jobs but only one set of dates were collected / coded. This Data Note does not seek to
clean these cases; therefore | have provided the following syntax which will identify the 808 cases
referred to.

**This syntax establishes what the 2nd job is in NCDS 4 to match with the 2nd occupation code. In computing these — the*
*value 99 refers to the cases that only have one job - these are the cases of interest here.*

missing values n4147 n4156 n4165 n4174 ().

compute dmj2=-1.

if (n4147>0 and n4156>0 and n4165>0 and n4174>0) dmj2=n4174.
if (n4147>0 and n4156>0 and n4165>0 and n4174<0) dmj2=n4165.
if (n4147>0 and n4156>0 and n4165<0 and n4174<0) dmj2=n4156.
if (n4147>0 and n4156<0 and n4165<0 and n4174<0) dmj2=99.

if (n4147<0 and n4156<0 and n4165<0 and n4174<0) dmj2=-1.
variable labels dmj2 "2nd job to use for hist from ncds4".

value labels dmj2

-8 'don t know'

-1 'not applicable’

99 'only one job'.

execute.

missing values n4147 n4156 n4165 n4174 dmj2 (-9 thru-1).

freq dmj2.

**the following picks out all 3565 cases who have one job**

temp.

select if dmj2=99.

list serial n4147 n4156 n4165 n4174 n6121 n6138.

**Of the 3565 cases, 1434 give an occupation code in both occupation variables — this lists them all**
temp.

select if dmj2=99 and n6121>0 and n6138>0.

list serial n4147 n4156 n4165 n4174 n6121 n6138.

**Of the 1434 cases - 808 cases have different occupation codes but the rest have matching occupation codes. The
following temp command selects the 808 cases**

temp.

select if dmj2=99 and n6121~=n6138.
list serial n4147 n4156 n4165 n4174 n6121 n6138.

13



APPENDIX TWO — NCDS 5 cleaning

NCDS 5 cleaning — run on NCDS 5 data only

**One of the problems with ncds 5 job spells is that not all of the dates are in the same chronological order as the majority
- that means that whilst most go from most distant (earliest) to most recent job some dates actually go from most recent to
most distant (earliest). This does not affect the cleaning used here and is remedied when | begin my analysis using the
vector syntax. The chronological ordering of jobs could change more than once in progressing through the job spells. In
the syntax which follows (at the bottom) these very complex cases are dealt with individually in order to make their job
spells wholly consistent by starting from most distant job spell to most recent job spell in time.

**For cleaning purposes i recode the system missing values to -1 so that i can check them correctly**

RECODE n507413 n507415 n507417 n507419 n507421 n507423 n507424 n507425 n507427 n507429 n507431
n507433 n507434 n507435 n507437 n507439 n507441 n507443 n507444 n507445 n507447 n507449 n507451 n507453
n507454 n507515 n507517 n507519 n507521 n507523 n507524 n507525 n507527 n507529 n507531 n507533 n507534
n507535 n507537 n507539 n507541 n507543 n507544 n507545 n507547 n507549 n507551 n507553 n507554 n507613
n507615 n507617 n507619 n507621 n507623 n507624 n507625 n507627 n507629 n507631 n507633 n507634 n507635
n507637 n507639 n507641 n507643 n507644 n507645 n507647 n507649 n507651 n507653 n507654 (sysmis=-1)
(else=copy).

execute.

ADD value labels n507413 n507415 n507417 n507419 n507421 n507423 n507424 n507425 n507427 n507429 n507431
n507433 n507434 n507435 n507437 n507439 n507441 n507443 n507444 n507445 n507447 n507449 n507451 n507453
n507454 n507515 n507517 n507519 n507521 n507523 n507524 n507525 n507527 n507529 n507531 n507533 n507534
n507535 n507537 n507539 n507541 n507543 n507544 n507545 n507547 n507549 n507551 n507553 n507554 n507613
n507615 n507617 n507619 n507621 n507623 n507624 n507625 n507627 n507629 n507631 n507633 n507634 n507635
n507637 n507639 n507641 n507643 n507644 n507645 n507647 n507649 n507651 n507653 n507654

-1 'Not Applicable'.

execute.

**Also need to recode missing on unemployment records to -1**

RECODE n507713 n507714 n507715 n507716 n507717 n507718 n507719 n507814 n507816 n507818 n507820
n507822 n507823 n507825 n507827 n507829 n507831 n507832 n507834 n507836 n507838 n507840 n507841 n507843
n507845 n507847 n507849 n507914 n507916 n507918 n507920 n507922 n507923 n507925 n507927 n507929 n507931
n507932 n507934 n507936 n507938 n507940 n507941 n507943 n507945 n507947 n507949 n508014 n508016 n508018
n508020 n508022 n508023 n508025 n508027 n508029 n508031 n508032 n508034 n508036 n508038 n508040 n508041
n508043 n508045 n508047 n508049 (sysmis=-1) (else=copy).

execute.

ADD VALUE LABELS n507713 n507714 n507715 n507716 n507717 n507718 n507719 n507814 n507816 n507818
n507820 n507822 n507823 n507825 n507827 n507829 n507831 n507832 n507834 n507836 n507838 n507840 n507841
n507843 n507845 n507847 n507849 n507914 n507916 n507918 n507920 n507922 n507923 n507925 n507927 n507929
n507931 n507932 n507934 n507936 n507938 n507940 n507941 n507943 n507945 n507947 n507949 n508014 n508016
n508018 n508020 n508022 n508023 n508025 n508027 n508029 n508031 n508032 n508034 n508036 n508038 n508040
n508041 n508043 n508045 n508047 n508049

-1 'Not Applicable'.

execute.

**need to make sure that the missing values are turned off for compute purposes**

missing values n507413 n507415 n507417 n507419 n507421 n507423 n507424 n507425 n507427 n507429 n507431
n507433 n507434 n507435 n507437 n507439 n507441 n507443 n507444 n507445 n507447 n507449 n507451 n507453
n507454 n507515 n507517 n507519 n507521 n507523 n507524 n507525 n507527 n507529 n507531 n507533 n507534
n507535 n507537 n507539 n507541 n507543 n507544 n507545 n507547 n507549 n507551 n507553 n507554 n507613
n507615 n507617 n507619 n507621 n507623 n507624 n507625 n507627 n507629 n507631 n507633 n507634 n507635
n507637 n507639 n507641 n507643 n507644 n507645 n507647 n507649 n507651 n507653 n507654 n507713 n507714
n507715 n507716 n507717 n507718 n507719 n507814 n507816 n507818 n507820 n507822 n507823 n507825 n507827
n507829 n507831 n507832 n507834 n507836 n507838 n507840 n507841 n507843 n507845 n507847 n507849 n507914
n507916 n507918 n507920 n507922 n507923 n507925 n507927 n507929 n507931 n507932 n507934 n507936 n507938
n507940 n507941 n507943 n507945 n507947 n507949 n508014 n508016 n508018 n508020 n508022 n508023 n508025
n508027 n508029 n508031 n508032 n508034 n508036 n508038 n508040 n508041 n508043 n508045 n508047 n508049
0.

**Example of problem: - NUMBER OF PAID JOBS SINCE SCHOOL**
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**44 cases were set to missing and 4 of these were set to 0 (which for this variable only, refers to no jobs) but these cases
have provided some work history information change 44 cases to -8 DK in this variable.

**65 cases provided number of jobs but no work history details found therefore amend to 0**

**3 cases provided number of jobs but only start month given and no further history details therefore also amend to 0**
**serial='238014R' gave a start month and year but no further information - this date coincided with unemployment spell
therefore amend to -1 NA.

serial="Y01016Q" and 'YO1603F' gave no dates only job status therefore amend to -1 NA**

**serial='500437F" and '528004D' and '950119D' all answered 0 in number of jobs but actually give details of job therefore
code as -8 **

**compute a new variable to replace existing - new variable incorporates missing categories**

compute emnojob=-1.

if (n507413>=0) emnojob=n507413.

if (N507413<0) and (n507415>=0|n507417>=0|n507419>=0|n507421>=0|n507425>=0|
n507427>=0|n507429>=0|n507431>=0|n507435>=0|n507437>=0|n507439>=0|n507441>=0|
n507445>=0|n507447>=0|n507449>=0|n507451>=0|n507515>=0|n507517>=0|n507519>=0|
n507521>=0|n507525>=0|n507527>=0|n507529>=0|n507531>=0|n507535>=0|n507537>=0|
n507539>=0|n507541>=0|n507545>=0|n507547>=0|n507549>=0|n507551>=0|n507615>=0|
n507617>=0|n507619>=0|n507621>=0|n507625>=0|n507627>=0|n507629>=0|n507631>=0|
n507635>=0|n507637>=0|n507639>=0|n507641>=0|n507645>=0|n507647>=0|n507649>=0|

n507651>=0)) emnojob=-8.

if (N507413>0) and (n507415<=0 and n507417<=0 and n507419<=0 and n507421<=0 and n507425<=0 and
n507427<=0 and n507429<=0 and n507431<=0 and n507435<=0 and n507437<=0 and n507439<=0 and n507441<=0
and n507445<=0 and n507447<=0 and n507449<=0 and n507451<=0 and n507515<=0 and n507517<=0 and
n507519<=0 and n507521<=0 and n507525<=0 and n507527<=0 and n507529<=0 and n507531<=0 and n507535<=0
and n507537<=0 and n507539<=0 and n507541<=0 and n507545<=0 and n507547<=0 and n507549<=0 and
n507551<=0 and n507615<=0 and n507617<=0 and n507619<=0 and n507621<=0 and n507625<=0 and n507627<=0
and n507629<=0 and n507631<=0 and n507635<=0 and n507637<=0 and n507639<=0 and n507641<=0 and
n507645<=0 and n507647<=0 and n507649<=0 and n507651<=0)) emnojob=0.

if (n507413>0) and (n507415>=0 and n507417<=0 and n507419<=0 and n507421<=0 and n507425<=0 and
n507427<=0 and n507429<=0 and n507431<=0 and n507435<=0 and n507437<=0 and n507439<=0 and n507441<=0
and n507445<=0 and n507447<=0 and n507449<=0 and n507451<=0 and n507515<=0 and n507517<=0 and
n507519<=0 and n507521<=0 and n507525<=0 and n507527<=0 and n507529<=0 and n507531<=0 and n507535<=0
and n507537<=0 and n507539<=0 and n507541<=0 and n507545<=0 and n507547<=0 and n507549<=0 and
n507551<=0 and n507615<=0 and n507617<=0 and n507619<=0 and n507621<=0 and n507625<=0 and n507627<=0
and n507629<=0 and n507631<=0 and n507635<=0 and n507637<=0 and n507639<=0 and n507641<=0 and
n507645<=0 and n507647<=0 and n507649<=0 and n507651<=0)) emnojob=0.

if serial="500437F' emnojob=-8.

if serial='528004D' emnojob=-8.

if serial='950119D' emnojob=-8.

if serial='"238014R' emnojob=-1.

if serial="Y01016Q' emnojob=-1.

if serial="Y01603F' emnojob=-1.

variable label emnojob "Main: Number of paid jobs since leaving school".

value labels emnojob

-8 'Don t Know'

-1 'Not Applicable'.

execute.

**n507415 - START DATE - MONTH OF JOB ONE**

compute Emjbstm1=-1.

if (507415>0) Emjbstm1=n507415.

if (N507415<0) and (emnojob=-1|emnojob=0)) Emjbstm1=-1.

if (N507415<0) and (n507417>=0)) Emjbstm1=-8.

if (n507415<0) and (n507417<0) and
(n507419>0|n507421>0|n507425>0|n507427>0|n507429>0|n507431>0|n507435>0|n507437>0|n507439>0|n507441>0|n
507445>0|n507447>0|n507449>0|n507451>0|n507515>0|n507517>0|
n507519>0|n507521>0|n507525>0|n507527>0|n507529>0|n507531>0|n507535>0|n507537>0|
n507539>0|n507541>0|n507545>0|n507547>0|n507549>0|n507551>0|n507615>0|n507617>0|
n507619>0|n507621>0|n507625>0|n507627>0|n507629>0|n507631>0|n507635>0|n507637>0|
n507639>0|n507641>0|n507645>0|n507647>0|n507649>0|n507651>0)) Emjbstm1=-8.

if (N507415<0) and (emnojob>0) and (n507417<0 and n507419<0 and n507421<0 and n507425<0 and n507427<0 and
n507429<0 and n507431<0 and n507435<0 and n507437<0 and n507439<0 and n507441<0 and n507445<0 and
n507447<0 and n507449<0 and n507451<0 and n507515<0 and n507517<0 and n507519<0 and n507521<0 and
n507525<0 and n507527<0 and n507529<0 and n507531<0 and n507535<0 and n507537<0 and n507539<0 and
n507541<0 and n507545<0 and n507547<0 and n507549<0 and n507551<0 and n507615<0 and n507617<0 and
n507619<0 and n507621<0 and n507625<0 and n507627<0 and n507629<0 and n507631<0 and n507635<0 and
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n507637<0 and n507639<0 and n507641<0 and n507645<0 and n507647<0 and n507649<0 and n507651<0))
Emjbstm1=-1.

if (N507415=0) emjbstm1=-8.

if serial="238014R' emjbstm1=-1.

if serial="823506A"' emjbstm1=-1.

if serial="405049R' Emjbstm1=N507435.

if serial="X84006W' emjbstm1=n507435.

if serial='091012X"' emjbstm1=9.

if serial='"823506A"' emjbstm1=-1.

variable labels Emjbstm1 "Main: Job ONE start month".
value labels Emjbstm1

-8 'Don t know'

-1 'Not applicable'.

execute.

**N507417 - YEAR START JOB ONE **

compute Emjbsty1=-1.

if (n507417>0) Emjbsty1=n507417.

if (emjbstm1=-1) emjbsty1=-1.

if (n507417<0) and (n507419>0|n507421>0|n507425>0|n507427>0|n507429>0|n507431>0|
n507435>0|n507437>0|n507439>0|n507441>0|n507445>0|n507447>0|n507449>0|n507451>0|
n507515>0|n507517>0|n507519>0|n507521>0|n507525>0|n507527>0|n507529>0|n507531>0|
n507535>0|n507537>0|n507539>0|n507541>0|n507545>0|n507547>0|n507549>0|n507551>0|
n507615>0|n507617>0|n507619>0|n507621>0|n507625>0|n507627>0|n507629>0|n507631>0|
n507635>0|n507637>0|n507639>0|n507641>0|n507645>0|n507647>0|n507649>0|n507651>0)) Emjbsty1=-8.
if serial="405049R' Emjbsty1=N507437.

if serial="X84006W' emjbsty1=n507437.

if serial="091012X"' emjbsty1=74.

variable labels Emjbstyl "Main: Job ONE start year".

value labels Emjbstyl

-8 'Don t know'

-1 'Not applicable'.

execute.

**N507419 - DATE JOB ENDED - JOB ONE **

compute Emjbedm1=-1.

if (n507419>=0) Emjbedm1=n507419.

if (N507419=0) and (emnojob~=1) and (n507421>0)) Emjbedm1=-8.

if (emjbsty1=-1) Emjbedm1=-1.

if (N507419<0) and (n507421>0|n507425>0|n507427>0|n507429>0|n507431>0|n507435>0|
n507437>0|n507439>0|n507441>0|n507445>0|n507447>0|n507449>0|n507451>0|n507515>0|
n507517>0|n507519>0|n507521>0|n507525>0|n507527>0|n507529>0|n507531>0|n507535>0|
n507537>0|n507539>0|n507541>0|n507545>0|n507547>0|n507549>0|n507551>0|n507615>0|
n507617>0|n507619>0|n507621>0|n507625>0|n507627>0|n507629>0|n507631>0|n507635>0|
n507637>0|n507639>0|n507641>0|n507645>0|n507647>0|n507649>0|n507651>0)) Emjbedm1=-8.

if (n507419>0) and (n507421=0) and (n507425<0 and n507427<0 and n507429<0 and n507431<0 and n507435<0 and
n507437<0 and n507439<0 and n507441<0 and n507445<0 and n507447<0 and n507449<0 and n507451<0 and
n507515<0 and n507517<0 and n507519<0 and n507521<0 and n507525<0 and n507527<0 and n507529<0 and
n507531<0 and n507535<0 and n507537<0 and n507539<0 and n507541<0 and n507545<0 and n507547<0 and
n507549<0 and n507551<0 and n507615<0 and n507617<0 and n507619<0 and n507621<0 and n507625<0 and
n507627<0 and n507629<0 and n507631<0 and n507635<0 and n507637<0 and n507639<0 and n507641<0 and
n507645<0 and n507647<0 and n507649<0 and n507651<0)) emjbedm1=0.

if (N507419<0) and (emnojob=1) and (emjbstm1>0 and emjbsty1>0) and (n507421<=0) and (n507425<0 and n507427<0
and n507429<0 and n507431<0 and n507435<0 and n507437<0 and n507439<0 and n507441<0 and n507445<0 and
n507447<0 and n507449<0 and n507451<0 and n507515<0 and n507517<0 and n507519<0 and n507521<0 and
n507525<0 and n507527<0 and n507529<0 and n507531<0 and n507535<0 and n507537<0 and n507539<0 and
n507541<0 and n507545<0 and n507547<0 and n507549<0 and n507551<0 and n507615<0 and n507617<0 and
n507619<0 and n507621<0 and n507625<0 and n507627<0 and n507629<0 and n507631<0 and n507635<0 and
n507637<0 and

n507639<0 and n507641<0 and n507645<0 and n507647<0 and n507649<0 and n507651<0)) emjbedm1=0.

if (N507419<=0) and (emnojob~=1) and (emjbstm1>0 and emjbsty1>0) and (n507421<=0 and n507425<=0 and
n507427<=0 and n507429<=0 and n507431<=0 and n507435<0 and n507437<0 and n507439<0 and n507441<0 and
n507445<0 and n507447<0 and n507449<0 and n507451<0 and n507515<0 and n507517<0 and n507519<0 and
n507521<0 and n507525<0 and n507527<0 and n507529<0 and n507531<0 and n507535<0 and n507537<0 and
n507539<0 and n507541<0 and n507545<0 and n507547<0 and n507549<0 and n507551<0 and n507615<0 and
n507617<0 and n507619<0 and n507621<0 and n507625<0 and n507627<0 and n507629<0 and n507631<0 and
n507635<0 and n507637<0 and

n507639<0 and n507641<0 and n507645<0 and n507647<0 and n507649<0 and n507651<0)) emjbedm1=0.
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if (N507419<0) and (emnojob~=1) and (n507421=0) and (n507427>0)) emjbedm1=0.
if serial="Y20165R' emjbedm1=10.

if serial='056019P' emjbedm1=7.

if serial='431026A' emjbedm1=11.

if serial="823506A"' emjbedm1=-1.

if serial="405049R' emjbedm1=N507439.

if serial="X84006W' emjbedm1=n507439.

variable labels Emjbedm1 "Main: Job ONE end month".
value labels Emjbedm1

-8 'Don t know'

-1 'Not applicable’

0 'Doing same job'.

execute.

**N507421 - JOB END YEAR JOB ONE**

compute Emjbedyl1=-1.

if (N507421>0) Emjbedy1=n507421.

if (emjbedm1=0) Emjbedy1=0.

if (emjbedm1=-1) Emjbedyl=-1.

if (N507421<0) and (emjbedm1~=0) and (n507425>0|n507427>0|n507429>0|n507431>0|
n507435>0|n507437>0|n507439>0|n507441>0|n507445>0|n507447>0|n507449>0|n507451>0|
n507515>0|n507517>0|n507519>0|n507521>0|n507525>0|n507527>0|n507529>0|n507531>0|
n507535>0|n507537>0|n507539>0|n507541>0|n507545>0|n507547>0|n507549>0|n507551>0|
n507615>0|n507617>0|n507619>0|n507621>0|n507625>0|n507627>0|n507629>0|n507631>0|
n507635>0|n507637>0|n507639>0|n507641>0|n507645>0|n507647>0|n507649>0|n507651>0)) Emjbedy1=-8.
if (N507421<0) and (emjbedm1=0) and (nN507427>0)) emjbedy1=0.

if serial="Y20165R' Emjbedy1=88.

if serial="056019P' Emjbedy1=85.

if serial="431026A' Emjbedy1=79.

if serial='"823506A' Emjbedy1=-1.

if serial='405049R' Emjbedy1=N507441.

if serial="X84006W' Emjbedy1=n507441.

if serial='091012X' Emjbedy1=76.

variable labels Emjbedyl "Main: Job ONE end year".

value labels Emjbedyl

-8 'Don t know'

-1 'Not applicable’

0 'Doing same job'.

execute.

**N507423 - Job one - status of job whether ft or pt**

compute emjbst1=-1.

if (n507423>0) emjbst1=n507423.

if (N507423<0) and (emjbedy1=-1)) emjbstl=-1.

if (N507423<0) and (emjbstm1~=-1|emjbstyl~=-1|emjbedml~=-1|emjbedyl~=-1)) emjbst1=-8.
if serial="405049R' emjbst1=2.

variable labels emjbstl "Main: Job One - Full or Part time".
value labels emjbstl

-8 'Dont know'

-1 'Not applicable’

1 'Full-time'

2 'Part-time'.

execute.

**N507424 — job one employee status**

compute emjbem1=-1.

if (n507424>0) emjbem1=n507424.

if (n507424<0) and (emjbedy1=-1)) emjbem1=-1.

if (N507424<0) and (emjbstm1~=-1|emjbstyl~=-1|emjbedml~=-1|emjbedyl~=-1)) emjbem1=-8.
variable labels emjbem1 "Main: Job One - employee status".
value labels emjbem1

-8 'Dont know'

-1 'Not applicable’

1 'Employee’

2 'Self-employed'

3 'Temping'.

execute.
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**n507425 - START MONTH JOB TWO**

compute emjbstm2=-1.

if (N507425>=0) emjbstm2=n507425.

if (emjbedyl1=-1) emjbstm2=-1.

if (N507425<0) and (n507427>0|n507429>0|n507431>0|n507435>0|n507437>0|n507439>0|
n507441>0|n507445>0|n507447>0|n507449>0|n507451>0|n507515>0|n507517>0|n507519>0|
n507521>0|n507525>0|n507527>0|n507529>0|n507531>0|n507535>0|n507537>0|n507539>0|
n507541>0|n507545>0|n507547>0|n507549>0|n507551>0|n507615>0|n507617>0|n507619>0|
n507621>0|n507625>0|n507627>0|n507629>0|n507631>0|n507635>0|n507637>0|n507639>0|
n507641>0|n507645>0|n507647>0|n507649>0|n507651>0)) emjbstm2=-8.

if ((n507425<0) and (n507427<0 and n507429<0 and n507431<0 and n507435<0 and n507437<0 and n507439<0 and
n507441<0 and n507445<0 and n507447<0 and n507449<0 and n507451<0 and n507515<0 and n507517<0 and
n507519<0 and n507521<0 and n507525<0 and n507527<0 and n507529<0 and n507531<0 and n507535<0 and
n507537<0 and n507539<0 and n507541<0 and n507545<0 and n507547<0 and n507549<0 and n507551<0 and
n507615<0 and n507617<0 and n507619<0 and n507621<0 and n507625<0 and n507627<0 and n507629<0 and
n507631<0 and n507635<0 and n507637<0 and n507639<0 and n507641<0 and n507645<0 and n507647<0 and
n507649<0 and n507651<0)) emjbstm2=-1.

if (n507425=0 and n507427>0) emjbstm2=-8.

if serial="092310M' emjbstm2=1.

if serial="211006R" emjbstm2=4.

if serial='509257C' emjbstm2=2.

if serial='"514085D' emjbstm2=2.

if serial="730038A"' emjbstm2=6.

if serial='"950117Z' emjbstm2=1.

if serial="Y01080Z' emjbstm2=11.

if serial='225018B' emjbstm2=-1.

if serial="400122W' emjbstm2=-1.

if serial='"825089X"' emjbstm2=-1.

if serial="950162E' emjbstm2=-1.

if serial='"823506A"' emjbstm2=-1.

if serial="405049R' emjbstm2=N507445.

if serial='"822037L' emjbstm2=-1.

if serial='"825083K" emjbstm2=-1.

if serial="385008V' emjbstm2=-1.

if serial='436020Q' emjbstm2=-1.

variable labels emjbstm2 "Main: Start month JOB TWO".

value labels emjbstm2

-8 'Don t Know'

-1 'Not Applicable’

0 'Doing same job'.

execute.

**n507427 - START YEAR JOB TWO**

compute emjbsty2=-1.

if (N507427>=0) emjbsty2=n507427 .

if (emjbstm2=-1) emjbsty2=-1.

if (n507427<0) and (n507429>0|n507431>0|n507435>0|n507437>0|n507439>0|n507441>0|
n507445>0|n507447>0|n507449>0|n507451>0|n507515>0|n507517>0|n507519>0|n507521>0|
n507525>0|n507527>0|n507529>0|n507531>0|n507535>0|n507537>0|n507539>0|n507541>0|
n507545>0|n507547>0|n507549>0|n507551>0|n507615>0|n507617>0|n507619>0|n507621>0|
n507625>0|n507627>0|n507629>0|n507631>0|n507635>0|n507637>0|n507639>0|n507641>0|
n507645>0|n507647>0|n507649>0|n507651>0)) emjbsty2=-8.

if (N507427<0) and (n507429<0 and n507431<0 and n507435<0 and n507437<0 and n507439<0 and n507441<0 and
n507445<0 and n507447<0 and n507449<0 and n507451<0 and n507515<0 and n507517<0 and n507519<0 and
n507521<0 and n507525<0 and n507527<0 and n507529<0 and n507531<0 and n507535<0 and n507537<0 and
n507539<0 and n507541<0 and n507545<0 and n507547<0 and n507549<0 and n507551<0 and n507615<0 and
n507617<0 and n507619<0 and n507621<0 and n507625<0 and n507627<0 and n507629<0 and n507631<0 and
n507635<0 and n507637<0 and n507639<0 and n507641<0 and n507645<0 and n507647<0 and n507649<0 and
n507651<0)) emjbsty2=-1.

if (emjbstm2=0) emjbsty2=0.

if serial='211011J' emjbsty2=90.

if serial="092310M' emjbsty2=80.

if serial='211006R' emjbsty2=86.

if serial='509257C' emjbsty2=76.

if serial='514085D' emjbsty2=75.

if serial="730038A"' emjbsty2=86.

if serial='950117Z' emjbsty2=78.
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if serial="Y01080Z' emjbsty2=81.

if serial="823506A"' emjbsty2=-1.

if serial="405049R' emjbsty2=N507447.

variable labels emjbsty2 "Main: Start year JOB TWO".
value labels emjbsty2

-8 'Don t Know'

-1 'Not Applicable'

0 'Doing same job'.

execute.

*N507429 - JOB TWO MONTH ended**

compute emjbedm?2=-1.

if (n507429>=0) emjbedm2=n507429.

if ((N507429<0) and (n507431>0|n507435>0|n507437>0|n507439>0|n507441>0|n507445>0|
n507447>0|n507449>0|n507451>0|n507515>0|n507517>0|n507519>0|n507521>0|n507525>0|
n507527>0|n507529>0|n507531>0|n507535>0|n507537>0|n507539>0|n507541>0|n507545>0|
n507547>0|n507549>0|n507551>0|n507615>0|n507617>0|n507619>0|n507621>0|n507625>0|
n507627>0|n507629>0|n507631>0|n507635>0|n507637>0|n507639>0|n507641>0|n507645>0|
n507647>0|n507649>0|n507651>0)) emjbedm2=-8.

if (emjbsty2=-1) emjbedm2=-1.

if (N507429<0 and emnojob=1) emjbedm2=-1.

if (N507429<0) and (n507431<0 and n507435<0 and n507437<0 and n507439<0 and n507441<0 and n507445<0 and
n507447<0 and n507449<0 and n507451<0 and n507515<0 and n507517<0 and n507519<0 and n507521<0 and
n507525<0 and n507527<0 and

n507529<0 and n507531<0 and n507535<0 and n507537<0 and n507539<0 and n507541<0 and n507545<0 and
n507547<0 and n507549<0 and n507551<0 and n507615<0 and

n507617<0 and n507619<0 and n507621<0 and n507625<0 and n507627<0 and n507629<0 and n507631<0 and
n507635<0 and n507637<0 and n507639<0 and n507641<0 and

n507645<0 and n507647<0 and n507649<0 and n507651<0)) emjbedm2=-1.

if (n507429=0 and n507431>0) emjbedm2=-8.

if (n507429<0 and emnojob=2 and n507431=0) emjbedm2=0.

if serial='483011E' emjbedm?2=0.

if serial='509208P' emjbedm?2=0.

if serial='405049R' emjbedm2=N507449.

variable labels emjbedm2 "Main: End month job two".
value labels emjbedm?2

-8 'don t know'

-1 'not applicable’

0 'Doing same job'.

execute.

**n507431 - END JOB TWO - YEAR**

compute emjbedy2=-1.

if (Nn507431>0) emjbedy2=n507431.

if (emjbedm2=-1 or emjbedm2=-4) emjbedy2=-1.

if (N507431<0) and (n507435>0|n507437>0|n507439>0|n507441>0|n507445>0|n507447>0|
n507449>0|n507451>0|n507515>0|n507517>0|n507519>0|n507521>0|n507525>0|n507527>0|
n507529>0|n507531>0|n507535>0|n507537>0|n507539>0|n507541>0|n507545>0|n507547>0|
n507549>0|n507551>0|n507615>0|n507617>0|n507619>0|n507621>0|n507625>0|n507627>0|
n507629>0|n507631>0|n507635>0|n507637>0|n507639>0|n507641>0|n507645>0|n507647>0|
n507649>0|n507651>0)) emjbedy2=-8.

if (n507431<0) and (n507435<0 and n507437<0 and n507439<0 and n507441<0 and n507445<0 and n507447<0 and
n507449<0 and n507451<0 and n507515<0 and n507517<0 and n507519<0 and n507521<0 and n507525<0 and
n507527<0 and n507529<0 and n507531<0 and n507535<0 and n507537<0 and n507539<0 and n507541<0 and
n507545<0 and n507547<0 and n507549<0 and n507551<0 and n507615<0 and n507617<0 and n507619<0 and
n507621<0 and n507625<0 and n507627<0 and n507629<0 and n507631<0 and n507635<0 and n507637<0 and
n507639<0 and n507641<0 and n507645<0 and n507647<0 and n507649<0 and n507651<0)) emjbedy2=-1.

if (emjbedm2=0) emjbedy2=0.

if serial="405049R' emjbedy2=N507451.

variable labels emjbedy2 "Main: End year job TWO".

value labels emjbedy2

-8 'don t know'

-1 'not applicable’

0 'doing same job'.

execute.

** n507433 - job 2 ft or pt**

19



compute emjbst2=-1.

if (N507433>0) emjbst2=n507433 .

if (N507433<0) and (emjbedy2=-1)) emjbst2=-1.

if (N507433<0) and (emjbstm2~=-1|emjbsty2~=-1|emjbedm2~=-1|emjbedy2~=-1)) emjbst2=-8.
if serial='405049R' emjbst2=2.

variable labels emjbst2 "Main: Job TWO - Full or Part time".
value labels emjbst2

-8 'Dont know'

-1 'Not applicable’

1 'Full-time'

2 'Part-time’.

execute.

**n507434 — job two employee status**

compute emjbem2=-1.

if (n507434>0) emjbem2=n507434.

if (N507434<0) and (emjbedy2=-1)) emjbem?2=-1.

if (N507434<0) and (emjbstm2~=-1|emjbsty2~=-1|emjbedm2~=-1|emjbedy2~=-1)) emjbem2=-8.
variable labels emjbem2 "Main: Job two - employee status".
value labels emjbem?2

-8 'Dont know'

-1 'Not applicable’

1 'Employee’

2 'Self-employed'

3 'Temping'.

execute.

**N507435 - START JOB THREE - MONTH**

compute emjbstm3=-1.

if (N507435>=0) emjbstm3=N507435.

if (emjbedy2=-1) emjbstm3=-1.

if (emjbedy2=-5 and emnojob=2) emjbstm3=-1.

if (N507435<0) and (n507437>0|n507439>0|n507441>0|n507445>0|n507447>0|n507449>0|
n507451>0|n507515>0|n507517>0|n507519>0|n507521>0|n507525>0|n507527>0|n507529>0|
n507531>0|n507535>0|n507537>0|n507539>0|n507541>0|n507545>0|n507547>0|n507549>0)|
n507551>0|n507615>0|n507617>0|n507619>0|n507621>0|n507625>0|n507627>0|n507629>0)|
n507631>0|n507635>0|n507637>0|n507639>0|n507641>0|n507645>0|n507647>0|n507649>0|

n507651>0)) emjbstm3=-8.

if ((N507435<0) and (n507437<0 and n507439<0 and n507441<0 and n507445<0 and n507447<0 and n507449<0 and
n507451<0 and n507515<0 and n507517<0 and n507519<0 and n507521<0 and n507525<0 and n507527<0 and
n507529<0 and n507531<0 and n507535<0 and n507537<0 and n507539<0 and n507541<0 and n507545<0 and
n507547<0 and n507549<0 and n507551<0 and n507615<0 and n507617<0 and n507619<0 and n507621<0 and
n507625<0 and n507627<0 and n507629<0 and n507631<0 and n507635<0 and n507637<0 and n507639<0 and
n507641<0 and n507645<0 and n507647<0 and n507649<0 and n507651<0)) emjbstm3=-1.

if (n507435=0 and n507437>0) emjbstm3=-8.

if serial='405049R' emjbstm3=N507515.

if serial="048001X' emjbstm3=6.

if serial="092172B' emjbstm3=12.

if serial='509208P' emjbstm3=-1.

if serial="X32075Y"' emjbstm3=-8.

if serial="X84006W' emjbstm3=n507415.

if serial="282052Z' emjbstm3=-1.

variable labels emjbstm3 "Main: Start month job THREE".

value labels emjbstm3

-8 'Don t know'

-1 'not applicable’

0 'doing same job'.

execute.

**n507437 - start year job THREE**

compute emjbsty3=-1.

if (N507437>=0) emjbsty3=n507437.

if (emjbstm3=-1) emjbsty3=-1.

if ((n507437<0) and (n507439>0|n507441>0|n507445>0|n507447>0|n507449>0|n507451>0|
n507515>0|n507517>0|n507519>0|n507521>0|n507525>0|n507527>0|n507529>0|n507531>0|
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n507535>0|n507537>0|n507539>0|n507541>0|n507545>0|n507547>0|n507549>0|n507551>0|
n507615>0|n507617>0|n507619>0|n507621>0|n507625>0|n507627>0|n507629>0|n507631>0|
n507635>0|n507637>0|n507639>0|n507641>0|n507645>0|n507647>0|n507649>0|n507651>0)) emjbsty3=-8.

if (N507437<0) and (n507439<0 and n507441<0 and n507445<0 and n507447<0 and n507449<0 and n507451<0 and
n507515<0 and n507517<0 and n507519<0 and n507521<0 and n507525<0 and n507527<0 and n507529<0 and
n507531<0 and n507535<0 and n507537<0 and n507539<0 and n507541<0 and n507545<0 and n507547<0 and
n507549<0 and n507551<0 and n507615<0 and n507617<0 and n507619<0 and n507621<0 and n507625<0 and
n507627<0 and n507629<0 and n507631<0 and n507635<0 and n507637<0 and n507639<0 and n507641<0 and
n507645<0 and n507647<0 and n507649<0 and n507651<0)) emjbsty3=-1.

if serial="405049R' emjbsty3=N507517.

if serial='048001X"' emjbsty3=81.

if serial='092172B' emjbsty3=87.

if serial="X32075Y" emjbsty3=76.

if serial='986354S' emjbsty3=81.

if serial="X84006W' emjbsty3=n507417.

variable labels emjbsty3 "Main: Start year job THREE".

value labels emjbsty3

-8 'Don t know'

-1 'not applicable’

0 'doing same job'".

execute.

**n507439 - end month job three**

compute emjbedm3=-1.

if (n507439>=0) emjbedm3=n507439.

if (emjbsty3=-1 or emjbsty3=-3) emjbedm3=-1.

if ((N507439<0) and (n507441>0|n507445>0|n507447>0|n507449>0|n507451>0|n507515>0|
n507517>0|n507519>0|n507521>0|n507525>0|n507527>0|n507529>0|n507531>0|n507535>0|
n507537>0|n507539>0|n507541>0|n507545>0|n507547>0|n507549>0|n507551>0|n507615>0|
n507617>0|n507619>0|n507621>0|n507625>0|n507627>0|n507629>0|n507631>0|n507635>0)|
n507637>0|n507639>0|n507641>0|n507645>0|n507647>0|n507649>0|n507651>0)) emjbedm3=-8.

if (n507439<0) and (n507441<0 and n507445<0 and n507447<0 and n507449<0 and n507451<0 and n507515<0 and
n507517<0 and n507519<0 and n507521<0 and n507525<0 and n507527<0 and n507529<0 and n507531<0 and
n507535<0 and n507537<0 and n507539<0 and n507541<0 and n507545<0 and n507547<0 and n507549<0 and
n507551<0 and n507615<0 and n507617<0 and n507619<0 and n507621<0 and n507625<0 and n507627<0 and
n507629<0 and n507631<0 and n507635<0 and n507637<0 and n507639<0 and n507641<0 and n507645<0 and
n507647<0 and n507649<0 and n507651<0))

emjbedm3=-1.

if (N507439=0 and n507441>0) emjbedm3=-8.

if (N507439<0 and n507441=0) and (n507445<0 and n507447<0 and n507449<0 and n507451<0 and n507515<0 and
n507517<0 and n507519<0 and n507521<0 and n507525<0 and n507527<0 and n507529<0 and n507531<0 and
n507535<0 and n507537<0 and n507539<0 and n507541<0 and n507545<0 and n507547<0 and n507549<0 and
n507551<0 and n507615<0 and n507617<0 and n507619<0 and n507621<0 and n507625<0 and n507627<0 and
n507629<0 and n507631<0 and n507635<0 and n507637<0 and n507639<0 and n507641<0 and n507645<0 and
n507647<0 and n507649<0 and n507651<0)) emjbedm3=0.

if serial="405049R' emjbedm3=N507519.

if serial="048001X' emjbedm3=0.

if serial='092172B' emjbedm3=0.

if serial="X32075Y" emjbedm3=0.

if serial="381162K"' emjbedm3=0.

if serial='720012Z' emjbedm3=0.

if serial="X32075Y"' emjbedm3=0.

if serial="X84006W' emjbedm3=n507419.

variable labels emjbedm3 "Main: End month job THREE".

value labels emjbedm3

-8 'Don t know'

-1 'not applicable’

0 'doing same job'.

execute.

**n507441 - end year job three**

compute emjbedy3=-1.

if (N507441>0) emjbedy3=n507441.

if (emjbedm3=-1) emjbedy3=-1.

if (N507441<0) and (n507445>0|n507447>0|n507449>0|n507451>0|n507515>0|
n507517>0|n507519>0|n507521>0|n507525>0|n507527>0|n507529>0|n507531>0|
n507535>0|n507537>0|n507539>0|n507541>0|n507545>0|n507547>0|n507549>0|
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n507551>0|n507615>0|n507617>0|n507619>0|n507621>0|n507625>0|n507627>0|
n507629>0|n507631>0|n507635>0|n507637>0|n507639>0|n507641>0|n507645>0|
n507647>0[n507649>0|n507651>0)) emjbedy3=-8.

if (n507441<0) and (n507445<0 and n507447<0 and n507449<0 and n507451<0 and n507515<0 and n507517<0 and
n507519<0 and n507521<0 and n507525<0 and n507527<0 and n507529<0 and n507531<0 and n507535<0 and
n507537<0 and n507539<0 and n507541<0 and n507545<0 and n507547<0 and n507549<0 and n507551<0 and
n507615<0 and n507617<0 and n507619<0 and n507621<0 and n507625<0 and n507627<0 and n507629<0 and
n507631<0 and n507635<0 and n507637<0 and n507639<0 and n507641<0 and n507645<0 and n507647<0 and
n507649<0 and n507651<0)) emjbedy3=-1.

if (emjbedm3=0) emjbedy3=0.

if serial="405049R' emjbedy3=N507521.

if serial='482050L"' emjbedy3=82.

if serial="X84006W' emjbedy3=n507421.

variable labels emjbedy3 "Main: End year job THREE".

value labels emjbedy3

-8 'Don t know'

-1 'not applicable’

0 'doing same job'.

execute.

**n507443 — job three ft or pt status**

compute emjbst3=-1.

if (n507443>0) emjbst3=n507443 .

if (N507443<0) and (emjbedy3=-1)) emjbst3=-1.

if (N507443<0) and (emjbstm3~=-1|emjbsty3~=-1|emjbedm3~=-1|emjbedy3~=-1)) emjbst3=-8.
if serial='405049R' emjbst3=1.

if serial='509208P"' emjbst3=-1.

variable labels emjbst3 "Main: Job three - Full or Part time".
value labels emjbst3

-8 'Dont know'

-1 'Not applicable’

1 'Full-time'

2 'Part-time'.

execute.

** n507444 — job three employee status**

compute emjbem3=-1.

if (n507444>0) emjbem3=n507444.

if (N507444<0) and (emjbedy3=-1)) emjbem3=-1.

if ((n507444<0) and (emjbstm3~=-1|emjbsty3~=-1|emjbedm3~=-1|emjbedy3~=-1)) emjbem3=-8.
if serial="509208P' emjbem3=-1.

variable labels emjbem3 "Main: Job three - employee status".
value labels emjbem3

-8 'Dont know'

-1 'Not applicable’

1 'Employee’

2 'Self-employed'

3 'Temping'.

execute.

**n507445 - start month job four**

compute emjbstm4=-1.

if (507445>=0) emjbstm4=n507445.

if (emjbedy3=-1) emjbstm4=-1.

if (n507445<0) and (n507447>0{n507449>0|n507451>0|n507515>0|n507517>0[n507519>0|
n507521>0|n507525>0|n507527>0|n507529>0|n507531>0|n507535>0|n507537>0|n507539>0)|
n507541>0|n507545>0|n507547>0|n507549>0|n507551>0|n507615>0|n507617>0|n507619>0|
n507621>0|n507625>0|n507627>0|n507629>0|n507631>0|n507635>0|n507637>0|n507639>0|
n507641>0|n507645>0|n507647>0|n507649>0|n507651>0)) emjbstm4=-8.

if (N507445<0) and (n507447<0 and n507449<0 and n507451<0 and n507515<0 and n507517<0 and n507519<0 and
n507521<0 and n507525<0 and n507527<0 and

n507529<0 and n507531<0 and n507535<0 and n507537<0 and n507539<0 and n507541<0 and n507545<0 and
n507547<0 and n507549<0 and n507551<0 and n507615<0 and

n507617<0 and n507619<0 and n507621<0 and n507625<0 and n507627<0 and n507629<0 and n507631<0 and
n507635<0 and n507637<0 and n507639<0 and n507641<0 and

n507645<0 and n507647<0 and n507649<0 and n507651<0)) emjbstm4=-1.
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if (n507445=0 and n507447>0) emjbstm4=-8.
if serial='405049R' emjbstm4=N507525.

if serial="482050L"' emjbstm4=4.

if serial="048001X"' emjbstm4=-1.

if serial='092008N' emjbstm4=9.

if serial='093204T' emjbstm4=3.

if serial='094018B' emjbstm4=10.

if serial='511213U' emjbstm4=3.

if serial='"822016B' emjbstm4=6.

if serial="X32075Y"' emjbstm4=-1.

if serial='510006J' emjbstm4=10.

if serial='"822037L' emjbstm4=-1.

variable labels emjbstm4 "Main: Start month job FOUR".
value labels emjbstm4

-8 'Don t know'

-1 'not applicable’

0 'doing same job'".

execute.

**n507447 - job start year job four **

compute emjbsty4=-1.

if (N507447>=0) emjbsty4=n507447.

if (emjbstm4=-1) emjbsty4=-1.

if (N507447<0) and (n507449>0|n507451>0|n507515>0|n507517>0|n507519>0|n507521>0|
n507525>0|n507527>0|n507529>0|n507531>0|n507535>0|n507537>0|n507539>0|n507541>0|
n507545>0|n507547>0|n507549>0|n507551>0|n507615>0|n507617>0|n507619>0|n507621>0|
n507625>0|n507627>0|n507629>0|n507631>0|n507635>0|n507637>0|n507639>0|n507641>0|
n507645>0[n507647>0|n507649>0|n507651>0)) emjbsty4=-8.

if (n507447<0) and (n507449<0 and n507451<0 and n507515<0 and n507517<0 and n507519<0 and n507521<0 and
n507525<0 and n507527<0 and n507529<0 and n507531<0 and n507535<0 and n507537<0 and n507539<0 and
n507541<0 and n507545<0 and n507547<0 and n507549<0 and n507551<0 and n507615<0 and n507617<0 and
n507619<0 and n507621<0 and n507625<0 and n507627<0 and n507629<0 and n507631<0 and n507635<0 and
n507637<0 and n507639<0 and n507641<0 and n507645<0 and n507647<0 and n507649<0 and n507651<0))
emjbsty4=-1.

if serial="405049R' emjbsty4=N507527.

if serial="482050L"' emjbsty4=82.

if serial="048001X' emjbsty4=-1.

if serial="092008N' emjbsty4=84.

if serial='093204T"' emjbsty4=89.

if serial='094018B' emjbsty4=89.

if serial='511213U' emjbsty4=85.

if serial="822016B' emjbsty4=86.

if serial='510006J' emjbsty4=91.

if serial="X86008M' emjbsty4=89.

variable labels emjbsty4 "Main: Start year job FOUR".

value labels emjbsty4

-8 'Don t know'

-1 'not applicable’

0 'doing same job'".

execute.

**n507449 - month job FOUR ended**

compute emjbedm4=-1.

if (n507449>=0) emjbedm4=n507449.

if (emjbsty4=-1) emjbedm4=-1.

if (n507449<0) and (n507451>0|n507515>0|n507517>0|n507519>0|n507521>0|n507525>0)|
n507527>0|n507529>0|n507531>0|n507535>0|n507537>0|n507539>0|n507541>0|n507545>0|
n507547>0|n507549>0|n507551>0|n507615>0|n507617>0|n507619>0|n507621>0|n507625>0)|
n507627>0|n507629>0|n507631>0|n507635>0|n507637>0|n507639>0|n507641>0|n507645>0|
n507647>0[n507649>0|n507651>0)) emjbedm4=-8.

if (N507449<0) and (n507451<0 and n507515<0 and n507517<0 and n507519<0 and n507521<0 and n507525<0 and
n507527<0 and n507529<0 and n507531<0 and n507535<0 and n507537<0 and n507539<0 and n507541<0 and
n507545<0 and n507547<0 and n507549<0 and n507551<0 and n507615<0 and n507617<0 and n507619<0 and
n507621<0 and n507625<0 and n507627<0 and n507629<0 and n507631<0 and n507635<0 and n507637<0 and
n507639<0 and n507641<0 and n507645<0 and n507647<0 and n507649<0 and n507651<0)) emjbedm4=-1.

if (n507449=0 and n507451>0) emjbedm4=-8.

if serial="385008V' emjbedm4=-1.

if serial='405049R' emjbedm4=N507529.
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if serial='482050L"' emjbedm4=10.

if serial="822016B' emjbedm4=1.

If (serial="088018S'|serial="186122J'|serial="215006N'|serial="286017U'|serial="289094E'|
serial='465019V'|serial='482053S'[serial="504002Q'|serial="515040L'|serial="550133S’'|
serial="640037X’|serial="385091K'|serial="740038H'|serial="880051H'|serial="983026H'|
serial="083030D'|serial="282108A'|serial="380044X'|serial='514002W'|serial="950197A'|
serial="X74008U") emjbedm4=0.

variable labels emjbedm4 "Main: End month job FOUR".

value labels emjbedm4

-8 'Don t know'

-1 'not applicable’

0 'doing same job'.

execute.

** n507451 - year job four ended**

compute emjbedy4=-1.

if (N507451>0) emjbedy4=n507451.

if (emjbedm4=-1) emjbedy4=-1.

if (N507451<0) and (n507515>0|n507517>0|n507519>0|n507521>0|n507525>0|n507527>0|
n507529>0|n507531>0|n507535>0|n507537>0|n507539>0|n507541>0|n507545>0|
n507547>0|n507549>0|n507551>0|n507615>0|n507617>0|n507619>0|n507621>0|n507625>0|
n507627>0|n507629>0|n507631>0|n507635>0|n507637>0|n507639>0|n507641>0|n507645>0|
n507647>0|n507649>0|n507651>0)) emjbedy4=-8.

if (N507451<0) and (n507515<0 and n507517<0 and n507519<0 and n507521<0 and n507525<0 and n507527<0 and
n507529<0 and n507531<0 and n507535<0 and n507537<0 and n507539<0 and n507541<0 and n507545<0 and
n507547<0 and n507549<0 and n507551<0 and n507615<0 and n507617<0 and n507619<0 and n507621<0 and
n507625<0 and n507627<0 and n507629<0 and n507631<0 and n507635<0 and n507637<0 and n507639<0 and
n507641<0 and n507645<0 and n507647<0 and n507649<0 and n507651<0)) emjbedy4=-1.

if (emjbedm4=0) emjbedy4=0.

if serial="405049R' emjbedy4=N507531.

if serial="482050L"' emjbedy4=85.

if serial='"822016B' emjbedy4=88.

variable labels emjbedy4 "Main: End year job FOUR".

value labels emjbedy4

-8 'Don t know'

-1 'not applicable’

0 'doing same job'".

execute.

** N507453 — job four - ft or pt**

compute emjbst4=-1.

if (N507453>0) emjbst4=N507453 .

if ((N507453<0) and (emjbedy4=-1)) emjbst4=-1.

if (N507453<0) and (emjbstm4~=-1|emjbsty4~=-1|emjbedm4~=-1|emjbedy4~=-1)) emjbst4=-8.
if serial="405049R' emjbst4=1.

if serial='048001X"' emjbst4=-1.

if serial="822016B' emjbst4=1.

variable labels emjbst4 "Main: Job four - Full or Part time".
value labels emjbst4

-8 'Dont know'

-1 'Not applicable’

1 'Full-time'

2 'Part-time'.

execute.

**n507454 job four employee status**

compute emjbem4=-1.

if (n507454>0) emjbem4=n507454.

if (N507454<0) and (emjbedy4=-1)) emjbem4=-1.

if (n507454<0) and (emjbstm4~=-1|emjbsty4~=-1|emjbedm4~=-1|emjbedy4~=-1)) emjbem4=-8.
if serial="048001X"' emjbem4=-1.

if serial='"822016B' emjbem4=1.

variable labels emjbem4 "Main: Job four - employee status".

value labels emjbem4

-8 'Dont know'

-1 'Not applicable’
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1 'Employee’

2 'Self-employed'
3 'Temping'.
execute.

**n507515 - start month job FIVE**

compute emjbstm5=-1.

if (n507515>=0) emjbstm5=n507515.

if (emjbedy4=-1) emjbstm5=-1.

if (N507515<0) and (N507517>0|n507519>0|n507521>0|n507525>0|n507527>0|n507529>0|
n507531>0|n507535>0|n507537>0|n507539>0|n507541>0|n507545>0|n507547>0|n507549>0|
n507551>0|n507615>0|n507617>0|n507619>0|n507621>0|n507625>0|n507627>0|n507629>0|
n507631>0|n507635>0|n507637>0|n507639>0|n507641>0|n507645>0|n507647>0|n507649>0|

n507651>0)) emjbstm5=-8.

if (N507515<0) and (n507517<0 and n507519<0 and n507521<0 and n507525<0 and n507527<0 and n507529<0 and
n507531<0 and n507535<0 and n507537<0 and n507539<0 and n507541<0 and n507545<0 and n507547<0 and
n507549<0 and n507551<0 and n507615<0 and n507617<0 and n507619<0 and n507621<0 and n507625<0 and
n507627<0 and n507629<0 and n507631<0 and n507635<0 and n507637<0 and n507639<0 and n507641<0 and
n507645<0 and n507647<0 and n507649<0 and n507651<0)) emjbstm5=-1.

if (n507515=0 and n507517>0) emjbstm5=-8.

if serial="405049R’' emjbstm5=N507535.

if serial='482050L"' emjbstm5=11.

if serial='"822016B' emjbstm5=6.

if serial='092323W' emjbstm5=8.

if serial="110263Z' emjbstm5=7.

if serial='529024R' emjbstm5=-8.

if serial='550133S' emjbstm5=-1.

if serial="X66002L"' emjbstm5=-1.

variable labels emjbstm5 "Main: Start month job FIVE".

value labels emjbstm5

-8 'Don t know'

-1 'not applicable’

0 'doing same job'.

execute.

**n507517 - start year job FIVE**

compute emjbsty5=-1.

if (n507517>=0) emjbsty5=n507517.

if (emjbstm5=-1) emjbsty5=-1.

if (N507517<0) and (n507519>0|n507521>0|n507525>0|n507527>0|n507529>0|n507531>0|
n507535>0|n507537>0|n507539>0|n507541>0|n507545>0|n507547>0|n507549>0|n507551>0|
n507615>0|n507617>0|n507619>0|n507621>0|n507625>0|n507627>0|n507629>0|n507631>0|
n507635>0|n507637>0|n507639>0|n507641>0|n507645>0|n507647>0|n507649>0|n507651>0)) emjbsty5=-8.

if (N507517<0) and (n507519<0 and n507521<0 and n507525<0 and n507527<0 and n507529<0 and n507531<0 and
n507535<0 and n507537<0 and n507539<0 and n507541<0 and n507545<0 and n507547<0 and n507549<0 and
n507551<0 and n507615<0 and

n507617<0 and n507619<0 and n507621<0 and n507625<0 and n507627<0 and n507629<0 and n507631<0 and
n507635<0 and n507637<0 and n507639<0 and n507641<0 and

n507645<0 and n507647<0 and n507649<0 and n507651<0)) emjbsty5=-1.

if serial='405049R’' emjbsty5=N507537.

if serial="482050L"' emjbsty5=85.

if serial="822016B' emjbsty5=88.

if serial="092323W' emjbsty5=83.

if serial='"110263Z' emjbsty5=84.

if serial="529024R’' emjbsty5=89.

if serial="308017L' emjbsty5=84.

if serial='527052L"' emjbsty5=89.

variable labels emjbsty5 "Main: Start year job FIVE".

value labels emjbsty5

-8 'Don t know'

-1 'not applicable'

0 'doing same job'.

execute.

**N507519 - END MONTH JOB FIVE**

compute emjbedm5=-1.
if (N507519>=0) emjbedm5=N507519.
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if (emjbsty5=-1) emjbedm5=-1.

if (N507519<0) and (n507521>0|n507525>0|n507527>0|n507529>0|n507531>0|n507535>0|
n507537>0|n507539>0|n507541>0|n507545>0|n507547>0|n507549>0|n507551>0|n507615>0|
n507617>0|n507619>0|n507621>0|n507625>0|n507627>0|n507629>0|n507631>0|n507635>0|
n507637>0|n507639>0|n507641>0|n507645>0|n507647>0|n507649>0|n507651>0)) emjbedm5=-8.

if (N507519<0) and (n507521<0 and n507525<0 and n507527<0 and n507529<0 and n507531<0 and n507535<0 and
n507537<0 and n507539<0 and n507541<0 and n507545<0 and n507547<0 and n507549<0 and n507551<0 and
n507615<0 and n507617<0 and n507619<0 and n507621<0 and n507625<0 and n507627<0 and n507629<0 and
n507631<0 and n507635<0 and n507637<0 and n507639<0 and n507641<0 and n507645<0 and n507647<0 and
n507649<0 and n507651<0)) emjbedm5=-1.

if (n507519=0 and n507521>0) emjbedm5=-8.

if serial='405049R' emjbedm5=N507539.

if (serial="482050L"|serial='"822016B'|serial="280103D'|serial="282055F'|serial="308010V'|
serial="381047K'|serial="529024R'|serial="782061P'|serial="845029R'|serial="982092R’|

serial="X80183Y") emjbedm5=0.

variable labels emjbedm5 "Main: End month job FIVE".

value labels emjbedm5

-8 'Don t know'

-1 'not applicable’

0 'doing same job'".

execute.

**N507521 - END MONTH JOB FIVE**

compute emjbedy5=-1.

if (N507521>=0) emjbedy5=N507521.

if (emjbedm5=-1) emjbedy5=-1.

if (N507521<0) and (n507525>0|n507527>0|n507529>0|n507531>0|n507535>0|n507537>0|
n507539>0|n507541>0|n507545>0|n507547>0|n507549>0|n507551>0|n507615>0|n507617>0|
n507619>0|n507621>0|n507625>0|n507627>0|n507629>0|n507631>0|n507635>0|n507637>0|
n507639>0|n507641>0|n507645>0|n507647>0|n507649>0|n507651>0)) emjbedy5=-8.

if (N507521<0) and (n507525<0 and n507527<0 and n507529<0 and n507531<0 and n507535<0 and n507537<0 and
n507539<0 and n507541<0 and n507545<0 and n507547<0 and n507549<0 and n507551<0 and n507615<0 and
n507617<0 and n507619<0 and n507621<0 and n507625<0 and n507627<0 and n507629<0 and n507631<0 and
n507635<0 and n507637<0 and n507639<0 and n507641<0 and n507645<0 and n507647<0 and n507649<0 and
n507651<0)) emjbedy5=-1.

if (emjbedm5=0) emjbedy5=0.

if serial="405049R' emjbedy5=N507541.

variable labels emjbedy5 "Main: End year job FIVE".

value labels emjbedy5

-8 'Don t know'

-1 'not applicable’

0 'doing same job'".

execute.

**n507523 — job five ft or pt**

compute emjbst5=-1.

if (Nn507523>0) emjbst5=n507523.

if (n507523<0) and (emjbedy5=-1)) emjbst5=-1.

if (N507523<0) and (emjbstm5~=-1|emjbsty5~=-1|emjbedm5~=-1|emjbedy5~=-1)) emjbst5=-8.
if serial='405049R' emjbst5=1.

if serial="048001X' emjbst5=-1.

if serial="482050L" emjbst5=1.

variable labels emjbst5 "Main: Job five - Full or Part time".
value labels emjbst5

-8 'Dont know'

-1 'Not applicable’

1 'Full-time'

2 'Part-time'.

execute.

***N507524 — job five employee status**

compute emjbem5=-1.

if (n507524>0) emjbem5=n507524.

if (N507524<0) and (emjbedy5=-1)) emjbem5=-1.

if (n507524<0) and (emjbstm5~=-1|emjbsty5~=-1|emjbedm5~=-1|emjbedy5~=-1)) emjbem5=-8.
if serial="048001X"' emjbem5=-1.

if serial='482050L' emjbem5=2.
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variable labels emjbem5 "Main: Job five - employee status".
value labels emjbem5

-8 'Dont know'

-1 'Not applicable’

1 'Employee’

2 'Self-employed'

3 'Temping'.

execute.

**n507525 - job start month six **

compute emjbstm6=-1.

if (n507525>=0) emjbstm6=n507525.

if (emjbedy5=-1) emjbstm6=-1.

if (N507525<0) and (n507527>0|n507529>0|n507531>0|n507535>0|n507537>0|n507539>0)|
n507541>0|n507545>0|n507547>0|n507549>0|n507551>0|n507615>0|n507617>0|n507619>0|
n507621>0|n507625>0|n507627>0|n507629>0|n507631>0|n507635>0|n507637>0|n507639>0)|
n507641>0|n507645>0|n507647>0|n507649>0|n507651>0)) emjbstm6=-8.

if (N507525<0) and (n507527<0 and n507529<0 and n507531<0 and n507535<0 and n507537<0 and n507539<0 and
n507541<0 and n507545<0 and n507547<0 and n507549<0 and n507551<0 and n507615<0 and n507617<0 and
n507619<0 and n507621<0 and n507625<0 and n507627<0 and n507629<0 and n507631<0 and n507635<0 and
n507637<0 and n507639<0 and n507641<0 and n507645<0 and n507647<0 and n507649<0 and n507651<0))
emjbstm6=-1.

if (emjbstm6=0 and n507527>0) emjbstm6=-8.

if serial="405049R' emjbstm6=N507545.

if serial='"822016B' emjbstm6=-1.

if serial="X32009K"' emjbstm6=-8.

variable labels emjbstm6 "Main: start month job SIX".

value labels emjbstm6

-8 'Don t know'

-1 'not applicable’

0 'doing same job'.

execute.

**N507527 - job start year six**

compute emjbsty6=-1.

if (N507527>=0) emjbsty6=N507527.

if (emjbstm6=-1) emjbsty6=-1.

if (N507527<0) and (n507529>0|n507531>0|n507535>0|n507537>0|n507539>0|n507541>0|
n507545>0|n507547>0|n507549>0|n507551>0|n507615>0|n507617>0|n507619>0|n507621>0|
n507625>0|n507627>0|n507629>0|n507631>0|n507635>0|n507637>0|n507639>0|n507641>0|
n507645>0|n507647>0|n507649>0|n507651>0)) emjbsty6=-8.

if (N507527<0) and (n507529<0 and n507531<0 and n507535<0 and n507537<0 and n507539<0 and n507541<0 and
n507545<0 and n507547<0 and n507549<0 and n507551<0 and n507615<0 and n507617<0 and n507619<0 and
n507621<0 and n507625<0 and n507627<0 and n507629<0 and n507631<0 and n507635<0 and n507637<0 and
n507639<0 and n507641<0 and n507645<0 and n507647<0 and n507649<0 and n507651<0)) emjbsty6=-1.

if serial="405049R' emjbsty6=N507547.

if serial="X32009K' emjbsty6=86.

variable labels emjbsty6 "Main: start year job SIX".

value labels emjbsty6

-8 'Don t know'

-1 'not applicable’

0 'doing same job'.

execute.

**n507529 - end month job six**

compute emjbedm6=-1.

if (n507529>=0) emjbedm6=n507529.

if (emjbsty6=-1) emjbedm6=-1.

if (n507529<0) and (n507531>0|n507535>0|n507537>0|n507539>0|n507541>0|n507545>0)|
n507547>0|n507549>0|n507551>0|n507615>0|n507617>0|n507619>0|n507621>0|n507625>0|
n507627>0|n507629>0|n507631>0|n507635>0|n507637>0|n507639>0|n507641>0|n507645>0|
n507647>0|n507649>0|n507651>0)) emjbedm6=-8.

if (N507529<0) and (n507531<0 and n507535<0 and n507537<0 and n507539<0 and n507541<0 and n507545<0 and
n507547<0 and n507549<0 and n507551<0 and n507615<0 and n507617<0 and n507619<0 and n507621<0 and
n507625<0 and n507627<0 and n507629<0 and n507631<0 and n507635<0 and n507637<0 and n507639<0 and
n507641<0 and n507645<0 and n507647<0 and n507649<0 and n507651<0)) emjbedm6=-1.

if (n507529=0 and n507531>0) emjbedm6=-8.
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if (N507529<=0 and n507531=0) and (n507535<0 and n507537<0 and n507539<0 and n507541<0 and n507545<0 and
n507547<0 and n507549<0 and n507551<0 and n507615<0 and n507617<0 and n507619<0 and n507621<0 and
n507625<0 and n507627<0 and n507629<0 and n507631<0 and n507635<0 and n507637<0 and n507639<0 and
n507641<0 and n507645<0 and n507647<0 and n507649<0 and n507651<0)) emjbedm6=0.

if serial='405049R' emjbedm6=N507549.

if serial='048001X' emjbedm6=-1.

if serial='"822016B' emjbedm6=-1.

if serial='514155Y"' emjbedm6=0.

variable labels emjbedm6 "Main: end month job SIX".

value labels emjbedm6

-8 'Don t know'

-1 'not applicable’

0 'doing same job'".

execute.

**n507531 - end year job six**

compute emjbedy6=-1.

if (n507531>0) emjbedy6=n507531.

if (emjbedm6=-1) emjbedy6=-1.

if (N507531<0) and (n507535>0|n507537>0|n507539>0|n507541>0|n507545>0|
n507547>0|n507549>0|n507551>0|n507615>0|n507617>0|n507619>0|n507621>0|n507625>0|
n507627>0|n507629>0|n507631>0|n507635>0|n507637>0|n507639>0|n507641>0|n507645>0|
n507647>0|n507649>0|n507651>0)) emjbedy6=-8.

if (N507531<0) and (N507535<0 and n507537<0 and n507539<0 and n507541<0 and n507545<0 and n507547<0 and
n507549<0 and n507551<0 and n507615<0 and

n507617<0 and n507619<0 and n507621<0 and n507625<0 and n507627<0 and n507629<0 and n507631<0 and
n507635<0 and n507637<0 and n507639<0 and n507641<0 and

n507645<0 and n507647<0 and n507649<0 and n507651<0)) emjbedy6=-1.

if (emjbedm6=0) emjbedy6=0.

if serial="405049R’' emjbedy6=N507551.

if serial='048001X' emjbedy6=-1.

variable labels emjbedy6 "Main: end year job SIX".

value labels emjbedy6

-8 'Don t know'

-1 'not applicable’

0 'doing same job'.

execute.

**n507533 —job six ft or pt **

compute emjbst6=-1.

if (n507533>0) emjbst6=n507533.

if (N507533<0) and (emjbedy6=-1)) emjbst6=-1.

if (N507533<0) and (emjbedy6~=-1|emjbedy6~=-1|emjbedy6~=-1|emjbedy6~=-1)) emjbst6=-8.
if serial='405049R’' emjbst6=1.

if serial="048001X' emjbst6=-1.

variable labels emjbst6 "Main: Job six - Full or Part time".
value labels emjbst6

-8 'Dont know'

-1 'Not applicable’

1 'Full-time'

2 'Part-time'.

execute.

** n507534 — job six employee status**

compute emjbem6=-1.

if (n507534>0) emjbem6=n507534.

if (N507534<0) and (emjbedy6=-1)) emjbem6=-1.

if (n507534<0) and (emjbstm6~=-1|emjbsty6~=-1|emjbedm6~=-1|emjbedy6~=-1)) emjbem6=-8.
if serial="048001X"' emjbem6=-1.

variable labels emjbem6 "Main: Job six - employee status".
value labels emjbem6

-8 'Dont know'

-1 'Not applicable’

1 'Employee’

2 'Self-employed'

3 'Temping'.

execute.
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**n507535 - start month job seven**

compute emjbstm7=-1.

if (n507535>=0) emjbstm7=n507535.

if (emjbedy6=-1) emjbstm7=-1.

if ((N507535<0) and (n507537>0|n507539>0|n507541>0|n507545>0|n507547>0|n507549>0|
n507551>0|n507615>0|n507617>0|n507619>0|n507621>0|n507625>0|n507627>0|n507629>0|
n507631>0|n507635>0|n507637>0|n507639>0|n507641>0|n507645>0|n507647>0|n507649>0|

n507651>0)) emjbstm7=-8.

if (N507535<0) and (N507537<0 and n507539<0 and n507541<0 and n507545<0 and n507547<0 and n507549<0 and
n507551<0 and n507615<0 and n507617<0 and n507619<0 and n507621<0 and n507625<0 and n507627<0 and
n507629<0 and n507631<0 and n507635<0 and n507637<0 and n507639<0 and n507641<0 and n507645<0 and
n507647<0 and n507649<0 and n507651<0)) emjbstm7=-1.

if (n507535=0 and n507537>0) emjbstm7=-8.

if serial='405049R' emjbstm7=N507615.

variable labels emjbstm7 "Main: start month job SEVEN".

value labels emjbstm7

-8 'Don t know'

-1 'not applicable’

0 'doing same job'".

execute.

**n507537 - start year job seven**

compute emjbsty7=-1.

if (n507537>=0) emjbsty7=n507537.

if (emjbstm7=-1) emjbsty7=-1.

if (N507537<0) and (n507539>0|n507541>0|n507545>0|n507547>0|n507549>0|n507551>0)|
n507615>0|n507617>0|n507619>0|n507621>0|n507625>0|n507627>0|n507629>0|n507631>0|
n507635>0|n507637>0|n507639>0|n507641>0|n507645>0|n507647>0|n507649>0|n507651>0)) emjbsty7=-8.

if (N507537<0) and (N507539<0 and n507541<0 and n507545<0 and n507547<0 and n507549<0 and n507551<0 and
n507615<0 and n507617<0 and n507619<0 and n507621<0 and n507625<0 and n507627<0 and n507629<0 and
n507631<0 and n507635<0 and n507637<0 and n507639<0 and n507641<0 and n507645<0 and n507647<0 and
n507649<0 and n507651<0)) emjbsty7=-1.

if serial="405049R' emjbsty7=N507617.

variable labels emjbsty7 "Main: start year job SEVEN".

value labels emjbsty7

-8 'Don t know'

-1 'not applicable’

0 'doing same job'.

execute.

**n507539 - start year job seven**

compute emjbedm7=-1.

if (Nn507539>=0) emjbedm7=n507539.

if (emjbsty7=-1) emjbedm7=-1.

if (N507539<0) and (n507541>0|n507545>0|n507547>0|n507549>0|n507551>0|n507615>0|
n507617>0|n507619>0|n507621>0|n507625>0|n507627>0|n507629>0|n507631>0|n507635>0|
n507637>0|n507639>0|n507641>0|n507645>0|n507647>0|n507649>0|n507651>0)) emjbedm7=-8.

if (N507539<0) and (N507541<0 and n507545<0 and n507547<0 and n507549<0 and n507551<0 and n507615<0 and
n507617<0 and n507619<0 and n507621<0 and n507625<0 and n507627<0 and n507629<0 and n507631<0 and
n507635<0 and n507637<0 and n507639<0 and n507641<0 and n507645<0 and n507647<0 and n507649<0 and
n507651<0)) emjbedm7=-1.

if (n507539=0 and n507541>0) emjbedm7=-8.

if (n507539<=0 and n507541=0) and (n507545<0 and n507547<0 and n507549<0 and n507551<0 and n507615<0 and
n507617<0 and n507619<0 and n507621<0 and n507625<0 and n507627<0 and n507629<0 and n507631<0 and
n507635<0 and n507637<0 and n507639<0 and n507641<0 and n507645<0 and n507647<0 and n507649<0 and
n507651<0)) emjbedm7=0.

if serial="405049R' emjbedm7=N507619.

variable labels emjbedm7 "Main: end month job SEVEN".

value labels emjbedm?7

-8 'Don t know'

-1 'not applicable’

0 'doing same job'.

execute.

** n507541 - end year job seven **
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compute emjbedy7=-1.

if (N507541>=0) emjbedy7=n507541.

if (emjbedm7=-1) emjbedy7=-1.

if (n507541<0) and (n507545>0|n507547>0|n507549>0|n507551>0|n507615>0|n507617>0|
n507619>0|n507621>0|n507625>0|n507627>0|n507629>0|n507631>0|n507635>0|n507637>0|
n507639>0|n507641>0|n507645>0|n507647>0|n507649>0|n507651>0)) emjbedy7=-8.

if (N507539<0) and (N507545<0 and n507547<0 and n507549<0 and n507551<0 and n507615<0 and n507617<0 and
n507619<0 and n507621<0 and n507625<0 and n507627<0 and n507629<0 and n507631<0 and n507635<0 and
n507637<0 and n507639<0 and n507641<0 and n507645<0 and n507647<0 and n507649<0 and n507651<0))
emjbedy7=-1.

if (emjbedm7=0) emjbedy7=0.

if serial='405049R' emjbedy7=N507621.

variable labels emjbedy7 "Main: end year job SEVEN".

value labels emjbedy7

-8 'Don t know'

-1 'not applicable’

0 'doing same job'.

execute.

**n507543 — job seven ft or pt **

compute emjbst7=-1.

if (N507543>0) emjbst7=n507543.

if (n507543<0) and (emjbedy7=-1)) emjbst7=-1.

if (N507543<0) and (emjbstm7~=-1|emjbsty7~=-1|emjbedm7~=-1|emjbedy7~=-1)) emjbst7=-8.
if serial="405049R' emjbst7=1.

variable labels emjbst7 "Main: Job seven - Full or Part time".
value labels emjbst7

-8 'Dont know'

-1 'Not applicable’

1 'Full-time'

2 'Part-time’.

execute.

**n507544 — job seven employee status**

compute emjbem7=-1.

if (507544>0) emjbem7=n507544.

if ((n507544<0) and (emjbedy7=-1)) emjbem7=-1.

if (N507544<0) and (emjbstm7~=-1|emjbsty7~=-1|emjbedm7~=-1|emjbedy7~=-1)) emjbem7=-8.
variable labels emjbem7 "Main: Job seven - employee status".
value labels emjbem7

-8 'Dont know'

-1 'Not applicable’

1 'Employee’

2 'Self-employed'

3 'Temping'.

execute.

**N507545 - month start job eight**

compute emjbstm8=-1.

if (N507545>=0) emjbstm8=N507545.

if (emjbedy7=-1) emjbstm8=-1.

if (N507545<0) and (n507547>0|n507549>0|n507551>0|n507615>0|n507617>0|n507619>0|
n507621>0|n507625>0|n507627>0|n507629>0|n507631>0|n507635>0|n507637>0|n507639>0)|
n507641>0|n507645>0|n507647>0|n507649>0|n507651>0)) emjbstm8=-8.

if ((N507545<0) and (n507547<0 and n507549<0 and n507551<0 and n507615<0 and n507617<0 and n507619<0 and
n507621<0 and n507625<0 and n507627<0 and n507629<0 and n507631<0 and n507635<0 and n507637<0 and
n507639<0 and n507641<0 and

n507645<0 and n507647<0 and n507649<0 and n507651<0)) emjbstm8=-1.

if (emjbstm8=0 and n507547>0) emjbstm8=-8.

if serial='405049R' emjbstm8=N507625.

if serial='010074P' emjbstm8=-8.

if serial="450073T" emjbstm8=9.

variable labels emjbstm8 "Main: start month job EIGHT".

value labels emjbstm8

-8 'Don t know'

-1 'not applicable’

0 'doing same job'.
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execute.
**n507547 - year start job EIGHT **

compute emjbsty8=-1.

if (N507547>=0) emjbsty8=n507547.

if (emjbstm8=-1) emjbsty8=-1.

if (N507547<0) and (n507549>0|n507551>0|n507615>0|n507617>0|n507619>0|n507621>0|
n507625>0|n507627>0|n507629>0|n507631>0|n507635>0|n507637>0|n507639>0|n507641>0|
n507645>0[|n507647>0|n507649>0|n507651>0)) emjbsty8=-8.

if (N507547<0) and (N507549<0 and n507551<0 and n507615<0 and n507617<0 and n507619<0 and n507621<0 and
n507625<0 and n507627<0 and n507629<0 and n507631<0 and n507635<0 and n507637<0 and n507639<0 and
n507641<0 and n507645<0 and n507647<0 and n507649<0 and n507651<0)) emjbsty8=-1.

if serial="405049R' emjbsty8=N507627.

if serial='010074P' emjbsty8=91.

if serial='450073T"' emjbsty8=91.

variable labels emjbsty8 "Main: start year job EIGHT".

value labels emjbsty8

-8 'Don t know'

-1 'not applicable’

0 'doing same job'".

execute.

**n507549 - month end job EIGHT**

compute emjbedm8=-1.

if (n507549>=0) emjbedm8=n507549.

if (emjbsty8=-1) emjbedm8=-1.

if (N507549<0) and (n507551>0|n507615>0|n507617>0|n507619>0|n507621>0|n507625>0)|
n507627>0|n507629>0|n507631>0|n507635>0|n507637>0|n507639>0|n507641>0|n507645>0|
n507647>0|n507649>0|n507651>0)) emjbedm8=-8.

if (N507549<0) and (N507551<0 and n507615<0 and n507617<0 and n507619<0 and n507621<0 and n507625<0 and
n507627<0 and n507629<0 and n507631<0 and n507635<0 and n507637<0 and n507639<0 and n507641<0 and
n507645<0 and n507647<0 and n507649<0 and n507651<0)) emjbedm8=-1.

if (n507549=0 and n507551>0) emjbedm8=-8.

if serial='405049R' emjbedm8=N507629.

if serial="110254Y"' emjbedm8=0.

if serial="450073T' emjbedm8=0.

if serial="483015P' emjbedm8=0.

if serial="550037W' emjbedm8=0.

if serial="950072D' emjbedm8=0.

variable labels emjbedm8 "Main: end month job EIGHT".

value labels emjbedm8

-8 'Don t know'

-1 'not applicable’

0 'doing same job'".

execute.

**N507551 - END YEAR JOB EIGHT**

compute emjbedy8=-1.

if (N507551>=0) emjbedy8=N507551.

if (emjbedm8=-1) emjbedy8=-1.

if (N507551<0) and (n507615>0|n507617>0|n507619>0|n507621>0|n507625>0|n507627>0|
n507629>0|n507631>0|n507635>0|n507637>0|n507639>0|n507641>0|n507645>0|
n507647>0|n507649>0|n507651>0)) emjbedy8=-8.

if (N507551<0) and (n507615<0 and n507617<0 and n507619<0 and n507621<0 and n507625<0 and n507627<0 and
n507629<0 and n507631<0 and n507635<0 and n507637<0 and n507639<0 and n507641<0 and n507645<0 and
n507647<0 and n507649<0 and n507651<0)) emjbedy8=-1.

if (emjbedm8=0) emjbedy8=0.

if serial="405049R' emjbedy8=N507631.

variable labels emjbedy8 "Main: end year job EIGHT".

value labels emjbedy8

-8 'Don t know'

-1 'not applicable’

0 'doing same job'.

execute.

**n507553 — job eight ft or pt **
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compute emjbst8=-1.

if (N507553>0) emjbst8=n507553.

if (N507553<0) and (emjbedy8=-1)) emjbst8=-1.

if (N507553<0) and (emjbstm8~=-1|emjbsty8~=-1|emjbedm8~=-1|emjbedy8~=-1)) emjbst8=-8.
if serial='405049R' emjbst8=1.

variable labels emjbst8 "Main: Job eight - Full or Part time".
value labels emjbst8

-8 'Dont know'

-1 'Not applicable’

1 'Full-time'

2 'Part-time’.

execute.

** n507554 — job eight employee status**

compute emjbem8=-1.

if (n507554>0) emjbem8=n507554.

if (N507554<0) and (emjbedy8=-1)) emjbem8=-1.

if (N507554<0) and (emjbstm8~=-1|emjbsty8~=-1|emjbedm8~=-1|emjbedy8~=-1)) emjbem8=-8.
variable labels emjbem8 "Main: Job eight - employee status".
value labels emjbem8

-8 'Dont know'

-1 'Not applicable’

1 'Employee’

2 'Self-employed'

3 'Temping'.

execute.

**N507615 - MONTH START JOB NINE**

compute emjbstm9=-1.

if (N507615>=0) emjbstm9=N507615.

if (emjbedy8=-1) emjbstm9=-1.

if (N507615<0) and (n507617>0|n507619>0|n507621>0|n507625>0|n507627>0|
n507629>0|n507631>0|n507635>0|n507637>0|n507639>0|n507641>0|n507645>0|n507647>0|
n507649>0|n507651>0)) emjbstm9=-8.

if (N507615<0) and (n507617<0 and n507619<0 and n507621<0 and n507625<0 and n507627<0 and n507629<0 and
n507631<0 and n507635<0 and n507637<0 and n507639<0 and n507641<0 and n507645<0 and n507647<0 and
n507649<0 and n507651<0)) emjbstm9=-1.

if (N507615=0 and n507617>0) emjbstm9=-8.

if serial='405049R' emjbstm9=N507635.

if serial='750138T"' emjbstm9=12.

variable labels emjbstm9 "Main: start month job NINE".

value labels emjbstm9

-8 'Don t know'

-1 'not applicable’

0 'doing same job'.

execute.

** N507617 - YEAR START JOB NINE**

compute emjbsty9=-1.

if (N507617>=0) emjbsty9=N507617.

if (emjbstm9=-1) emjbsty9=-1.

if (N507617<0) and (n507619>0|n507621>0|n507625>0|n507627>0|n507629>0|n507631>0|
n507635>0|n507637>0|n507639>0|n507641>0|n507645>0|n507647>0|n507649>0|n507651>0)) emjbsty9=-8.

if (N507617<0) and (n507619<0 and n507621<0 and n507625<0 and n507627<0 and n507629<0 and n507631<0 and
n507635<0 and n507637<0 and n507639<0 and n507641<0 and n507645<0 and n507647<0 and n507649<0 and
n507651<0)) emjbsty9=-1.

if serial='405049R’' emjbsty9=N507637.

if serial='"750138T"' emjbsty9=91.

variable labels emjbsty9 "Main: start year job NINE".

value labels emjbsty9

-8 'Don t know'

-1 'not applicable’

0 'doing same job'.

execute.

**n507619 - end month job NINE**
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compute emjbedm9=-1.

if (n507619>=0) emjbedm9=n507619.

if (emjbsty9=-1) emjbedm9=-1.

if (n507619<0) and (n507621>0|n507625>0|n507627>0|n507629>0|n507631>0|
n507635>0|n507637>0|n507639>0|n507641>0|n507645>0|n507647>0|n507649>0|n507651>0)) emjbedm9=-8.
if (N507619<0) and (N507621<0 and n507625<0 and n507627<0 and n507629<0 and n507631<0 and n507635<0 and
n507637<0 and n507639<0 and n507641<0 and n507645<0 and n507647<0 and n507649<0 and n507651<0))
emjbedm9=-1.

if (n507619=0 and n507621>0) emjbedm9=-8.

if serial="405049R' emjbedm9=N507639.

if serial='093031N' emjbedm9=0.

if serial='986254N' emjbedm9=0.

if serial="Y30092W' emjbedm9=-1.

variable labels emjbedm9 "Main: END month job NINE".

value labels emjbedm9

-8 'Don t know'

-1 'not applicable’

0 'doing same job'.

execute.

**n507621 - end year job NINE**

compute emjbedy9=-3.

if (N507621>=0) emjbedy9=n507621.

if (emjbedm9=-1) emjbedy9=-1.

if (N507621<0) and (n507625>0|n507627>0|n507629>0|n507631>0|n507635>0|n507637>0|
n507639>0|n507641>0|n507645>0|n507647>0|n507649>0|n507651>0)) emjbedy9=-8.

if (N507621<0) and (N507625<0 and n507627<0 and n507629<0 and n507631<0 and n507635<0 and n507637<0 and
n507639<0 and n507641<0 and n507645<0 and n507647<0 and n507649<0 and n507651<0)) emjbedy9=-1.
if (emjbedm9=0) emjbedy9=0.

if serial="405049R’' emjbedy9=N507641.

variable labels emjbedy9 "Main: END year job NINE".

value labels emjbedy9

-8 'Don t know'

-3 'unaccounted for'

-1 'not applicable’

0 'doing same job'.

execute.

**n507623 — job nine - ft or pt**

compute emjbst9=-1.

if (n507623>0) emjbst9=n507623.

if (N507623<0) and (emjbedy9=-1)) emjbst9=-1.

if (N507623<0) and (emjbstm9~=-1|emjbsty9~=-1|emjbedm9~=-1|emjbedy9~=-1)) emjbst9=-8.
if serial="405049R’' emjbst9=1.

variable labels emjbst9 "Main: Job nine - Full or Part time".
value labels emjbst9

-8 'Dont know'

-1 'Not applicable’

1 'Full-time'

2 'Part-time'.

execute.

**n507624 — job nine employee status**

compute emjbem9=-1.

if (507624>0) emjbem9=n507624.

if (N507624<0) and (emjbedy9=-1)) emjbem9=-1.

if (n507624<0) and (emjbstm9~=-1|emjbsty9~=-1|emjbedm9~=-1|emjbedy9~=-1)) emjbem9=-8.
variable labels emjbem9 "Main: Job nine - employee status".
value labels emjbem9

-8 'Dont know'

-1 'Not applicable’

1 'Employee’

2 'Self-employed'

3 'Temping'.

execute.

**n507625 - start month JOB TEN**
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compute emjbstm10=-1.

if (n507625>=0) emjbstm10=n507625.

if (emjbedy9=-1) emjbstm10=-1.

if (N507625<0) and (N507627>0|n507629>0|n507631>0|
n507635>0|n507637>0|n507639>0|n507641>0|n507645>0|n507647>0|n507649>0|n507651>0)) emjbstm10=-8.
if (N507625<0) and (N507627<0 and n507629<0 and n507631<0 and n507635<0 and n507637<0 and n507639<0 and
n507641<0 and n507645<0 and n507647<0 and n507649<0 and n507651<0)) emjbstm10=-1.

if serial="405049R’' emjbstm10=N507645.

variable labels emjbstm10 "Main: start month job TEN".

value labels emjbstm10

-8 'Don t know'

-1 'not applicable’

0 'doing same job'.

execute.

**n507627 - start year job TEN**

compute emjbsty10=-1.

if (N507627>=0) emjbsty10=n507627.

if (emjbstm10=-1) emjbsty10=-1.

if (N507627<0) and (n507629>0|n507631>0|n507635>0|n507637>0|n507639>0|n507641>0|
n507645>0|n507647>0|n507649>0|n507651>0)) emjbsty10=-8.

if (n507627<0) and (n507629<0 and n507631<0 and n507635<0 and n507637<0 and n507639<0 and n507641<0 and
n507645<0 and n507647<0 and n507649<0 and n507651<0)) emjbsty10=-1.

if serial='405049R' emjbsty10=N507647.

variable labels emjbsty10 "Main: start year job TEN".

value labels emjbsty10

-8 'Don t know'

-1 'not applicable’

0 'doing same job'.

execute.

** n507629 - end month job TEN**

compute emjbedm10=-1.

if (n507629>=0) emjbedm10=n507629.

if (emjbsty10=-1) emjbedm10=-1.

if (N507629<0) and (n507631>0|n507635>0|n507637>0|n507639>0|n507641>0|n507645>0|
n507647>0|n507649>0|n507651>0)) emjbedm10=-8.

if (N507629<0) and (N507631<0 and n507635<0 and n507637<0 and n507639<0 and n507641<0 and n507645<0 and
n507647<0 and n507649<0 and n507651<0)) emjbedm10=-1.

if (n507629=0 and n507631>0) emjbedm10=-8.

if serial="405049R' emjbedm10=N507649.

if serial='509234Q"' emjbedm10=0.

if serial="989039Z' emjbedm10=0.

variable labels emjbedm10 "Main: end month job TEN".

value labels emjbedm10

-8 'Don t know'

-1 'not applicable’

0 'doing same job'.

execute.

**n507631 - end year job TEN**

compute emjbedy10=-1.

if (507631>=0) emjbedy10=n507631.

if (emjbedm10=-1) emjbedy10=-1.

if (N507631<0) and (n507635>0|n507637>0|n507639>0|n507641>0|n507645>0|n507647>0|
n507649>0|n507651>0)) emjbedy10=-8.

if (n507631<0) and (n507635<0 and n507637<0 and n507639<0 and n507641<0 and n507645<0 and n507647<0 and
n507649<0 and n507651<0)) emjbedy10=-1.

if (emjbedm10=0) emjbedy10=0.

if serial="405049R’ emjbedy10=N507651.

variable labels emjbedy10 "Main: end year job TEN".

value labels emjbedy10

-8 'Don t know'

-1 'not applicable’

0 'doing same job'.

execute.
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**n507633 — job ten ft or pt **

compute emjbst10=-1.

if (N507633>0) emjbst10=n507633.

if (N507633<0) and (emjbedy10=-1)) emjbst10=-1.

if (N507633<0) and (emjbstm10~=-1|emjbsty10~=-1|emjbedm10~=-1|emjbedy10~=-1))
emjbst10=-8.

if serial='405049R' emjbst10=1.

variable labels emjbst10 "Main: Job ten - Full or Part time".
value labels emjbst10

-8 'Dont know'

-1 'Not applicable’

1 'Full-time’

2 'Part-time'.

execute.

**n507634 — job ten employee status**

compute emjbem10=-1.

if (n507634>0) emjbem10=n507634.

if (N507634<0) and (emjbedy10=-1)) emjbem10=-1.

if (N507634<0) and (emjbstm10~=-1|emjbsty10~=-1|emjbedm10~=-1|emjbedy10~=-1)) emjbem10=-8.
variable labels emjbem10 "Main: Job ten - employee status".
value labels emjbem10

-8 'Dont know'

-1 'Not applicable’

1 'Employee’

2 'Self-employed'

3 'Temping'.

execute.

** n507635 - month start job ELEVEN**

compute emjbstm11=-1.

if (n507635>=0) emjbstm11=n507635.

if (emjbedy10=-1) emjbstm11=-1.

if (N507635<0) and (N507637>0|n507639>0|n507641>0|n507645>0|n507647>0|n507649>0|
n507651>0)) emjbstm11=-8.

if (N507635<0) and (N507637<0 and n507639<0 and n507641<0 and n507645<0 and n507647<0 and n507649<0 and
n507651<0)) emjbstm11=-1.

if (n507635=0 and n507637>0) emjbstm11=-8.

if serial="405049R’' emjbstm11=N507415.

if serial='"986269B' emjbstm11=12.

if serial='989039Z' emjbstm11=-1.

variable labels emjbstm11 "Main: start month job ELEVEN".

value labels emjbstm11

-8 'Don t know'

-1 'not applicable’

0 'doing same job'.

execute.

**n507637 - start year job ELEVEN**

compute emjbsty11=-1.

if (n507637>=0) emjbsty11=n507637.

if (emjbstm11=-1) emjbsty11=-1.

if (N507637<0) and (n507639>0|n507641>0|n507645>0|n507647>0|n507649>0|n507651>0)) emjbsty11=-8.
if (n507637<0) and (n507639<0 and n507641<0 and n507645<0 and n507647<0 and n507649<0 and n507651<0))
emjbsty11=-1.

if serial="405049R' emjbsty11=N507417.

if serial='986269B' emjbsty11=85.

variable labels emjbsty11 "Main: start year job ELEVEN".

value labels emjbsty11

-8 'Don t know'

-1 'not applicable’

0 'doing same job'.

execute.

**n507639 - end month job ELEVEN**
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compute emjbedm11=-1.

if (Nn507639>=0) emjbedm11=n507639.

if (emjbsty11=-1) emjbedm11=-1.

if (N507639<0) and (n507641>0|n507645>0|n507647>0|n507649>0|n507651>0))
emjbedm11=-8.

if (N507639<0) and (N507641<0 and n507645<0 and n507647<0 and n507649<0 and n507651<0)) emjbedm11=-1.
if (N507639=0 and n507641>0) emjbedm11=-8.

if serial="405049R’' emjbedm11=N507419.

if serial='986269B' emjbedm11=0.

if serial='093147J' emjbedm11=0.

if serial="350172N' emjbedm11=0.

variable labels emjbedm11 "Main: END month job ELEVEN".

value labels emjbedm11

-8 'Don t know'

-1 'not applicable’

0 'doing same job'".

execute.

**n507641 - end year job ELEVEN**

compute emjbedy11=-1.

if (N507641>0) emjbedy11=n507641.

if (emjbedm11=-1) emjbedy11=-1.

if (N507641<0) and (n507641>0|n507645>0|n507647>0|n507649>0|n507651>0)) emjbedy11=-8.
if (N507641<0) and (N507641<0 and n507645<0 and n507647<0 and n507649<0 and n507651<0)) emjbedy11=-1.
if (emjbedm11=0) emjbedy11=0.

if serial="405049R' emjbedy11=N507421.

variable labels emjbedy11 "Main: END year job ELEVEN".

value labels emjbedy11

-8 'Don t know'

-1 'not applicable’

0 'doing same job'.

execute.

**n507643 —job eleven ft or pt **

compute emjbst11=-1.

if (Nn507643>0) emjbst11=n507643.

if (N507643<0) and (emjbedy11=-1)) emjbstl1=-1.

if (N507643<0) and (emjbstm11~=-1|emjbstyll~=-1|emjbedmll~=-1|emjbedyl1l~=-1)) emjbst11=-8.
if serial='405049R' emjbst11=1.

variable labels emjbst11 "Main: Job eleven - Full or Part time".
value labels emjbst11

-8 'Dont know'

-1 'Not applicable’

1 'Full-time'

2 'Part-time'.

execute.

**n507644 — job eleven employee status**

compute emjbem11=-1.

if (507644>0) emjbem11=n507644.

if (n507644<0) and (emjbedy11=-1)) emjbem11=-1.

if (n507644<0) and (emjbstm11~=-1|emjbstyl1~=-1|emjbedm11l~=-1|emjbedyl1~=-1)) emjbem11=-8.
variable labels emjbem11 "Main: Job eleven - employee status".
value labels emjbem11

-8 'Dont know'

-1 'Not applicable’

1 'Employee’

2 'Self-employed'

3 'Temping'.

execute.

**n507645 - month start job TWELVE**
compute emjbstm12=-1.

if (n507645>0) emjbstm12=n507645.
if (emjbedyl1=-1) emjbstm12=-1.
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if (N507645<0) and (N507645>0|n507647>0|n507649>0|n507651>0)) emjbstm12=-8.
if (N507645<0) and (n507645<0 and n507647<0 and n507649<0 and n507651<0))
emjbstm12=-1.

if (N507645=0 and n507647>0) emjbstm12=-8.

if serial='405049R' emjbstm12=N507425.

if serial='514155Y" emjbstm12=-1.

if serial='986269B' emjbstm12=-1.

if serial='"986252J' emjbstm12=-1.

variable labels emjbstm12 "Main: start month job TWELVE".

value labels emjbstm12

-8 'Don t know'

-1 'not applicable’

0 'doing same job'".

execute.

**n507647 - year start job TWELVE**

compute emjbsty12=-1.

if (N507647>0) emjbsty12=n507647 .

if (emjbstm12=-1) emjbsty12=-1.

if (N507647<0) and (N507647>0|n507649>0|n507651>0)) emjbsty12=-8.
if (n507647<0) and (n507647<0 and n507649<0 and n507651<0)) emjbsty12=-1.
if (emjbstm12=0) emjbsty12=0.

if serial="405049R' emjbsty12=N507427.

variable labels emjbsty12 "Main: start year job TWELVE".

value labels emjbsty12

-8 'Don t know'

-1 'not applicable’

0 'doing same job'.

execute.

**n507649 - month end job TWELVE**

compute emjbedm12=-1.

if (507649>=0) emjbedm12=n507649 .

if (emjbsty12=-1) emjbedm12=-1.

if (N507649<0) and (nN507651>0)) emjbedm12=-8.
if (n507649<0) and (n507651<0)) emjbedm12=-1.
if (n507649=0 and n507651>0) emjbedm12=-8.

if serial='405049R' emjbedm12=0.

if serial='506015L"' emjbedm12=0.

variable labels emjbedm12 "Main: END month job TWELVE".
value labels emjbedm12

-8 'Don t know'

-1 'not applicable’

0 'doing same job'".

execute.

**n507651 - year end job TWELVE**

compute emjbedy12=-1.

if (n507651>=0) emjbedy12=n507651 .
if (emjbedm12=-1) emjbedy12=-1.

if (emjbedm12=0) emjbedy12=0.

if serial="405049R' emjbedy12=0.
variable labels emjbedy12 "Main: END year job TWELVE".
value labels emjbedy12

-8 'Don t know'

-1 'not applicable’

0 'doing same job'.

execute.

**n507653 — job twelve ft or pt **

compute emjbst12=-1.

if (Nn507653>0) emjbst12=n507653.

if (N507653<0) and (emjbedy12=-1)) emjbst12=-1.

if (n507653<0) and (emjbstm12~=-1|emjbsty12~=-1|emjbedm12~=-1|emjbedy12~=-1)) emjbst12=-8.
if serial='405049R' emjbst12=1.

variable labels emjbst12 "Main: Job twelve - Full or Part time".
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value labels emjbst12
-8 'Dont know'

-1 'Not applicable’

1 'Full-time'

2 'Part-time'.

execute.

**n507654 — job twelve employee status**

compute emjbem12=-1.

if (n507654>0) emjbem12=n507654.

if (N507654<0) and (emjbedy12=-1)) emjbem12=-1.

if (n507654<0) and (emjbstm12~=-1|emjbsty12~=-1|emjbedm12~=-1|emjbedy12~=-1)) emjbem12=-8.
variable labels emjbem12 "Main: Job twelve - employee status".
value labels emjbem12

-8 'Dont know'

-1 'Not applicable’

1 'Employee’

2 'Self-employed'

3 'Temping'.

execute.
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APPENDIX THREE — Hand cleaned amendments for employment dates

**Syntax to amend date ordering discrepancies for NCDS 5 only**

If serial ='042017F' Emjbedm1=9.
If serial ='042017F' emjbedy1=80.
If serial ='042017F' emjbstm2=9.

If serial ='042017F' emjbsty2=80.
If serial ='042017F' emjbedm?2=9.
If serial ='042017F' emjbedy2=81.
If serial ='042017F' emjbstm3=9.

If serial ='042017F" emjbsty3=81.
If serial ='042017F' emjbedm3=10.
If serial ='042017F' emjbedy3=82.
If serial ='042017F' emjbstm4=10.
If serial ='042017F" emjbsty4=82.
If serial ='042017F' emjbedm4=11.
If serial ='042017F' emjbedy4=83.
If serial ='042017F' emjbstm5=11.
If serial ='042017F' emjbsty5=83.
If serial ='042017F' emjbedm5=11.
If serial ='042017F' emjbedy5=84.
If serial ='042017F' emjbstm6=11.
If serial ='042017F' emjbsty6=84.
If serial ='042017F" emjbedm6=2.
If serial ='042017F' emjbedy6=87.
If serial ='042017F' emjbstm7=2.

If serial ='042017F' emjbsty7=87.
If serial ='042017F' emjbedm7=10.
If serial ='042017F" emjbedy7=88.
If serial ='042017F' emjbstm8=10.
If serial ='042017F' emjbsty8=88.
If serial ='042017F' emjbedm8=8.
If serial ='042017F" emjbedy8=91.
If serial ='042017F' emjbstm9=8.

If serial ='042017F' emjbsty9=91.
If serial ='042017F' emjbedm9=0.
If serial ='042017F' emjbedy9=0.

If serial ='042017F' emjbstm10=-1.
If serial ='042017F' emjbsty10=-1.
If serial ='042017F' emjbedm10=-1.
If serial ='042017F' emjbedy10=-1.
If serial ='042017F' emjbst10=-1.

If serial ='042017F' emjbem10=-1.
If serial ='042017F' emjbstm11=-1.
If serial ='042017F" emjbsty11=-1.
If serial ='042017F emjbedm11=-1.
If serial ='042017F' emjbedyl11=-1.
If serial ='042017F' emjbst11=-1.

If serial ='042017F emjbem11=-1.
If serial ='042017F' emjbstm12=-1.
If serial ='042017F" emjbsty12=-1.
If serial ='042017F emjbedm12=-1.
If serial ='042017F' emjbedy12=-1.
If serial ='042017F' emjbst12=-1.

If serial ='042017F' emjbem12=-1.
If serial ='044022K' emjbst2=-1.

If serial ='044022K"' emjbem2=-1.
If serial ='044022K"' emjbstm3=-1.
If serial ='044022K' emjbsty3=-1.

If serial ='044022K' emjbedm3=-1.
If serial ='044022K"' emjbedy3=-1.
If serial ='044022K"' emjbst3=-1.

If serial ='044022K' emjbem3=-1.
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If serial ='050070F' emjbedm2=6.
If serial ='050070F' emjbedy2=80.
If serial ='050070F' emjbstm3=6.

If serial ='050070F" emjbsty3=80.
If serial ='050070F' emjbedm3=6.
If serial ='050070F' emjbedy3=82.
If serial ='050070F' emjbst3=2.

If serial ='050070F' emjbem3=-1.
If serial ='050070F' emjbstm4=-1.
If serial ='050070F' emjbsty4=-1.

If serial ='050070F' emjbedm4=-1.
If serial ='050070F' emjbedy4=-1.
If serial ='050070F' emjbst4=-1.

If serial ='050070F' emjbem4=-1.
If serial ='050070F' emjbstm5=-1.
If serial ='050070F' emjbsty5=-1.

If serial ='050070F' emjbedm5=-1.
If serial ='050070F' emjbedy5=-1.
If serial ='050070F' emjbst5=-1.

If serial ='050070F' emjbem5=-1.
If serial ='050070F" emjbstm6=-1.
If serial ='050070F' emjbsty6=-1.

If serial ='050070F' emjbedm6=-1.
If serial ='050070F' emjbedy6=-1.
If serial ='050070F' emjbst6=-1.

If serial ='050070F' emjbem6=-1.
If serial ='050070F' emjbstm7=-1.
If serial ='050070F' emjbsty7=-1.

If serial ='050070F' emjbedm7=-1.
If serial ='050070F' emjbedy7=-1.
If serial ='050070F" emjbst7=-1.

If serial ='050070F' emjbem7=-1.
If serial ='050070F' emjbstm8=-1.
If serial ='050070F' emjbsty8=-1.

If serial ='050070F' emjbedm8=-1.
If serial ='050070F' emjbedy8=-1.
If serial ='050070F' emjbst8=-1.

If serial ='050070F' emjbem8=-1.
If serial ='050070F" emjbstm9=-1.
If serial ='050070F' emjbsty9=-1.

If serial ='050070F' emjbedm9=-1.
If serial ='050070F' emjbedy9=-1.
If serial ='050070F" emjbst9=-1.

If serial ='050070F' emjbem9=-1.
If serial ='050070F' emjbstm10=-1.
If serial ='050070F"' emjbsty10=-1.
If serial ='050070F' emjbedm10=-1.
If serial ='050070F' emjbedy10=-1.
If serial ='050070F' emjbst10=-1.
If serial ='050070F' emjbem10=-1.
If serial ='050070F' emjbstm11=-1.
If serial ='050070F' emjbsty11=-1.
If serial ='050070F' emjbedm11=-1.
If serial ='050070F' emjbedy11=-1.
If serial ='050070F' emjbst11=-1.
If serial ='050070F' emjbem11=-1.
If serial ='050070F' emjbstm12=-1.
If serial ='050070F" emjbsty12=-1.
If serial ='050070F' emjbedm12=-1.
If serial ='050070F' emjbedy12=-1.
If serial ='050070F' emjbst12=-1.
If serial ='050070F' emjbem12=-1.
If serial ='050046K"' Emjbstm1=9.
If serial ='050046K' emjbsty1=79.
If serial ='050046K"' Emjbedm1=6.
If serial ='050046K' emjbedy1=83.
If serial ='050046K"' emjbem1=3.

If serial ='050046K' emjbstm2=6.
If serial ='050046K' emjbsty2=84.
If serial ='050046K' emjbedm?2=6.
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If serial ='050046K' emjbedy2=86.
If serial ='050046K' emjbstm3=6.
If serial ='050046K"' emjbsty3=86.
If serial ='050046K"' emjbedm3=7.
If serial ='050046K' emjbedy3=87.
If serial ='050046K' emjbstm4=7.
If serial ='050046K"' emjbsty4=87.
If serial ='050046K"' emjbedm4=0.
If serial ='050046K' emjbedy4=0.
If serial ='050046K"' emjbst4=1.

If serial ='050046K"' emjbem4=1.
If serial ='055016B' emjbedm4=0.
If serial ='055016B' emjbedy4=0.
If serial ='385176T' emjbedy5=87.
If serial ='110015D' emjbedm1=3.
If serial ='110015D' emjbedy1=81.
If serial ='110015D' emjbst1=1.

If serial ="110015D' emjbem1=1.
If serial ='110015D' emjbstm2=-1.
If serial ='110015D' emjbsty2=-1.

If serial ='110015D' emjbedm?2=-1.

If serial ="110015D' emjbedy2=-1.
If serial ='110015D' emjbst2=-1.

If serial ='110015D' emjbem2=-1.
If serial ='110015D' emjbstm3=-1.
If serial ="110015D' emjbsty3=-1.

If serial ='110015D' emjbedm3=-1.

If serial ='110015D' emjbedy3=-1.
If serial ="110015D' emjbst3=-1.

If serial ="110015D' emjbem3=-1.
If serial ='110015D' emjbstm4=-1.
If serial ='110015D' emjbsty4=-1.

If serial ="110015D' emjbedm4=-1.

If serial ='110015D' emjbedy4=-1.
If serial ='110015D' emjbst4=-1.

If serial ='110015D' emjbem4=-1.
If serial ='081022U' emjbedy1=78.
If serial ='056049Y"' emjbsty2=74.
If serial ='082005Z' emjbstm3=9.
If serial ='082005Z' emjbsty3=78.

If serial ='082005Z' emjbedm3=10.

If serial ='088012D' emjbedm3=6.
If serial ='088012D' emjbedy3=91.
If serial ='088012D' emjbedm4=0.
If serial ='088012D' emjbedy4=0.

If serial ='400012P' emjbedm5=11.

If serial ='400012P' emjbedy5=86.
If serial ='110026K"' Emjbedm1=6.
If serial ='110026K' emjbedy1=77.
If serial ='110026K' emjbem1=1.
If serial ='110026K"' emjbstm2=6.
If serial ='110026K"' emjbsty2=77.
If serial ='110026K"' emjbedm?2=0.
If serial ="110026K' emjbedy2=0.
If serial ="110026K' emjbem2=1.
If serial ='110026K"' emjbstm4=-1.
If serial ="110026K' emjbsty4=-1.
If serial ='110026K' emjbedm4=-1.
If serial ='110026K"' emjbedy4=-1.
If serial ='110026K"' emjbst4=-1.

If serial ='110026K' emjbem4=-1.
If serial ='094027C' emjbstm2=12.
If serial ='094027C' emjbsty2=77.
If serial ='089005N' emjbedm2=1.
If serial ='089005N' emjbedy2=90.
If serial ='089005N' emjbstm3=1.
If serial ='089005N' emjbsty3=90.
If serial ='089005N' emjbedm3=6.
If serial ='089005N' emjbedy3=90.
If serial ='089005N' emjbstm4=6.
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If serial ='089005N' emjbsty4=90.
If serial ='089005N' emjbedm4=0.
If serial ='089005N' emjbedy4=0.
If serial ='089005N' emjbst4=2.

If serial ='089005N' emjbem4=1.

If serial ='089005N' emjbstm5=-1.
If serial ='089005N' emjbsty5=-1.
If serial ='089005N' emjbedm5=-1.
If serial ='089005N' emjbedy5=-1.
If serial ='089005N' emjbst5=-1.

If serial ='089005N' emjbem5=-1.
If serial ='089005N' emjbstm6=-1.
If serial ='089005N' emjbsty6=-1.
If serial ='089005N' emjbedm6=-1.
If serial ='089005N' emjbedy6=-1.
If serial ='089005N' emjbst6=-1.

If serial ='089005N' emjbem6=-1.
If serial ='089005N' emjbstm7=-1.
If serial ='089005N' emjbsty7=-1.
If serial ='089005N' emjbedm7=-1.
If serial ='089005N' emjbedy7=-1.
If serial ='089005N' emjbst7=-1.

If serial ='089005N' emjbem7=-1.
If serial ='090017C' Emjbstm1=11.
If serial ='090017C' emjbsty1=84.
If serial ='090017C' Emjbedm1=4.
If serial ='090017C' emjbedy1=86.
If serial ='090017C' emjbstm2=4.
If serial ='090017C' emjbsty2=86.

If serial ='090017C' emjbedm2=10.

If serial ='090017C' emjbedy2=88.
If serial ='090017C' emjbstm3=10.
If serial ='090017C' emjbsty3=88.

If serial ='090017C' emjbedm3=11.

If serial ='090017C' emjbedy3=90.
If serial ='090017C' emjbsty4=90.
If serial ='090017C' emjbedm4=0.
If serial ='090017C' emjbedy4=0.
If serial ='089017V' emjbedy3=81.
If serial ='089017V' emjbstm4=9.
If serial ='089017V' emjbsty4=84.
If serial ='089017V' emjbedm4=1.
If serial ='089017V' emjbedy4=85.
If serial ='089017V' emjbstm5=1.
If serial ='089017V' emjbsty5=85.
If serial ='089017V' emjbedm5=6.
If serial ='089017V' emjbedy5=86.
If serial ='089017V' emjbst5=1.

If serial ='089017V' emjbstm6=6.
If serial ='089017V' emjbsty6=86.
If serial ='089017V' emjbedm6=6.
If serial ='089017V' emjbedy6=87.
If serial ='089017V' emjbstm7=9.
If serial ='089017V' emjbsty7=90.
If serial ='089017V' emjbedm7=0.
If serial ='089017V' emjbedy7=0.
If serial ='089017V' emjbstm8=-1.
If serial ='089017V' emjbsty8=-1.
If serial ='089017V' emjbedm8=-1.
If serial ='089017V' emjbedy8=-1.
If serial ='089017V' emjbst8=-1.

If serial ='089017V' emjbem8=-1.
If serial ='730122P' emjbsty6=85.
If serial ='110062P' Emjbedm1=6.
If serial ="110062P' emjbedy1=81.
If serial ='110062P' emjbstm2=6.
If serial ='110062P' emjbsty2=81.
If serial ='110062P' emjbedm?2=1.
If serial ="110062P' emjbedy2=87.
If serial ='110062P' emjbstm3=1.
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If serial ='110062P' emjbsty3=87.

If serial ='110062P' emjbedm3=4.

If serial ='110062P' emjbedy3=87.
If serial ="110062P' emjbstm4=4.

If serial ='110062P' emjbsty4 =87.
If serial ='110062P' emjbedm4 =0.
If serial ='110062P' emjbedy4 =0.
If serial ="110062P' emjbst4 =1.

If serial ='110062P' emjbem4 =1.

If serial ='110062P' emjbstm5 =-1.
If serial ='110062P' emjbsty5 =-1.
If serial ='110062P' emjbedm5 =-1.
If serial ='110062P' emjbedy5 =-1.
If serial ='110062P' emjbst5 =-1.

If serial ="110062P' emjbem5 =-1.

If serial ='110062P' emjbstm6 =-1.
If serial ='110062P' emjbsty6 =-1.
If serial ='110062P' emjbedm6 =-1.
If serial ='110062P' emjbedy6 =-1.
If serial ="110062P' emjbst6 =-1.

If serial ='110062P' emjbem6 =-1.
If serial ="110062P' emjbstm7 =-1.
If serial ='110062P' emjbsty7 =-1.
If serial ='110062P' emjbedm7 =-1.
If serial ='110062P' emjbedy7 =-1.
If serial ="110062P' emjbst7 =-1.

If serial ='110062P' emjbem7 =-1.
If serial ='110062P' emjbstm8 =-1.
If serial ="110062P' emjbsty8 =-1.
If serial ="110062P' emjbedm8 =-1.
If serial ='110062P' emjbedy8 =-1.
If serial ='110062P' emjbst8 =-1.

If serial ="110062P' emjbem8 =-1.
If serial ='110062P' emjbstm9 =-1.
If serial ='110062P' emjbsty9 =-1.
If serial ='110062P' emjbedm9 =-1.
If serial ='110062P' emjbedy9 =-1.
If serial ="110062P' emjbst9 =-1.

If serial ='110062P' emjbem9 =-1.
If serial ='110062P' emjbstm10 =-1.
If serial ='110062P' emjbsty10 =-1.
If serial ='110062P' emjbedm10 =-1.
If serial ="110062P' emjbedy10 =-1.
If serial ="110062P' emjbst10 =-1.
If serial ='110062P' emjbem10 =-1.
If serial ='110062P' emjbstm11 =-1.
If serial ="110062P' emjbsty1l =-1.
If serial ="110062P' emjbedm11 =-1.
If serial ='110062P' emjbedy11l =-1.
If serial ='110062P' emjbst1l =-1.
If serial ='110062P' emjbem11 =-1.
If serial ='097014K' Emjbedm1 =1.
If serial ='097014K' emjbedyl =75.
If serial ='093170C' emjbedm?2 =6.
If serial ='093170C' emjbedy2 =84.
If serial ='093170C' emjbstm3 =-1.
If serial ='093170C' emjbsty3 =-1.
If serial ='093170C' emjbedm3 =-1.
If serial ='093170C' emjbedy3 =-1.
If serial ='093170C' emjbst3 =-1.

If serial ='093170C' emjbem3 =-1.
If serial ='093170C' emjbstm4 =-1.
If serial ='093170C' emjbsty4 =-1.

If serial ='093170C' emjbedm4 =-1.
If serial ='093170C' emjbedy4 =-1.
If serial ='093170C' emjbst4 =-1.

If serial ='093170C' emjbem4 =-1.
If serial ='380044X' emjbedm2 =2.
If serial ='380044X' emjbedy2 =84.
If serial ='380044X"' emjbstm3 =12.
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If serial ='380044X"' emjbsty3 =85.
If serial ='095017E' emjbedm4 =0.
If serial ='095017E' emjbedy4 =0.
If serial ='845047T' emjbedm5 =11.
If serial ='845047T' emjbedy5 =83.
If serial ='186049A" emjbstyl =74.
If serial ="186049A' Emjbedm1 =7.
If serial ='186049A" emjbstm2 =9.
If serial ="186049A" emjbsty2 =75.
If serial ="110018L' emjbedyl =80.
If serial ='181003X' emjbedm?2 =4.
If serial ='181003X"' emjbedy2 =79.
If serial ='181003X' emjbstm3 =4.
If serial ='181003X"' emjbsty3 =79.
If serial ='181003X' emjbedm3 =5.
If serial ='181003X"' emjbedy3 =79.
If serial ='181003X' emjbem3 =1.

If serial ='181003X"' emjbstm4 =5.
If serial ='181003X"' emjbsty4 =79.
If serial ='181003X' emjbedm4 =7.
If serial ="181003X' emjbedy4 =79.
If serial ="181003X' emjbst4 =1.

If serial ='181003X' emjbem4 =1.

If serial ='181003X' emjbstm5 =7.
If serial ='181003X"' emjbsty5 =79.
If serial ='181003X' emjbedm5 =9.
If serial ='181003X"' emjbstm6 =4.
If serial ='181003X"' emjbsty6 =82.
If serial ='181003X' emjbedm6 =8.
If serial ='181003X' emjbedy6 =84.
If serial ='181003X' emjbst6 =1.

If serial ='181003X' emjbem6 =1.

If serial ='181003X' emjbstm7 =10.
If serial ='181003X"' emjbsty7 =85.
If serial ='181003X' emjbedm7 =1.
If serial ='181003X' emjbedy7 =87.
If serial ='181003X"' emjbst7 =1.

If serial ="181003X' emjbem7 =1.

If serial ='181003X' emjbstm8 =9.
If serial ='181003X"' emjbsty8 =90.
If serial ='181003X' emjbedm8 =1.
If serial ="181003X' emjbedy8 =91.
If serial ='181003X' emjbst8 =2.

If serial ="181003X' emjbem8 =1.

If serial ='381004Q"' emjbsty3 =87.
If serial ='186105J' emjbstm4 =9.

If serial ="186105J' emjbedm4 =12.
If serial ='186105J' emjbedy4 =85.
If serial ='X32027M' emjbsty6 =83.
If serial ='X32027M' emjbedy6 =84.
If serial ='X32027M' emjbsty7 =84.
If serial ='223016M' Emjbedm1 =6.
If serial ='223016M' emjbedyl =80.
If serial ='223016M' emjbstm2 =-1.00.
If serial ='223016M' emjbsty2 =-1.00.
If serial ='223016M' emjbedm2 =-1.
If serial ='223016M' emjbedy2 =-1.
If serial ='223016M' emjbst2 =-1.

If serial ='223016M' emjbem2 =-1.
If serial ='223016M' emjbstm3 =-1.
If serial ='223016M' emjbsty3 =-1.
If serial ='223016M' emjbedm3 =-1.
If serial ='223016M' emjbedy3 =-1.
If serial ='223016M' emjbst3 =-1.

If serial ='223016M' emjbem3 =-1.
If serial ='223016M' emjbstm4 =-1.
If serial ='223016M' emjbsty4 =-1.

If serial ='223016M' emjbedm4 =-1.
If serial ='223016M' emjbedy4 =-1.
If serial ='223016M' emjbst4 =-1.
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If serial ='223016M' emjbem4 =-1.
If serial ='110262X"' emjbstm2 =3.

If serial ='110262X"' emjbsty2 =75.
If serial ='110262X"' emjbedy2 =78.

If serial ='182010Z' emjbedm2 =11.

If serial ='182010Z' emjbedy2 =75.
If serial ='182010Z' emjbstm3 =6.
If serial ='182010Z' emjbsty3 =79.
If serial ='182010Z' emjbedm3 =1.
If serial ='182010Z' emjbedy3 =82.
If serial ='182010Z' emjbstm4 =1.
If serial ='182010Z' emjbsty4 =82.
If serial ="182010Z' emjbedm4 =0.
If serial ='182010Z' emjbedy4 =0.
If serial ="182010Z' emjbst4 =2.

If serial ='182010Z' emjbem4 =-1.
If serial ='182010Z' emjbstm5 =-1.
If serial ='182010Z' emjbsty5 =-1.
If serial ='182010Z' emjbedm5 =-1.
If serial ='182010Z' emjbedy5 =-1.
If serial ='182010Z' emjbst5 =-1.

If serial ="182010Z' emjbem5 =-1.
If serial ='182010Z' emjbstm6 =-1.
If serial ='182010Z' emjbsty6 =-1.
If serial ='182010Z' emjbedm6 =-1.
If serial ='182010Z' emjbem6 =-1.
If serial ='385055E' Emjbstm1 =6.
If serial ='385055E"' emjbstyl =74.
If serial ='385055E' Emjbedm1 =6.
If serial ='385055E"' emjbedyl =75.
If serial ='385055E' emjbstm2 =6.
If serial ='385055E"' emjbsty2 =75.
If serial ='385055E' emjbedm?2 =6.
If serial ='385055E' emjbedy2 =77.
If serial ='385055E' emjbstm4 =12.
If serial ='385055E"' emjbsty4 =80.
If serial ='385055E' emjbedm4 =1.
If serial ='385055E' emjbedy4 =91.
If serial ='385055E' emjbstm5 =1.
If serial ='385055E"' emjbsty5 =91.
If serial ='385055E' emjbedm5 =0.
If serial ='385055E' emjbedy5 =0.
If serial ='227010V' emjbedm4 =0.
If serial ='227010V' emjbedy4 =0.
If serial ='094005S' emjbedy6 =90.
If serial ='231027N' Emjbstm1 =6.
If serial ="231027N' emjbstyl =77.
If serial ='231027N' Emjbedm1 =9.
If serial ='231027N' emjbstm2 =6.
If serial ='231027N' emjbsty2 =78.
If serial ='231027N' emjbedy2 =78.
If serial ='231027N' emjbsty3 =83.
If serial ='287051Z' Emjbedm1 =4.
If serial ='287051Z' emjbedyl =75.
If serial ='287051Z' emjbstm3 =12.
If serial ='287051Z' emjbsty3 =78.
If serial ='287051Z' emjbedm3 =5.
If serial ='287051Z' emjbedy3 =80.
If serial ='287051Z' emjbstm4 =7.
If serial ='287051Z' emjbsty4 =82.
If serial ='287051Z' emjbedm4 =0.
If serial ='287051Z' emjbedy4 =0.
If serial ='287051Z' emjbst4 =1.

If serial ='287051Z' emjbem4 =1.
If serial ='238010H' emjbsty2 =75.
If serial ='238010H' emjbedm2 =6.
If serial ='238010H' emjbedy2 =76.
If serial ='238010H' emjbstm3 =1.
If serial ='238010H' emjbsty3 =87.
If serial ='238010H' emjbedm3 =0.
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If serial ='238010H' emjbedy3 =0.
If serial ='238010H' emjbem3 =-1.
If serial ='238010H' emjbstm4 =-1.
If serial ='238010H' emjbsty4 =-1.

If serial ='238010H' emjbedm4 =-1.
If serial ='238010H' emjbedy4 =-1.
If serial ='238010H' emjbst4 =-1.

If serial ='238010H' emjbem4 =-1.
If serial ='238010H' emjbstm5 =-1.
If serial ='238010H' emjbsty5 =-1.
If serial ='238010H' emjbedm5 =-1.
If serial ='238010H' emjbedy5 =-1.
If serial ='238010H' emjbst5 =-1.

If serial ='238010H' emjbem5 =-1.
If serial ='436034B' Emjbstm1 =1.
If serial ='436034B' emjbstyl =81.
If serial ='436034B' Emjbedm1 =12.
If serial ='436034B' emjbedyl =82.
If serial ='436034B' emjbstm3 =8.
If serial ='436034B' emjbsty3 =89.
If serial ='436034B' emjbedm3 =0.
If serial ='436034B' emjbedy3 =0.
If serial ='380050S' emjbedm3 =3.
If serial ='380050S' emjbedm4 =0.
If serial ='380050S' emjbedy4 =0.
If serial ='287064K' emjbedm6 =0.
If serial ='287064K' emjbedy6 =0.
If serial ='233011H' Emjbedm1 =4.
If serial ='233011H' emjbedyl =85.
If serial ='233011H' emjbstm2 =4.
If serial ='233011H' emjbsty2 =85.
If serial ='233011H' emjbedm2 =0.
If serial ='233011H' emjbedy2 =0.
If serial ='233011H' emjbstm3 =-1.
If serial ='233011H' emjbsty3 =-1.
If serial ='233011H' emjbedm3 =-1.
If serial ='233011H' emjbedy3 =-1.
If serial ='233011H' emjbst3 =-1.

If serial ='233011H' emjbem3 =-1.
If serial ='233011H' emjbstm4 =-1.
If serial ='233011H' emjbsty4 =-1.

If serial ='233011H' emjbedm4 =-1.
If serial ='233011H' emjbedy4 =-1.
If serial ='233011H' emjbst4 =-1.

If serial ='233011H' emjbem4 =-1.
If serial ='233011H' emjbstm5 =-1.
If serial ='233011H' emjbsty5 =-1.
If serial ='233011H' emjbedm5 =-1.
If serial ='233011H' emjbedy5 =-1.
If serial ='233011H' emjbst5 =-1.

If serial ='233011H' emjbem5 =-1.
If serial ='289010V' emjbstm2 =3.
If serial ='289010V' emjbsty2 =85.
If serial ='289146X' emjbedyl =80.
If serial ='289146X' emjbedm?2 =6.
If serial ='289146X' emjbedy2 =85.
If serial ='289146X' emjbstm3 =6.
If serial ='289146X' emjbsty3 =85.
If serial ='289146X' emjbedm3 =6.
If serial ='289146X' emjbedy3 =87.
If serial ='289146X' emjbem3 =-1.
If serial ='289146X' emjbstm4 =-1.
If serial ='289146X"' emjbsty4 =-1.

If serial ='289146X' emjbedm4 =-1.
If serial ='289146X' emjbedy4 =-1.
If serial ='289146X' emjbst4 =-1.

If serial ='289146X' emjbem4 =-1.
If serial ='289146X' emjbstm5 =-1.
If serial ='289146X' emjbsty5 =-1.
If serial ='289146X' emjbedm5 =-1.
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If serial ='289146X"' emjbedy5 =-1.
If serial ='289146X"' emjbst5 =-1.

If serial ='289146X' emjbem5 =-1.
If serial ='500376N' emjbsty3 =82.
If serial ='400025Y"' emjbedm4 =0.
If serial ='400025Y"' emjbedy4 =0.
If serial ='483019X' emjbedm6 =0.
If serial ='483019X' emjbedy6 =0.
If serial ='238006S' Emjbedm1 =5.
If serial ='238006S' emjbedyl =91.
If serial ='238006S' emjbstm2 =-1.00.
If serial ='238006S' emjbsty2 =-1.00 .
If serial ='238006S' emjbedm?2 =-1.
If serial ='238006S' emjbedy2 =-1.
If serial ='238006S' emjbst2 =-1.

If serial ='238006S' emjbem2 =-1.
If serial ='238006S' emjbstm3 =-1.
If serial ='238006S' emjbsty3 =-1.
If serial ='238006S' emjbedm3 =-1.
If serial ='238006S' emjbedy3 =-1.
If serial ='238006S' emjbst3 =-1.

If serial ='238006S' emjbem3 =-1.
If serial ='385008V' emjbstm2 =4,
If serial ='385008V' emjbsty2 =75.
If serial ='385008V' emjbedm?2 =0.
If serial ='385008V' emjbedy2 =0.
If serial ='385008V' emjbstm3 =-1.
If serial ='385008V' emjbsty3 =-1.
If serial ='385008V' emjbedm3 =-1.
If serial ='385008V' emjbedy3 =-1.
If serial ='385008V' emjbst3 =-1.

If serial ='385008V' emjbem3 =-1.
If serial ='385008V"' emjbstm4 =-1.
If serial ='385008V' emjbsty4 =-1.

If serial ='385008V' emjbedm4 =-1.
If serial ='385008V' emjbedy4 =-1.
If serial ='385008V' emjbst4 =-1.

If serial ='385008V' emjbem4 =-1.
If serial ='300138E' emjbedm?2 =5.
If serial ='300138E' emjbedy2 =80.
If serial ='300138E' emjbst2 =1.

If serial ='300138E' emjbem2 =1.

If serial ='300138E' emjbstm3 =-1.
If serial ='300138E' emjbsty3 =-1.
If serial ='300138E' emjbedm3 =-1.
If serial ='300138E' emjbedy3 =-1.
If serial ='300138E' emjbst3 =-1.

If serial ='300138E' emjbem3 =-1.
If serial ='300138E' emjbstm4 =-1.
If serial ='300138E' emjbsty4 =-1.

If serial ='300138E' emjbedm4 =-1.
If serial ='300138E' emjbedy4 =-1.
If serial ='300138E' emjbst4 =-1.

If serial ='300138E' emjbem4 =-1.
If serial ='300138E' emjbstm5 =-1.
If serial ='300138E' emjbsty5 =-1.
If serial ='300138E' emjbedm5 =-1.
If serial ='300138E' emjbedy5 =-1.
If serial ='300138E' emjbst5 =-1.

If serial ='300138E' emjbem5 =-1.
If serial ='511171E' emjbedy2 =86.
If serial ='460015K"' emjbedm4 =0.
If serial ='460015K"' emjbedy4 =0.
If serial ='525007U' emjbedy6 =84.
If serial ='287039L"' emjbstyl =75.
If serial ='385086S' Emjbedm1 =7.
If serial ='385086S' emjbedyl =82.
If serial ='385086S' emjbedm3 =3.
If serial ='385086S' emjbedy3 =83.
If serial ='385086S' emjbstm4 =7.
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If serial ='385086S' emjbsty4 =83.
If serial ='385086S' emjbedm4 =0.
If serial ='385086S' emjbedy4 =0.
If serial ='385086S' emjbst4 =1.

If serial ='385086S' emjbem4 =2.

If serial ='330016K' Emjbedm1 =5.
If serial ='330016K"' emjbedyl =81.
If serial ='330016K"' emjbstm2 =5.
If serial ='330016K' emjbsty2 =81.
If serial ='330016K"' emjbedm?2 =5.
If serial ='330016K"' emjbedy2 =82.
If serial ='330016K"' emjbst2 =1.

If serial ='330016K' emjbem2 =1.

If serial ='330016K"' emjbstm3 =10.
If serial ='330016K' emjbsty3 =83.
If serial ='330016K"' emjbedm3 =0.
If serial ='330016K' emjbedy3 =0.
If serial ='330016K"' emjbst3 =1.

If serial ='330016K"' emjbem3 =2.

If serial ='330016K' emjbstm4 =-1.
If serial ='330016K' emjbsty4 =-1.

If serial ='330016K' emjbedm4 =-1.
If serial ='330016K"' emjbedy4 =-1.
If serial ='330016K' emjbst4 =-1.

If serial ='330016K' emjbem4 =-1.
If serial ='330016K"' emjbstm5 =-1.
If serial ='330016K"' emjbsty5 =-1.
If serial ='330016K' emjbedm5 =-1.
If serial ='330016K"' emjbedy5 =-1.
If serial ='330016K"' emjbst5 =-1.

If serial ='330016K' emjbem5 =-1.
If serial ='330016K"' emjbstm6 =-1.
If serial ='330016K"' emjbsty6 =-1.
If serial ='330016K' emjbedm6 =-1.
If serial ='330016K' emjbedy6 =-1.
If serial ='330016K"' emjbst6 =-1.

If serial ='330016K' emjbem6 =-1.
If serial ='330016K' emjbstm7 =-1.
If serial ='330016K' emjbsty7 =-1.
If serial ='330016K' emjbedm7 =-1.
If serial ='330016K"' emjbedy7 =-1.
If serial ='330016K' emjbst7 =-1.

If serial ='330016K' emjbem7 =-1.
If serial ='330016K"' emjbstm8 =-1.
If serial ='330016K"' emjbsty8 =-1.
If serial ='330016K' emjbedm8 =-1.
If serial ='330016K"' emjbedy8 =-1.
If serial ='330016K"' emjbst8 =-1.

If serial ='330016K' emjbem8 =-1.
If serial ='330016K' emjbstm9 =-1.
If serial ='330016K"' emjbsty9 =-1.
If serial ='330016K' emjbedm9 =-1.
If serial ='330016K' emjbedy9 =-1.
If serial ='330016K' emjbst9 =-1.

If serial ='330016K' emjbem9 =-1.
If serial ='330016K' emjbstm10 =-1.
If serial ='330016K' emjbsty10 =-1.
If serial ='330016K' emjbedm10 =-1.
If serial ='330016K"' emjbedy10 =-1.
If serial ='330016K' emjbst10 =-1.
If serial ='330016K' emjbem10 =-1.
If serial ='520053Z' emjbstyl =80.
If serial ='520053Z' Emjbedm1 =9.
If serial ='520053Z' emjbedyl =81.
If serial ='520053Z' emjbsty3 =82.
If serial ='520053Z' emjbedm3 =0.
If serial ='520053Z' emjbedy3 =0.
If serial ='483015P' emjbedm4 =6.
If serial ='483015P' emjbedy4 =90.
If serial ='483015P' emjbst4 =1.
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If serial ='483015P' emjbem4 =1.

If serial ='483015P' emjbstm5 =6.
If serial ='483015P"' emjbsty5 =90.
If serial ='483015P' emjbedm5 =0.
If serial ='483015P' emjbedy5 =0.
If serial ='483015P' emjbstm6 =-1.
If serial ='483015P' emjbsty6 =-1.
If serial ='483015P' emjbedm6 =-1.
If serial ='483015P' emjbedy6 =-1.
If serial ='483015P' emjbst6 =-1.

If serial ='483015P' emjbem6 =-1.
If serial ='483015P' emjbstm7 =-1.
If serial ='483015P' emjbsty7 =-1.
If serial ='483015P' emjbedm7 =-1.
If serial ='483015P' emjbedy7 =-1.
If serial ='483015P' emjbst7 =-1.

If serial ='483015P' emjbem7 =-1.
If serial ='483015P' emjbstm8 =-1.
If serial ='483015P' emjbsty8 =-1.
If serial ='483015P' emjbedm8 =-1.
If serial ='483015P' emjbedy8 =-1.
If serial ='483015P' emjbst8 =-1.

If serial ='483015P' emjbem8 =-1.
If serial ='528061S' emjbstm6 =-1.
If serial ='528061S' emjbsty6 =-1.
If serial ='291013Q' emjbedyl =85.
If serial ='291013Q' emjbstm2 =-1.00.
If serial ='291013Q"' emjbsty2 =-1.00.
If serial ='291013Q' emjbedm2 =-1.
If serial ='291013Q' emjbst2 =-1.

If serial ='291013Q' emjbem2 =-1.
If serial ='400064K"' emjbsty2 =78.
If serial ='330058B' emjbedyl =83.
If serial ='330058B' emjbsty2 =83.
If serial ='330058B' emjbedm?2 =12.
If serial ='330058B' emjbedy2 =83.
If serial ='330058B' emjbstm3 =1.
If serial ='330058B' emjbsty3 =84.
If serial ='330058B' emjbedm3 =10.
If serial ='330058B' emjbedy3 =84.
If serial ='330058B' emjbstm4 =10.
If serial ='330058B' emjbsty4 =84.
If serial ='330058B' emjbedm4 =9.
If serial ='330058B' emjbedy4 =86.
If serial ='330058B' emjbstm5 =9.
If serial ='330058B' emjbsty5 =86.
If serial ='330058B' emjbedm5 =1.
If serial ='330058B' emjbedy5 =87.
If serial ='330058B' emjbstm6 =6.
If serial ='330058B' emjbsty6 =87.
If serial ='330058B' emjbedm6 =2.
If serial ='330058B' emjbedy6 =90.
If serial ='330058B' emjbstm7 =2.
If serial ='330058B' emjbsty7 =90.
If serial ='330058B' emjbedm7 =0.
If serial ='330058B' emjbedy7 =0.
If serial ='330058B' emjbstm8 =-1.
If serial ='330058B' emjbsty8 =-1.
If serial ='330058B' emjbedm8 =-1.
If serial ='330058B' emjbedy8 =-1.
If serial ='330058B' emjbst8 =-1.

If serial ='330058B' emjbem8 =-1.
If serial ='330058B' emjbstm9 =-1.
If serial ='330058B' emjbsty9 =-1.
If serial ='330058B' emjbedm9 =-1.
If serial ='330058B' emjbedy9 =-1.
If serial ='330058B' emjbst9 =-1.

If serial ='330058B' emjbem9 =-1.
If serial ='330058B' emjbstm10 =-1.
If serial ='330058B' emjbsty10 =-1.
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If serial ='330058B' emjbedm10 =-1.
If serial ='330058B' emjbedy10 =-1.
If serial ='330058B' emjbst10 =-1.
If serial ='330058B' emjbem10 =-1.
If serial ='524006M' Emjbstm1 =8.
If serial ='524006M' emjbstyl =74.
If serial ='524006M' Emjbedm1 =3.
If serial ='524006M' emjbedyl =78.
If serial ='524006M' emjbstm3 =6.
If serial ='524006M' emjbsty3 =82.
If serial ='524006M' emjbedm3 =0.
If serial ='524006M' emjbedy3 =0.
If serial ='510022F' emjbedm4 =0.
If serial ='510022F' emjbedy4 =0.
If serial ='550001Y" emjbsty6 =84.
If serial ='300029Z' Emjbedm1 =3.
If serial ='300029Z' emjbedyl =81.
If serial ='300029Z' emjbst1l =1.00 .
If serial ='300029Z' emjbem1 =1.00 .
If serial ='300029Z' emjbstm2 =3.
If serial ='300029Z' emjbsty2 =81.
If serial ='300029Z' emjbedm2 =6.
If serial ='300029Z' emjbedy2 =81.
If serial ='300029Z' emjbst2 =1.

If serial ='300029Z' emjbem2 =1.

If serial ='300029Z' emjbstm3 =6.
If serial ='300029Z' emjbsty3 =81.
If serial ='300029Z' emjbedm3 =1.
If serial ='300029Z"' emjbedy3 =88.
If serial ='300029Z' emjbst3 =1.

If serial ='300029Z' emjbem3 =1.

If serial ='300029Z' emjbstm4 =-1.
If serial ='300029Z' emjbsty4 =-1.

If serial ='300029Z' emjbedm4 =-1.
If serial ='300029Z' emjbedy4 =-1.
If serial ='300029Z' emjbst4 =-1.

If serial ='300029Z' emjbem4 =-1.
If serial ='436020Q' emjbstm2 =4.
If serial ='436020Q' emjbsty2 =89.
If serial ='436020Q' emjbedm?2 =0.
If serial ='436020Q"' emjbedy2 =0.
If serial ='436020Q' emjbstm3 =-1.
If serial ='436020Q' emjbsty3 =-1.
If serial ='436020Q' emjbedm3 =-1.
If serial ='436020Q' emjbedy3 =-1.
If serial ='436020Q' emjbst3 =-1.

If serial ='436020Q' emjbem3 =-1.
If serial ='436020Q' emjbstm4 =-1.
If serial ='436020Q"' emjbsty4 =-1.

If serial ='436020Q' emjbedm4 =-1.
If serial ='436020Q' emjbedy4 =-1.
If serial ='436020Q' emjbst4 =-1.

If serial ='436020Q' emjbem4 =-1.
If serial ='436020Q' emjbstm5 =-1.
If serial ='436020Q' emjbsty5 =-1.
If serial ='436020Q"' emjbedm5 =-1.
If serial ='436020Q' emjbedy5 =-1.
If serial ='436020Q' emjbst5 =-1.

If serial ='436020Q"' emjbem5 =-1.
If serial ='350006U' emjbedm2 =0.
If serial ='350006U' emjbedy2 =0.
If serial ='526022V' Emjbstm1 =10.
If serial ='526022V"' emjbstyl =82.
If serial ='526022V' Emjbedm1 =3.
If serial ='526022V' emjbedyl =84.
If serial ='526022V' emjbstl =2.

If serial ='526022V' emjbstm2 =5.
If serial ='526022V' emjbsty2 =84.
If serial ='526022V' emjbedm?2 =10.
If serial ='526022V' emjbedy2 =84.
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If serial ='526022V' emjbst2 =2.

If serial ='526022V' emjbstm3 =10.
If serial ='526022V' emjbedm3 =3.
If serial ='526022V' emjbedy3 =85.
If serial ='526022V' emjbst3 =2.

If serial ='526022V' emjbem3 =1.
If serial ='526022V' emjbstm4 =6.
If serial ='526022V' emjbsty4 =85.

If serial ='526022V' emjbedm4 =12.

If serial ='526022V' emjbedy4 =88.
If serial ='526022V' emjbst4 =1.

If serial ='526022V' emjbstm5 =1.
If serial ='526022V' emjbsty5 =89.
If serial ='526022V' emjbedm5 =0.
If serial ='526022V' emjbedy5 =0.
If serial ='526022V' emjbst5 =1.

If serial ='513068Y' emjbedm4 =0.
If serial ='513068Y"' emjbedy4 =0.
If serial ='820025S' emjbedm6 =0.
If serial ='820025S' emjbedy6 =0.
If serial ='385021M' Emjbedm1 =7.
If serial ='385021M' emjbedyl =85.
If serial ='385021M' emjbstm2 =7.
If serial ='385021M' emjbsty2 =85.

If serial ='385021M' emjbedm2 =11.

If serial ='385021M' emjbedy2 =90.
If serial ='385021M' emjbstm3 =1.
If serial ='385021M' emjbsty3 =91.
If serial ='385021M' emjbedm3 =0.
If serial ='385021M' emjbedy3 =O0.
If serial ='465049E' emjbstm2 =2.
If serial ='465049E' emjbsty2 =79.
If serial ='382023Z' Emjbedm1 =8.
If serial ='382023Z' emjbedyl =79.
If serial ='382023Z' emjbstm2 =8.
If serial ='382023Z' emjbsty2 =79.
If serial ='382023Z' emjbedm2 =1.
If serial ='382023Z' emjbedy2 =90.
If serial ='382023Z' emjbstm3 =1.
If serial ='382023Z' emjbsty3 =90.
If serial ='382023Z' emjbedm3 =6.
If serial ='550015L"' Emjbstm1 =9.
If serial ='550015L' emjbstyl =76.
If serial ='550015L' Emjbedm1 =8.
If serial ='550015L"' emjbedyl =77.
If serial ='550015L' emjbstm3 =3.
If serial ='550015L' emjbsty3 =89.
If serial ='550015L' emjbedm3 =0.
If serial ='550015L"' emjbedy3 =0.
If serial ='550015L' emjbst3 =2.

If serial ='550015L' emjbstm4 =-1.
If serial ='550015L"' emjbsty4 =-1.

If serial ='550015L' emjbedm4 =-1.
If serial ='550015L"' emjbedy4 =-1.
If serial ='550015L"' emjbst4 =-1.

If serial ='550015L' emjbem4 =-1.
If serial ='514058A"' emjbedm4 =0.
If serial ='514058A' emjbedy4 =0.
If serial ='821004P' emjbedm6 =0.
If serial ='821004P' emjbedy6 =0.
If serial ='385196Z' Emjbedm1 =3.
If serial ='385196Z' emjbedyl =85.
If serial ='385196Z' emjbstm2 =3.
If serial ='385196Z' emjbsty2 =85.
If serial ='385196Z' emjbedm2 =9.
If serial ='385196Z' emjbedy2 =88.
If serial ='385196Z' emjbstm3 =4.
If serial ='385196Z' emjbsty3 =89.
If serial ='385196Z' emjbedm3 =6.
If serial ='385196Z' emjbedy3 =89.
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If serial ='385196Z' emjbstm5 =-1.
If serial ='385196Z' emjbsty5 =-1.
If serial ='385196Z' emjbedm5 =-1.
If serial ='385196Z' emjbedy5 =-1.
If serial ='385196Z' emjbst5 =-1.

If serial ='385196Z' emjbem5 =-1.
If serial ='385196Z' emjbstm6 =-1.
If serial ='385196Z' emjbsty6 =-1.
If serial ='385196Z' emjbedm6 =-1.
If serial ='385196Z' emjbedy6 =-1.
If serial ='385196Z' emjbst6 =-1.

If serial ='385196Z' emjbem6 =-1.
If serial ='385196Z' emjbstm7 =-1.
If serial ='385196Z' emjbsty7 =-1.
If serial ='385196Z' emjbedm?7 =-1.
If serial ='385196Z' emjbedy7 =-1.
If serial ='385196Z' emjbst7 =-1.

If serial ='385196Z' emjbem7 =-1.
If serial ='511106T' Emjbedm1 =1.
If serial ='511106T' emjbedyl =82.
If serial ='422074M' Emjbedm1 =3.
If serial ='422074M' emjbedyl =76.
If serial ='422074M' emjbstm2 =3.
If serial ='422074M' emjbsty2 =76.
If serial ='422074M' emjbedm2 =8.
If serial ='422074M' emjbedy2 =77.
If serial ='422074M' emjbstm3 =8.
If serial ='422074M' emjbsty3 =77.
If serial ='560045B' emjbsty3 =75.
If serial ='514170U' emjbedm4 =3.
If serial ='514170U' emjbedy4 =89.
If serial ='987004T' emjbsty2 =78.
If serial ='987004T' emjbedm2 =6.
If serial ='987004T' emjbedy2 =82.
If serial ='987004T"' emjbstm3 =6.
If serial ='987004T' emjbsty3 =82.
If serial ='987004T' emjbedm3 =9.
If serial ='987004T' emjbedy3 =90.
If serial ='987004T"' emjbstm4 =9.
If serial ='987004T' emjbsty4 =90.
If serial ='987004T' emjbedm4 =0.
If serial ='987004T' emjbedy4 =O0.
If serial ='987004T"' emjbst4 =2.

If serial ='987004T' emjbem4 =1.
If serial ='987004T' emjbstm5 =-1.
If serial ='987004T"' emjbsty5 =-1.
If serial ='987004T' emjbedm5 =-1.
If serial ='987004T"' emjbedy5 =-1.
If serial ='987004T' emjbst5 =-1.

If serial ='987004T' emjbem5 =-1.
If serial ='987004T' emjbstm6 =-1.
If serial ='987004T' emjbsty6 =-1.
If serial ='987004T' emjbedm6 =-1.
If serial ='987004T' emjbedy6 =-1.
If serial ='987004T"' emjbst6 =-1.

If serial ='987004T' emjbem6 =-1.
If serial ='987004T' emjbstm7 =-1.
If serial ='987004T"' emjbsty7 =-1.
If serial ='987004T' emjbedm7 =-1.
If serial ='987004T' emjbedy7 =-1.
If serial ='987004T' emjbst7 =-1.

If serial ='987004T' emjbem7 =-1.
If serial ='987004T' emjbstm8 =-1.
If serial ='987004T' emjbsty8 =-1.
If serial ='987004T' emjbedm8 =-1.
If serial ='987004T' emjbedy8 =-1.
If serial ='987004T' emjbst8 =-1.

If serial ='987004T' emjbem8 =-1.
If serial ='987004T' emjbstm9 =-1.
If serial ='987004T' emjbsty9 =-1.
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If serial ='987004T' emjbedm9 =-1.
If serial ='987004T' emjbedy9 =-1.
If serial ='987004T' emjbst9 =-1.

If serial ='987004T' emjbem9 =-1.
If serial ='465017R' Emjbedm1 =6.
If serial ='465017R" emjbedyl =77.
If serial ='465017R' emjbstm2 =6.
If serial ='465017R' emjbsty2 =77.
If serial ='465017R' emjbedm2 =10.
If serial ='465017R" emjbedy2 =78.
If serial ='465017R" emjbstm3 =10.
If serial ='465017R' emjbsty3 =78.
If serial ='465017R' emjbedm3 =0.
If serial ='465017R' emjbedy3 =0.
If serial ='465017R' emjbstm4 =-1.
If serial ='465017R' emjbsty4 =-1.

If serial ='465017R' emjbedm4 =-1.
If serial ='465017R' emjbedy4 =-1.
If serial ='465017R' emjbst4 =-1.

If serial ='465017R' emjbem4 =-1.
If serial ='465017R' emjbstm5 =-1.
If serial ='465017R' emjbsty5 =-1.
If serial ='465017R' emjbedm5 =-1.
If serial ='465017R' emjbedy5 =-1.
If serial ='465017R' emjbst5 =-1.

If serial ='465017R' emjbem5 =-1.
If serial ='465017R' emjbstm6 =-1.
If serial ='465017R' emjbsty6 =-1.
If serial ='465017R' emjbedm6 =-1.
If serial ='465017R' emjbedy6 =-1.
If serial ='465017R' emjbst6 =-1.

If serial ='465017R' emjbem6 =-1.
If serial ='465017R' emjbstm7 =-1.
If serial ='465017R' emjbsty7 =-1.
If serial ='465017R' emjbedm7 =-1.
If serial ='465017R' emjbedy7 =-1.
If serial ='465017R' emjbst7 =-1.

If serial ='465017R' emjbem7 =-1.
If serial ='465017R' emjbstm8 =-1.
If serial ='465017R' emjbsty8 =-1.
If serial ='465017R' emjbedm8 =-1.
If serial ='465017R' emjbedy8 =-1.
If serial ='465017R' emjbst8 =-1.

If serial ='465017R' emjbem8 =-1.
If serial ='511117Y' emjbedyl =79.
If serial ='450099N' Emjbedm1 =8.
If serial ='450099N' emjbedy1 =80.
If serial ='450099N' emjbedm2 =11.
If serial ='450099N' emjbedy2 =86.
If serial ='450099N' emjbst2 =1.

If serial ='450099N' emjbem2 =1.

If serial ='450099N' emjbstm3 =5.
If serial ='450099N' emjbsty3 =87.
If serial ='450099N' emjbedm3 =8.
If serial ='450099N' emjbedy3 =88.
If serial ='450099N' emjbst3 =1.

If serial ='450099N' emjbem3 =1.

If serial ='630016H' emjbstyl =75.
If serial ='630016H' Emjbedm1 =10.
If serial ='630016H' emjbedyl =81.
If serial ='630016H' emjbsty2 =82.
If serial ='630016H' emjbedm2 =9.
If serial ='630016H' emjbedy2 =88.
If serial ='630016H' emjbstm3 =9.
If serial ='630016H' emjbsty3 =88.
If serial ='630016H' emjbedm3 =0.
If serial ='630016H' emjbedy3 =0.
If serial ='630016H' emjbst4 =-1.

If serial ='630016H' emjbem4 =-1.
If serial ='630016H' emjbst5 =-1.
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If serial ='630016H' emjbem5 =-1.

If serial ='517213B' Emjbstm1 =1.
If serial ='517213B' emjbstyl =72.
If serial ='517213B' Emjbedm1 =7.
If serial ='517213B' emjbedyl =74.
If serial ='517213B' emjbstm2 =7.
If serial ='517213B' emjbsty2 =74.
If serial ='517213B' emjbedm2 =11.
If serial ='517213B' emjbedy2 =75.
If serial ='517213B' emjbstm3 =11.
If serial ='517213B' emjbsty3 =75.
If serial ='517213B' emjbedm3 =6.
If serial ='517213B' emjbedy3 =77.
If serial ='517213B' emjbstm4 =6.
If serial ='517213B' emjbsty4 =77.

If serial ='517213B' emjbedm4 =5.
If serial ='517213B' emjbedy4 =85.
If serial ='517213B' emjbstm5 =-1.
If serial ='517213B' emjbsty5 =-1.
If serial ='517213B' emjbedm5 =-1.
If serial ='517213B' emjbedy5 =-1.
If serial ='517213B' emjbst5 =-1.

If serial ='517213B' emjbem5 =-1.

If serial ='517213B' emjbstm6 =-1.
If serial ='517213B' emjbsty6 =-1.
If serial ='517213B' emjbedm6 =-1.
If serial ='517213B' emjbedy6 =-1.
If serial ='517213B' emjbst6 =-1.

If serial ='517213B' emjbem6 =-1.
If serial ='517213B' emjbstm7 =-1.
If serial ='517213B' emjbsty7 =-1.
If serial ='517213B' emjbedm7 =-1.
If serial ='517213B' emjbedy7 =-1.
If serial ='517213B' emjbst7 =-1.

If serial ='517213B' emjbem7 =-1.
If serial ='517213B' emjbstm8 =-1.
If serial ='517213B' emjbsty8 =-1.
If serial ='517213B' emjbedm8 =-1.
If serial ='517213B' emjbedy8 =-1.
If serial ='517213B' emjbst8 =-1.

If serial ='517213B' emjbem8 =-1.
If serial ='517213B' emjbstm9 =-1.
If serial ='517213B' emjbsty9 =-1.
If serial ='517213B' emjbedm9 =-1.
If serial ='517213B' emjbedy9 =-1.
If serial ='517213B' emjbst9 =-1.

If serial ='517213B' emjbem9 =-1.
If serial ='517213B' emjbstm10 =-1.
If serial ='517213B' emjbsty10 =-1.
If serial ='517213B' emjbedm10 =-1.
If serial ='517213B' emjbedy10 =-1.
If serial ='517213B' emjbst10 =-1.
If serial ='517213B' emjbem10 =-1.
If serial ='517213B' emjbstm11 =-1.
If serial ='517213B' emjbsty1l =-1.
If serial ='517213B' emjbedm11 =-1.
If serial ='517213B' emjbedy11 =-1.
If serial ='517213B' emjbst1l =-1.
If serial ='517213B' emjbem11 =-1.
If serial ='184009B' emjbstm6 =3.
If serial ="184009B' emjbstm7 =11.
If serial ='184009B' emjbsty7 =90.
If serial ='500133K' Emjbedm1 =4.
If serial ='500133K' emjbedyl =78.
If serial ='500133K"' emjbstm2 =4.
If serial ='500133K"' emjbsty2 =78.
If serial ='500133K' emjbedm?2 =3.
If serial ='500133K"' emjbedy2 =79.
If serial ='500133K' emjbstm3 =3.
If serial ='500133K"' emjbsty3 =79.
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If serial ='500133K' emjbedm3 =10.
If serial ='500133K"' emjbedy3 =79.
If serial ='500133K"' emjbstm4 =10.
If serial ='500133K" emjbsty4 =79.
If serial ='500133K' emjbedm4 =5.
If serial ='500133K"' emjbedy4 =80.
If serial ='500133K"' emjbstm5 =6.
If serial ='500133K' emjbsty5 =80.
If serial ='500133K' emjbedm5 =2.
If serial ='500133K"' emjbedy5 =83.
If serial ='500133K"' emjbstm6 =2.
If serial ='500133K"' emjbsty6 =83.
If serial ='500133K' emjbedm6 =11.
If serial ='500133K"' emjbedy6 =89.
If serial ='500133K"' emjbem6 =2.

If serial ='500133K"' emjbstm7 =11.
If serial ='500133K' emjbsty7 =89.
If serial ='500133K"' emjbedm?7 =0.
If serial ='500133K' emjbedy7 =0.
If serial ='500133K' emjbem7 =2.

If serial ='500133K' emjbstm8 =-1.
If serial ='500133K" emjbsty8 =-1.
If serial ='500133K' emjbedm8 =-1.
If serial ='500133K' emjbedy8 =-1.
If serial ='500133K"' emjbst8 =-1.

If serial ='500133K"' emjbem8 =-1.
If serial ='500133K"' emjbstm9 =-1.
If serial ='500133K"' emjbsty9 =-1.
If serial ='500133K' emjbedm9 =-1.
If serial ='500133K"' emjbedy9 =-1.
If serial ='500133K' emjbst9 =-1.

If serial ='500133K' emjbem9 =-1.
If serial ='500133K"' emjbstm10 =-1.
If serial ='500133K' emjbsty10 =-1.

If serial ='500133K' emjbedm10 =-1.

If serial ='500133K"' emjbedy10 =-1.
If serial ='500133K' emjbst10 =-1.

If serial ='500133K' emjbem10 =-1.
If serial ='500133K' emjbstm11 =-1.
If serial ='500133K' emjbsty11l =-1.

If serial ='500133K' emjbedm11 =-1.

If serial ='500133K' emjbedy11 =-1.
If serial ='500133K' emjbst1l =-1.
If serial ='500133K' emjbem11 =-1.
If serial ='500133K' emjbstm12 =-1.
If serial ='500133K' emjbsty12 =-1.

If serial ='500133K' emjbedm12 =-1.

If serial ='500133K' emjbedy12 =-1.
If serial ='500133K' emjbst12 =-1.
If serial ='500133K' emjbem12 =-1.
If serial ='512024W' Emjbstm1 =7.
If serial ='512024W' emjbstyl =74.
If serial ='512024W' Emjbedm1 =8.
If serial ='512024W' emjbedyl =86.
If serial ='512024W' emjbstm2 =8.
If serial ='512024W' emjbsty2 =86.
If serial ='512024W' emjbedm2 =4.
If serial ='512024W' emjbedy2 =88.
If serial ='483011E' emjbedm?2 =0.
If serial ='483011E' emjbedy2 =0.
If serial ='650133Z' emjbedm?2 =11.
If serial ='650133Z' emjbedy2 =78.
If serial ='610083L' emjbedm4 =0.
If serial ='610083L' emjbedy4 =0.

If serial ='529026V' emjbedy6 =89.
If serial ='500206L' Emjbstm1 =9.
If serial ='500206L"' emjbstyl =74.
If serial ='500206L' Emjbedm1 =12.
If serial ='500206L' emjbedm?2 =9.
If serial ='500206L"' emjbedy2 =75.
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If serial ='512057N' emjbedyl =75.
If serial ='500180U' emjbedm2 =10.
If serial ='500180U" emjbedy2 =82.
If serial ='500180U' emjbem2 =1.

If serial ='500180U" emjbstm3 =10.
If serial ='500180U' emjbsty3 =82.
If serial ='500180U' emjbedm3 =12.
If serial ='500180U" emjbedy3 =82.
If serial ='500180U' emjbst3 =2.

If serial ='500180U' emjbem3 =2.

If serial ='500180U" emjbstm4 =12.
If serial ='500180U' emjbsty4 =82.

If serial ='500180U' emjbedm4 =12.
If serial ='500180U" emjbedy4 =83.
If serial ='500180U' emjbst4 =2.

If serial ='500180U' emjbem4 =1.

If serial ='500180U' emjbstm5 =1.
If serial ='500180U' emjbsty5 =84.
If serial ='500180U' emjbedm5 =8.
If serial ='500180U' emjbedy5 =84.
If serial ='500180U' emjbst5 =2.

If serial ='500180U' emjbstm6 =8.
If serial ='500180U' emjbsty6 =84.
If serial ='500180U' emjbedm6 =9.
If serial ='500180U" emjbedy6 =84.
If serial ='500180U' emjbstm7 =9.
If serial ='500180U' emjbsty7 =84.
If serial ='500180U' emjbedm?7 =7.
If serial ='500180U" emjbedy7 =87.
If serial ='500180U' emjbem7 =2.

If serial ='500180U' emjbstm8 =-1.
If serial ='500180U' emjbsty8 =-1.
If serial ='500180U' emjbedm8 =-1.
If serial ='500180U' emjbedy8 =-1.
If serial ='500180U' emjbst8 =-1.

If serial ='500180U' emjbem8 =-1.
If serial ='500180U' emjbstm9 =-1.
If serial ='500180U' emjbsty9 =-1.
If serial ='500180U' emjbedm9 =-1.
If serial ='500180U' emjbedy9 =-1.
If serial ='500180U' emjbst9 =-1.

If serial ='500180U' emjbem9 =-1.
If serial ='500180U' emjbstm10 =-1.
If serial ='500180U' emjbsty10 =-1.
If serial ='500180U' emjbedm10 =-1.
If serial ='500180U' emjbedy10 =-1.
If serial ='500180U' emjbst10 =-1.
If serial ='500180U' emjbem10 =-1.
If serial ='680043T' emjbedy2 =90.
If serial ='782070Q' emjbedm4 =0.
If serial ='782070Q"' emjbedy4 =0.
If serial ='550141R' emjbsty7 =85.
If serial ='500276J' Emjbedm1 =6.
If serial ='500276J' emjbedyl =79.
If serial ='500276J' emjbstl =2.

If serial ='500276J' emjbem1 =1.

If serial ='500276J' emjbstm2 =-1.
If serial ='500276J' emjbsty2 =-1.

If serial ='500276J' emjbedm?2 =-1.
If serial ='500276J' emjbedy2 =-1.
If serial ='500276J' emjbst2 =-1.

If serial ='500276J' emjbem2 =-1.

If serial ='500276J' emjbstm3 =-1.
If serial ='500276J' emjbsty3 =-1.

If serial ='500276J' emjbedm3 =-1.
If serial ='500276J' emjbedy3 =-1.
If serial ='500276J' emjbst3 =-1.

If serial ='500276J' emjbem3 =-1.

If serial ='517092S' Emjbedm1 =11.
If serial ='517092S' emjbedyl =74.



If serial ='517092S' emjbstm2 =11.
If serial ='517092S' emjbsty3 =76.
If serial ='517092S' emjbedm3 =6.
If serial ='517092S' emjbedy3 =78.
If serial ='517092S' emjbstm4 =6.
If serial ='517092S' emjbsty4 =78.
If serial ='517092S' emjbedm4 =6.
If serial ='517092S' emjbedy4 =79.
If serial ='517092S' emjbst4 =1.

If serial ='517092S' emjbem4 =1.
If serial ='517092S' emjbstm5 =6.
If serial ='517092S' emjbsty5 =79.
If serial ='517092S' emjbedm5 =0.
If serial ='517092S' emjbedy5 =0.
If serial ='517092S' emjbst5 =1.

If serial ='517092S' emjbem5 =1.

If serial ='500183A"' emjbstyl =79.
If serial ='500183A" emjbedyl =79.
If serial ='500183A"' emjbsty2 =79.
If serial ='500183A' emjbedm?2 =9.
If serial ='500183A' emjbedy2 =79.
If serial ='500183A"' emjbstm3 =9.
If serial ='500183A' emjbedm3 =9.
If serial ='500183A"' emjbedy3 =80.
If serial ='500183A"' emjbsty4 =82.
If serial ='500183A' emjbedm4 =5.
If serial ='500183A"' emjbedy4 =83.
If serial ='500183A" emjbstm5 =8.
If serial ='500183A' emjbsty5 =83.
If serial ='500183A' emjbedm5 =1.
If serial ='500183A' emjbedy5 =85.
If serial ='500183A"' emjbstm6 =1.
If serial ='500183A' emjbsty6 =85.

If serial ='500183A' emjbedm6 =12.

If serial ='500183A' emjbstm7 =12.
If serial ='500183A' emjbedm7 =7.
If serial ='500183A"' emjbedy7 =91.
If serial ='500183A' emjbstm8 =7.
If serial ='500183A"' emjbsty8 =91.
If serial ='500183A' emjbedm8 =0.
If serial ='500183A"' emjbedy8 =0.
If serial ='500183A' emjbstm9 =-1.
If serial ='500183A' emjbsty9 =-1.
If serial ='500183A' emjbedm9 =-1.
If serial ='500183A' emjbedy9 =-1.
If serial ='500183A"' emjbst9 =-1.

If serial ='500183A' emjbem9 =-1.
If serial ='783006L"' emjbstyl =78.
If serial ='783006L' Emjbedm1 =2.
If serial ='783006L' emjbedyl =85.
If serial ='783006L"' emjbstm2 =2.
If serial ='783006L"' emjbsty2 =85.
If serial ='783006L' emjbedm2 =5.
If serial ='783006L' emjbedy2 =88.
If serial ='783006L' emjbstm3 =5.
If serial ='783006L' emjbsty3 =88.
If serial ='783006L' emjbedm3 =6.
If serial ='783006L' emjbedy3 =89.
If serial ='783006L"' emjbsty4 =89.
If serial ='783006L' emjbedm4 =0.
If serial ='783006L' emjbedy4 =0.
If serial ='782132L' emjbedm4 =0.
If serial ='782132L"' emjbedy4 =0.
If serial ='110266F' Emjbstm1 =9.
If serial ="110266F' emjbstyl =74.
If serial ='110266F' Emjbedm1 =6.
If serial ='110266F' emjbedyl =76.
If serial ='110266F' emjbstl =1.

If serial ='110266F' emjbstm2 =6.
If serial ='110266F' emjbsty2 =76.
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If serial ='110266F' emjbedm2 =6.
If serial ='110266F' emjbedy2 =78.
If serial ='110266F' emjbst2 =1.

If serial ='110266F' emjbstm3 =6.

If serial ='110266F' emjbsty3 =78.
If serial ='110266F' emjbedm3 =6.
If serial ='110266F' emjbedy3 =79.
If serial ="110266F' emjbst3 =1.

If serial ='110266F' emjbstm4 =6.

If serial ="110266F' emjbsty4 =79.

If serial ='110266F' emjbedm4 =11.

If serial ='110266F' emjbedy4 =79.
If serial ='110266F' emjbstm5 =11.
If serial ='110266F' emjbsty5 =83.
If serial ="110266F' emjbedm5 =7.
If serial ='110266F' emjbedy5 =85.
If serial ="110266F' emjbst5 =2.

If serial ='110266F' emjbstm6 =11.
If serial ='110266F' emjbsty6 =86.
If serial ="110266F' emjbedm6 =1.
If serial ='110266F' emjbedy6 =87.
If serial ="110266F' emjbst6 =2.

If serial ='110266F' emjbstm7 =5.
If serial ="110266F' emjbsty7 =87.
If serial ='110266F' emjbedm7 =0.
If serial ='110266F' emjbedy7 =0.
If serial ='510079N' Emjbedm1 =9.
If serial ='510079N' emjbedyl =87.
If serial ='510079N' emjbstm2 =9.
If serial ='510079N' emjbsty2 =87.
If serial ='510079N' emjbedm?2 =0.
If serial ='510079N' emjbedy2 =0.
If serial ='510079N' emjbst2 =2.

If serial ='510079N' emjbem?2 =1.
If serial ='510079N' emjbstm3 =-1.
If serial ='510079N' emjbsty3 =-1.

If serial ='510079N' emjbedm3 =-1.

If serial ='510079N' emjbedy3 =-1.
If serial ='510079N' emjbst3 =-1.
If serial ='510079N' emjbem3 =-1.
If serial ='510079N' emjbstm4 =-1.
If serial ='510079N' emjbsty4 =-1.

If serial ='510079N' emjbedm4 =-1.

If serial ='510079N' emjbedy4 =-1.
If serial ='510079N' emjbst4 =-1.

If serial ='510079N' emjbem4 =-1.
If serial ='510079N' emjbstm5 =-1.
If serial ='510079N' emjbsty5 =-1.

If serial ='510079N' emjbedm5 =-1.

If serial ='510079N' emjbedy5 =-1.
If serial ='510079N' emjbst5 =-1.
If serial ='510079N' emjbem5 =-1.
If serial ='510079N' emjbstm6 =-1.
If serial ='510079N' emjbsty6 =-1.

If serial ='510079N' emjbedm6 =-1.

If serial ='510079N' emjbedy6 =-1.
If serial ='510079N' emjbst6 =-1.

If serial ='510079N' emjbem6 =-1.

If serial ='550017Q"' emjbsty2 =77.
If serial ='500481K' emjbstm2 =6.

If serial ='500481K' emjbsty2 =75.

If serial ='500481K' emjbedm?2 =9.
If serial ='950105S' emjbsty3 =76.

If serial ='784022P' emjbedm4 =7.
If serial ='784022P' emjbedy4 =82.
If serial ='180011R' emjbedm7 =9.
If serial ='180011R' emjbedy7 =84.
If serial ='180011R' emjbstm8 =9.

If serial ='180011R' emjbsty8 =84.
If serial ='180011R' emjbedy8 =85.
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If serial ='180011R' emjbsty9 =88.
If serial ='180011R' emjbedm9 =0.
If serial ='180011R' emjbedy9 =0.
If serial ="180011R' emjbstm10 =-1.
If serial ='180011R' emjbsty10 =-1.
If serial ='180011R' emjbedm10 =-1.
If serial ='180011R' emjbedy10 =-1.
If serial ="180011R' emjbst10 =-1.
If serial ='180011R' emjbem10 =-1.
If serial ='550501V' Emjbedm1 =11.
If serial ='550501V' emjbedyl =82.
If serial ='550501V' emjbstm2 =11.
If serial ='550501V' emjbsty2 =82.
If serial ='550501V' emjbedm?2 =1.
If serial ='550501V' emjbedy2 =83.
If serial ='550501V' emjbstm3 =1.

If serial ='550501V' emjbsty3 =83.
If serial ='550501V' emjbedm3 =4.
If serial ='550501V' emjbedy3 =88.
If serial ='550501V' emjbstm4 =4.

If serial ='550501V' emjbsty4 =88.

If serial ='550501V' emjbedy4 =89.
If serial ='550501V"' emjbsty5 =89.
If serial ='550501V' emjbedm5 =0.
If serial ='550501V' emjbedy5 =0.

If serial ='550501V"' emjbstm6 =-1.
If serial ='550501V' emjbsty6 =-1.

If serial ='550501V' emjbedm6 =-1.
If serial ='550501V"' emjbedy6 =-1.
If serial ='550501V' emjbst6 =-1.

If serial ='550501V' emjbem6 =-1.
If serial ='583022T' emjbsty2 =78.
If serial ='511129F' emjbedm2 =6.
If serial ='511129F' emjbedy2 =83.
If serial ='982086W' Emjbstm1 =6.
If serial ='982086W' emjbstyl =81.
If serial ='982086W' Emjbedm1 =3.
If serial ='982086W' emjbedyl =83.
If serial ='982086W' emjbstm2 =3.
If serial ='982086W' emjbsty2 =83.
If serial ='982086W' emjbedm2 =11.
If serial ='982086W' emjbedy2 =83.
If serial ='982086W' emjbstm3 =11.
If serial ='982086W' emjbsty3 =83.
If serial ='982086W' emjbedm3 =6.
If serial ='982086W' emjbedy3 =84.
If serial ='982086W' emjbstm4 =7.
If serial ='982086W' emjbsty4 =84.
If serial ='982086W' emjbedm4 =2.
If serial ='982086W' emjbedy4 =85.
If serial ='982086W' emjbstm5 =2.
If serial ='982086W' emjbsty5 =85.
If serial ='982086W' emjbedm5 =9.
If serial ='982086W' emjbedy5 =86.
If serial ='982086W' emjbstm6 =12.
If serial ='982086W' emjbsty6 =86.
If serial ='982086W' emjbedm6 =1.
If serial ='982086W' emjbedy6 =87.
If serial ='982086W' emjbstm7 =3.
If serial ='982086W' emjbsty7 =87.
If serial ='982086W' emjbedm7 =8.
If serial ='982086W' emjbedy7 =88.
If serial ='982086W' emjbsty8 =88.
If serial ='982086W' emjbedy8 =89.
If serial ='982086W' emjbstm9 =1.
If serial ='982086W' emjbsty9 =89.
If serial ='982086W' emjbedm9 =12.
If serial ='982086W' emjbedy9 =89.
If serial ='982086W' emjbstm10 =1.
If serial ='982086W' emjbsty10 =90.
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If serial ='982086W' emjbedm10 =3.
If serial ='982086W' emjbedy10 =90.
If serial ='982086W' emjbstm11 =4.
If serial ='982086W' emjbstyll =90.
If serial ='982086W' emjbedm11 =8.
If serial ='982086W' emjbedy11 =90.
If serial ='982086W' emjbstm12 =8.
If serial ='982086W' emjbedy12 =91.
If serial ='860005M' emjbedm4 =0.
If serial ='860005M' emjbedy4 =0.
If serial ='184081L' emjbedm7 =0.
If serial ='184081L' emjbedy7 =0.

If serial ='620147S' Emjbedm1 =6.
If serial ='620147S' emjbedyl =80.
If serial ='620147S' emjbstl =2.

If serial ='620147S' emjbstm2 =6.

If serial ='620147S' emjbsty2 =80.
If serial ='620147S' emjbedm?2 =0.
If serial ='620147S' emjbedy2 =0.

If serial ='620147S' emjbem2 =2.

If serial ='620147S' emjbstm3 =-1.
If serial ='620147S' emjbsty3 =-1.

If serial ='620147S' emjbedm3 =-1.
If serial ='620147S' emjbedy3 =-1.
If serial ='620147S' emjbst3 =-1.

If serial ='620147S' emjbem3 =-1.
If serial ='620147S' emjbstm4 =-1.
If serial ='620147S' emjbsty4 =-1.

If serial ='620147S' emjbedm4 =-1.
If serial ='620147S' emjbedy4 =-1.
If serial ='620147S' emjbst4 =-1.

If serial ='620147S' emjbem4 =-1.
If serial ='620147S' emjbstm5 =-1.
If serial ='620147S' emjbsty5 =-1.

If serial ='620147S' emjbedm5 =-1.
If serial ='620147S' emjbedy5 =-1.
If serial ='620147S' emjbst5 =-1.

If serial ='620147S' emjbem5 =-1.

If serial ='630051K' emjbsty2 =78.
If serial ='527025H' emjbedm2 =5.
If serial ='527025H' emjbedy2 =83.
If serial ='X60005K' emjbedm2 =7.
If serial ='X60005K"' emjbedy2 =76.
If serial ="X60005K"' emjbedm3 =12.
If serial ='’X60005K"' emjbedy3 =79.
If serial ='883032U' emjbedm4 =0.
If serial ='883032U' emjbedy4 =0.

If serial ='340055B' emjbedy7 =89.
If serial ='630039V' Emjbedm1 =11.
If serial ='630039V' emjbedyl =90.
If serial ='630039V' emjbstm2 =11.
If serial ='630039V' emjbsty2 =90.
If serial ='630039V' emjbedm?2 =9.
If serial ='630039V' emjbedy2 =91.
If serial ='630039V' emjbst2 =2.

If serial ='630039V' emjbstm3 =-1.
If serial ='630039V' emjbsty3 =-1.

If serial ='630039V' emjbedm3 =-1.
If serial ='630039V' emjbedy3 =-1.
If serial ='630039V' emjbst3 =-1.

If serial ='630039V' emjbem3 =-1.

If serial ='630039V' emjbstm4 =-1.
If serial ='630039V' emjbsty4 =-1.

If serial ='630039V' emjbedm4 =-1.
If serial ='630039V' emjbedy4 =-1.
If serial ='630039V' emjbst4 =-1.

If serial ='630039V' emjbem4 =-1.

If serial ='630039V' emjbstm5 =-1.
If serial ='630039V' emjbsty5 =-1.

If serial ='630039V' emjbedm5 =-1.
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If serial ='630039V' emjbedy5 =-1.
If serial ='630039V' emjbst5 =-1.

If serial ='630039V' emjbem5 =-1.
If serial ='630065W' emjbsty2 =82.
If serial ='630065W' emjbsty12 =.
If serial ='630065W' emjbedm12 =.

If serial ='550135W' emjbedm2 =10.

If serial ='550135W' emjbedy2 =81.
If serial ='550135W' emjbst2 =2.

If serial ='550135W' emjbstm3 =10.
If serial ='550135W' emjbsty3 =81.
If serial ='550135W' emjbedm3 =4.
If serial ='550135W' emjbedy3 =90.
If serial ='550135W' emjbst3 =2.

If serial ='550135W' emjbstm4 =4,
If serial ='550135W' emjbsty4 =90.
If serial ='550135W' emjbedm4 =8.
If serial ='550135W' emjbedy4 =90.
If serial ='550135W' emjbst4 =2.

If serial ='550135W' emjbem4 =1.
If serial ='550135W' emjbstm5 =-1.
If serial ='550135W' emjbsty5 =-1.
If serial ='550135W' emjbedm5 =-1.
If serial ='550135W' emjbedy5 =-1.
If serial ='550135W' emjbst5 =-1.

If serial ='550135W' emjbem5 =-1.
If serial ='550135W' emjbstm6 =-1.
If serial ='550135W' emjbsty6 =-1.
If serial ='550135W' emjbedm6 =-1.
If serial ='550135W' emjbedy6 =-1.
If serial ='550135W' emjbst6 =-1.

If serial ='550135W' emjbem6 =-1.
If serial ='550135W' emjbstm7 =-1.
If serial ='550135W' emjbsty7 =-1.
If serial ='550135W' emjbedm7 =-1.
If serial ='550135W' emjbedy7 =-1.
If serial ='550135W' emjbst7 =-1.

If serial ='550135W' emjbem7 =-1.
If serial ='550135W' emjbstm8 =-1.
If serial ='550135W' emjbsty8 =-1.
If serial ='550135W' emjbedm8 =-1.
If serial ='550135W' emjbedy8 =-1.
If serial ='550135W' emjbst8 =-1.

If serial ='550135W' emjbem8 =-1.
If serial ='550135W' emjbstm9 =-1.
If serial ='550135W' emjbsty9 =-1.
If serial ='550135W' emjbedm9 =-1.
If serial ='550135W' emjbedy9 =-1.
If serial ='550135W' emjbst9 =-1.

If serial ='550135W' emjbem9 =-1.
If serial ='X67018H' Emjbstm1 =3.
If serial ='’X67018H' emjbstyl =76.
If serial ='X67018H' Emjbedm1 =8.
If serial ='X67018H' emjbedyl =76.
If serial ='X67018H' emjbsty2 =76.
If serial ='X67018H' emjbedm2 =7.
If serial ='X67018H' emjbedy2 =78.
If serial ='X67018H' emjbsty3 =78.
If serial ='X67018H' emjbedm3 =1.
If serial ='X67018H' emjbedy3 =89.
If serial ='X67018H' emjbstm4 =1.
If serial ='X67018H' emjbsty4 =91.
If serial ='X67018H' emjbedm4 =0.
If serial ='’X67018H' emjbedy4 =0.
If serial ='984040F' emjbedm4 =5.
If serial ='984040F' emjbedy4 =90.
If serial ='350076S' emjbedm7 =0.
If serial ='350076S' emjbedy7 =0.
If serial ='630052M' Emjbedm1 =6.
If serial ='630052M' emjbedyl =87.
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If serial ='630052M' emjbstm2 =-1.
If serial ='630052M' emjbsty2 =-1.
If serial ='630052M' emjbedm2 =-1.
If serial ='630052M' emjbedy2 =-1.
If serial ='630052M' emjbst2 =-1.

If serial ='630052M' emjbem?2 =-1.
If serial ='630052M' emjbstm3 =-1.
If serial ='630052M' emjbsty3 =-1.
If serial ='630052M' emjbedm3 =-1.
If serial ='630052M' emjbedy3 =-1.
If serial ='630052M' emjbst3 =-1.

If serial ='630052M' emjbem3 =-1.
If serial ='640001Z' Emjbstm1 =7.
If serial ='640001Z' emjbstyl =74.
If serial ='640001Z' Emjbedm1 =9.
If serial ='640001Z' emjbedyl =76.
If serial ='640001Z' emjbstm2 =9.
If serial ='640001Z' emjbsty2 =76.
If serial ='640001Z' emjbedm2 =9.
If serial ='640001Z' emjbedy2 =79.
If serial ='640001Z' emjbstm4 =10.
If serial ='640001Z"' emjbsty4 =80.
If serial ='640001Z' emjbedm4 =1.
If serial ='640001Z' emjbedy4 =81.
If serial ='640001Z' emjbstm5 =3.
If serial ='640001Z' emjbsty5 =84.
If serial ='640001Z' emjbedm5 =3.
If serial ='640001Z' emjbedy5 =86.
If serial ='550299D' emjbedm2 =6.
If serial ='550299D' emjbedy2 =79.
If serial ='550299D' emjbst2 =2.

If serial ='550299D' emjbstm3 =-1.
If serial ='550299D' emjbsty3 =-1.
If serial ='550299D' emjbedm3 =-1.
If serial ='550299D' emjbedy3 =-1.
If serial ='550299D' emjbst3 =-1.

If serial ='550299D' emjbem3 =-1.
If serial ='550299D' emjbstm4 =-1.
If serial ='550299D' emjbsty4 =-1.

If serial ='550299D' emjbedm4 =-1.
If serial ='550299D' emjbedy4 =-1.
If serial ='550299D' emjbst4 =-1.

If serial ='550299D' emjbem4 =-1.
If serial ='X77021B' emjbedm?2 =8.
If serial ='X77021B' emjbedy2 =77.
If serial ='X77021B' emjbsty3 =78.
If serial ='986374Y' emjbedm4 =10.
If serial ='986374Y"' emjbedy4 =90.
If serial ='423041A" emjbedm7 =0.
If serial ='423041A' emjbedy7 =0.
If serial ='730130N' Emjbstm1 =6.
If serial ='730130N' Emjbedm1 =11.
If serial ='730130N' emjbedyl =78.
If serial ='730130N' emjbstm2 =11.
If serial ='730130N' emjbsty2 =78.
If serial ='730130N' emjbedm2 =0.
If serial ='730130N' emjbedy2 =0.
If serial ='730130N' emjbst2 =1.

If serial ='730130N' emjbem?2 =1.

If serial ='730130N' emjbstm4 =-1.
If serial ='730130N' emjbsty4 =-1.

If serial ='730130N' emjbedm4 =-1.
If serial ='730130N' emjbedy4 =-1.
If serial ='730130N' emjbst4 =-1.

If serial ='730130N' emjbem4 =-1.
If serial ='730130N' emjbstm5 =-1.
If serial ='730130N' emjbsty5 =-1.
If serial ='730130N' emjbedm5 =-1.
If serial ='730130N' emjbedy5 =-1.
If serial ='730130N' emjbst5 =-1.
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If serial ='730130N' emjbem5 =-1.
If serial ='730130N' emjbstm6 =-1.
If serial ='730130N' emjbsty6 =-1.
If serial ='730130N' emjbedm6 =-1.
If serial ='730130N' emjbedy6 =-1.
If serial ='730130N' emjbst6 =-1.

If serial ='730130N' emjbem6 =-1.
If serial ='730130N' emjbstm7 =-1.
If serial ='730130N' emjbsty7 =-1.
If serial ='730130N' emjbedm7 =-1.
If serial ='730130N' emjbedy7 =-1.
If serial ='730130N' emjbst7 =-1.

If serial ='730130N' emjbem7 =-1.
If serial ='730130N' emjbstm8 =-1.
If serial ='730130N' emjbsty8 =-1.
If serial ='730130N' emjbedm8 =-1.
If serial ='730130N' emjbedy8 =-1.
If serial ='730130N' emjbst8 =-1.

If serial ='730130N' emjbem8 =-1.
If serial ='730130N' emjbstm9 =-1.
If serial ='730130N' emjbsty9 =-1.
If serial ='730130N' emjbedm9 =-1.
If serial ='730130N' emjbedy9 =-1.
If serial ='730130N' emjbst9 =-1.

If serial ='730130N' emjbem9 =-1.
If serial ='682007Z' emjbstm2 =8.
If serial ='682007Z' emjbsty2 =78.
If serial ='640040L' emjbedm?2 =5.
If serial ='640040L' emjbedy2 =85.
If serial ='640040L"' emjbst2 =1.

If serial ='640040L' emjbem2 =1.

If serial ='640040L"' emjbstm3 =5.
If serial ='640040L' emjbsty3 =85.
If serial ='640040L' emjbedm3 =0.
If serial ='640040L' emjbedy3 =0.
If serial ='640040L"' emjbst3 =1.

If serial ='640040L' emjbem3 =1.

If serial ='640040L' emjbstm4 =-1.
If serial ='640040L' emjbsty4 =-1.

If serial ='640040L' emjbedm4 =-1.
If serial ='640040L' emjbedy4 =-1.
If serial ='640040L' emjbst4 =-1.

If serial ='640040L' emjbem4 =-1.
If serial ='640040L' emjbstm5 =-1.
If serial ='640040L"' emjbsty5 =-1.
If serial ='640040L' emjbedm5 =-1.
If serial ='640040L' emjbedy5 =-1.
If serial ='640040L' emjbst5 =-1.

If serial ='640040L' emjbem5 =-1.
If serial ='640040L' emjbstm6 =-1.
If serial ='640040L' emjbsty6 =-1.
If serial ='640040L' emjbedm6 =-1.
If serial ='640040L' emjbedy6 =-1.
If serial ='640040L' emjbst6 =-1.

If serial ='640040L' emjbem6 =-1.
If serial ='640040L' emjbstm7 =-1.
If serial ='640040L' emjbsty7 =-1.
If serial ='640040L' emjbedm7 =-1.
If serial ='640040L' emjbedy7 =-1.
If serial ='640040L' emjbst7 =-1.

If serial ='640040L' emjbem7 =-1.
If serial ='640040L' emjbstm8 =-1.
If serial ='640040L"' emjbsty8 =-1.
If serial ='640040L' emjbedm8 =-1.
If serial ='640040L' emjbedy8 =-1.
If serial ='640040L"' emjbst8 =-1.

If serial ='640040L' emjbem8 =-1.
If serial ='640040L' emjbstm9 =-1.
If serial ='640040L' emjbsty9 =-1.
If serial ='640040L' emjbedm9 =-1.
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If serial ='640040L' emjbedy9 =-1.
If serial ='640040L' emjbst9 =-1.

If serial ='640040L' emjbem9 =-1.
If serial ='X78056C' emjbstm3 =2.
If serial ='’X78056C' emjbsty3 =75.
If serial ='X40037L' emjbedm4 =0.
If serial ='X40037L' emjbedy4 =0.
If serial ='500364E' emjbedm7 =0.
If serial ='500364E' emjbedy7 =0.
If serial ='740025X' Emjbedm1 =8.
If serial ='740025X"' emjbedyl =74.
If serial ='740025X' emjbstm2 =8.
If serial ='740025X' emjbsty2 =74.
If serial ='740025X' emjbedm?2 =5.
If serial ='740025X' emjbedy2 =79.
If serial ='740025X"' emjbst2 =1.

If serial ='740025X' emjbem2 =1.
If serial ='740025X' emjbstm3 =5.
If serial ='740025X"' emjbsty3 =79.
If serial ='740025X' emjbedm3 =12.
If serial ='740025X' emjbedy3 =83.
If serial ='740025X' emjbst3 =1.

If serial ='740025X"' emjbstm4 =1.
If serial ='740025X' emjbsty4 =84.
If serial ='740025X' emjbedm4 =4.
If serial ='740025X' emjbedy4 =86.
If serial ='740025X" emjbst4 =1.

If serial ='740025X" emjbstm5 =5.
If serial ='740025X' emjbsty5 =86.
If serial ='740025X' emjbedm5 =0.
If serial ='740025X' emjbedy5 =0.
If serial ='740025X' emjbstm6 =-1.
If serial ='740025X' emjbsty6 =-1.
If serial ='740025X' emjbedm6 =-1.
If serial ='740025X' emjbedy6 =-1.
If serial ='740025X"' emjbst6 =-1.

If serial ='740025X' emjbem6 =-1.
If serial ='740025X' emjbstm7 =-1.
If serial ='740025X' emjbsty7 =-1.
If serial ='740025X' emjbedm7 =-1.
If serial ='740025X' emjbedy7 =-1.
If serial ='740025X' emjbst7 =-1.

If serial ='740025X' emjbem7 =-1.
If serial ='740025X' emjbstm8 =-1.
If serial ='740025X"' emjbsty8 =-1.
If serial ='740025X' emjbedm8 =-1.
If serial ='740025X' emjbedy8 =-1.
If serial ='740025X' emjbst8 =-1.

If serial ='740025X' emjbem8 =-1.
If serial ='781026F Emjbedm1 =8.
If serial ='781026F' emjbedyl =77.
If serial ='781026F' emjbedm2 =4.
If serial ='781026F' emjbedy2 =79.
If serial ='680039C' emjbsty2 =79.
If serial ='680039C' emjbedm?2 =7.
If serial ='680039C' emjbedy2 =82.
If serial ='680039C' emjbstm3 =-1.
If serial ='680039C' emjbsty3 =-1.
If serial ='680039C' emjbedm3 =-1.
If serial ='680039C' emjbedy3 =-1.
If serial ='680039C' emjbst3 =-1.

If serial ='680039C' emjbem3 =-1.
If serial ='Y31020Z' emjbstm3 =8.
If serial ='Y31020Z' emjbsty3 =78.
If serial ='X82490U' emjbedm4 =0.
If serial ='X82490U' emjbedy4 =0.
If serial ='510178Q"' emjbedm7 =0.
If serial ='510178Q"' emjbedy7 =0.
If serial ='823506A" emjbstyl =-1.
If serial ='823506A"' emjbstl =-1.

64



If serial ='823506A' emjbem1 =-1.
If serial ='823506A"' emjbst2 =-1.

If serial ='823506A' emjbem2 =-1.
If serial ='782039W' Emjbstm1 =3.
If serial ='782039W' emjbstyl =77.
If serial ='782039W' Emjbedm1 =8.
If serial ='782039W' emjbedyl =77.
If serial ='782039W' emjbstm2 =8.
If serial ='782039W' emjbsty2 =77.
If serial ='782039W' emjbedm2 =12.
If serial ='782039W' emjbedy2 =77.
If serial ='782039W' emjbst2 =1.

If serial ='782039W' emjbem2 =3.
If serial ='782039W' emjbstm3 =12.
If serial ='782039W' emjbsty3 =77.
If serial ='782039W' emjbedm3 =1.
If serial ='782039W' emjbedy3 =78.
If serial ='782039W' emjbst3 =1.

If serial ='782039W' emjbem3 =1.
If serial ='782039W' emjbstm4 =1.
If serial ='782039W' emjbsty4 =78.
If serial ='782039W' emjbedm4 =7.
If serial ='782039W' emjbedy4 =78.
If serial ='782039W' emjbstm5 =9.
If serial ='782039W' emjbsty5 =78.
If serial ='782039W' emjbedm5 =7.
If serial ='782039W' emjbedy5 =79.
If serial ='782039W' emjbem5 =3.

If serial ='782039W' emjbstm6 =8.
If serial ='782039W' emjbsty6 =79.
If serial ='782039W' emjbedm6 =11.
If serial ='782039W' emjbedy6 =79.
If serial ='782039W' emjbstm7 =11.
If serial ='782039W' emjbsty7 =79.
If serial ='782039W' emjbedm7 =5.
If serial ='782039W' emjbedy7 =82.
If serial ='782039W' emjbstm8 =5.
If serial ='782039W' emjbsty8 =82.
If serial ='782039W' emjbedm8 =6.
If serial ='782039W' emjbedy8 =85.
If serial ='782039W' emjbstm9 =6.
If serial ='782039W' emjbsty9 =85.
If serial ='782039W' emjbedm9 =3.
If serial ='782039W' emjbedy9 =87.
If serial ='782039W' emjbst9 =2.

If serial ='782039W' emjbstm10 =3.
If serial ='782039W' emjbsty10 =87.
If serial ='782039W' emjbedm10 =1.

If serial ='782039W' emjbedy10 =89.

If serial ='782039W' emjbstm11 =1.
If serial ='782039W' emjbsty11l =89.
If serial ='782039W' emjbedm11 =2.

If serial ='782039W' emjbedy11 =90.

If serial ='782039W' emjbstm12 =2.
If serial ='782039W' emjbsty12 =90.
If serial ='782039W' emjbedm12 =6.

If serial ='782039W' emjbedy12 =90.

If serial ='684031H' Emjbedm1 =1.
If serial ='684031H' emjbedm2 =12.
If serial ='684031H' emjbedy2 =87.
If serial ='684031H' emjbstm3 =12.
If serial ='684031H' emjbsty3 =87.
If serial ='684031H' emjbedm3 =2.
If serial ='684031H' emjbedy3 =88.
If serial ='684031H' emjbstm4 =2.
If serial ='684031H' emjbsty4 =88.
If serial ='684031H' emjbedm4 =4.
If serial ='684031H' emjbedy4 =88.
If serial ='684031H' emjbstm5 =4.
If serial ='684031H' emjbsty5 =88.
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If serial ='684031H' emjbedm5 =6.
If serial ='684031H' emjbedy5 =88.
If serial ='684031H' emjbstm6 =6.

If serial ='684031H' emjbsty6 =88.
If serial ='684031H' emjbedm6 =12.
If serial ='684031H' emjbedy6 =89.
If serial ='684031H' emjbstm7 =1.

If serial ='684031H' emjbsty7 =90.
If serial ='684031H' emjbedm7 =12.
If serial ='684031H' emjbedy7 =90.
If serial ='684031H' emjbstm8 =1.

If serial ='684031H' emjbsty8 =91.
If serial ='684031H' emjbedm8 =2.
If serial ='684031H' emjbedy8 =91.
If serial ='684031H' emjbstm9 =2.

If serial ='684031H' emjbsty9 =91.
If serial ='684031H' emjbedm9 =6.
If serial ='684031H' emjbedy9 =91.
If serial ='684031H' emjbstm10 =-1.
If serial ='684031H' emjbsty10 =-1.
If serial ='684031H' emjbedm10 =-1.
If serial ='684031H' emjbedy10 =-1.
If serial ='684031H' emjbst10 =-1.
If serial ='684031H' emjbem10 =-1.
If serial ='684031H' emjbstm11 =-1.
If serial ='684031H' emjbsty11 =-1.
If serial ='684031H' emjbedm1l =-1.
If serial ='684031H' emjbedy11l =-1.
If serial ='684031H' emjbst1l =-1.
If serial ='684031H' emjbem11 =-1.
If serial ='684031H' emjbstm12 =-1.
If serial ='684031H' emjbsty12 =-1.
If serial ='684031H' emjbedm12 =-1.
If serial ='684031H' emjbedy12 =-1.
If serial ='684031H' emjbst12 =-1.
If serial ='684031H' emjbem12 =-1.
If serial ='120122M' emjbedm3 =0.
If serial ='120122M' emjbedy3 =0.
If serial ='X87024Q"' emjbedm4 =0.
If serial ='X87024Q' emjbedy4 =0.
If serial ='516023R' emjbedm7 =0.
If serial ='516023R' emjbedy7 =0.

If serial ='883033W' Emjbedm1 =7.
If serial ='883033W' emjbedyl =90.
If serial ='883033W' emjbstm2 =7.
If serial ='883033W' emjbsty2 =90.
If serial ='883033W' emjbedm2 =0.
If serial ='883033W' emjbedy2 =0.
If serial ='883033W' emjbstm4 =-1.
If serial ='883033W' emjbsty4 =-1.

If serial ='883033W' emjbedm4 =-1.
If serial ='883033W' emjbedy4 =-1.
If serial ='883033W' emjbst4 =-1.

If serial ='883033W' emjbem4 =-1.
If serial ='883033W' emjbstm5 =-1.
If serial ='883033W' emjbsty5 =-1.
If serial ='883033W' emjbedm5 =-1.
If serial ='883033W' emjbedy5 =-1.
If serial ='883033W' emjbst5 =-1.

If serial ='883033W' emjbem5 =-1.

If serial ='883033W' emjbstm6 =-1.
If serial ='883033W' emjbsty6 =-1.
If serial ='883033W' emjbedm6 =-1.
If serial ='883033W' emjbedy6 =-1.
If serial ='883033W' emjbst6 =-1.

If serial ='883033W' emjbem6 =-1.
If serial ='986354S' emjbstm2 =9.

If serial ='986354S' emjbsty2 =78.
If serial ='986354S' emjbstm3 =10.
If serial ='986354S' emjbsty3 =81.

66



If serial ='986354S' emjbedm3 =9.

If serial ='986354S' emjbedy3 =90.

If serial ='986354S' emjbstm4 =9.
If serial ='986354S' emjbsty4 =90.
If serial ='986354S' emjbedm4 =0.
If serial ='986354S' emjbedy4 =0.
If serial ='986354S' emjbst4 =2.

If serial ='986354S' emjbem4 =1.

If serial ='815051P' emjbstm2 =5.
If serial ='815051P"' emjbsty2 =83.
If serial ='815051P' emjbedm2 =2.

If serial ='815051P' emjbedy2 =90.

If serial ='815051P' emjbstm3 =-1.
If serial ='815051P' emjbsty3 =-1.
If serial ='815051P' emjbst3 =-1.

If serial ='815051P' emjbem3 =-1.
If serial ='200004Z' emjbedm3 =0.
If serial ='200004Z' emjbedy3 =0.

If serial ='047025H' emjbedy4 =88.

If serial ='047025H' emjbsty5 =89.
If serial ='550285S' emjbedm7 =0.
If serial ='550285S' emjbedy7 =0.

If serial ='910051U' Emjbedm1 =2.

If serial ='910051U' emjbedyl =78.

If serial ='910051U' emjbstm2 =2.
If serial ='910051U' emjbsty2 =78.
If serial ='910051U' emjbedm2 =8.

If serial ='910051U" emjbedy2 =86.

If serial ='910051U' emjbstm3 =8.
If serial ='910051U' emjbsty3 =86.
If serial ='910051U' emjbedm3 =0.
If serial ='910051U' emjbedy3 =0.
If serial ='910051U' emjbstm4 =-1.
If serial ='910051U' emjbsty4 =-1.

If serial ='910051U' emjbedm4 =-1.

If serial ='910051U' emjbedy4 =-1.
If serial ='910051U' emjbst4 =-1.

If serial ='910051U' emjbem4 =-1.
If serial ='910051U' emjbstm5 =-1.
If serial ='910051U' emjbsty5 =-1.

If serial ='910051U' emjbedm5 =-1.

If serial ='910051U' emjbedy5 =-1.
If serial ='910051U' emjbst5 =-1.
If serial ='910051U' emjbem5 =-1.
If serial ='910051U' emjbstm6 =-1.
If serial ='910051U' emjbsty6 =-1.

If serial ='910051U' emjbedm6 =-1.

If serial ='910051U' emjbedy6 =-1.
If serial ='910051U' emjbst6 =-1.

If serial ='910051U' emjbem6 =-1.

If serial ='986446X' Emjpbedm1 =9.
If serial ='986446X' emjbedyl =77.
If serial ='910006P' emjbstm2 =10.
If serial ='910006P' emjbsty2 =79.
If serial ='200015E' emjbedm3 =0.
If serial ='200015E' emjbedy3 =0.

If serial ='110175C' emjbstm5 =6.

If serial ="110175C' emjbsty5 =86.
If serial ='720059C' emjbedm7 =5.

If serial ='720059C' emjbedy7 =90.

If serial ='920042Z' Emjbedm1 =7.
If serial ='920042Z' emjbedyl =90.
If serial ='920042Z' emjbstm2 =7.
If serial ='920042Z' emjbsty2 =90.
If serial ='920042Z' emjbedm2 =0.
If serial ='920042Z' emjbedy2 =0.
If serial ='920042Z' emjbstm4 =-1.
If serial ='920042Z' emjbsty4 =-1.

If serial ='920042Z' emjbedm4 =-1.

If serial ='920042Z' emjbedy4 =-1.
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If serial ='920042Z' emjbst4 =-1.

If serial ='920042Z' emjbem4 =-1.

If serial ='X78101E' Emjbedm1 =9.
If serial ='X78101E' emjbedyl =76.
If serial ='950043W' emjbedm?2 =6.
If serial ='950043W' emjbedy2 =77.
If serial ='280055V' emjbedm3 =0.
If serial ='280055V' emjbedy3 =0.

If serial ='187017S' emjbsty5 =86.
If serial ='781071M' emjbedm7 =4.
If serial ='781071M' emjbedy7 =84.
If serial ='937009W' Emjbedm1 =6.
If serial ='937009W' emjbedyl =79.
If serial ='937009W' emjbstm2 =6.
If serial ='937009W' emjbsty2 =79.
If serial ='937009W' emjbedm2 =7.
If serial ='937009W' emjbedy2 =87.
If serial ='937009W' emjbstm3 =7.
If serial ='937009W' emjbsty3 =87.
If serial ='937009W' emjbedm3 =7.
If serial ='937009W' emjbedy3 =89.
If serial ='937009W' emjbstm4 =7.
If serial ='937009W' emjbsty4 =89.
If serial ='937009W' emjbedm4 =12.
If serial ='937009W' emjbedy4 =90.
If serial ='937009W' emjbst4 =1.

If serial ='937009W' emjbem4 =1.

If serial ='937009W' emjbstm5 =12.
If serial ='937009W' emjbsty5 =90.
If serial ='937009W' emjbedm5 =0.
If serial ='937009W' emjbedy5 =0.
If serial ='937009W' emjbst5 =1.

If serial ='937009W' emjbem5 =1.

If serial ='937009W' emjbstm6 =-1.
If serial ='937009W' emjbsty6 =-1.
If serial ='937009W' emjbedm6 =-1.
If serial ='937009W' emjbedy6 =-1.
If serial ='937009W' emjbst6 =-1.

If serial ='937009W' emjbem6 =-1.
If serial ='937009W' emjbstm7 =-1.
If serial ='937009W' emjbsty7 =-1.
If serial ='937009W' emjbedm7 =-1.
If serial ='937009W' emjbedy7 =-1.
If serial ='937009W' emjbst7 =-1.

If serial ='937009W' emjbem7 =-1.
If serial ='937009W' emjbstm8 =-1.
If serial ='937009W' emjbsty8 =-1.
If serial ='937009W' emjbedm8 =-1.
If serial ='937009W' emjbedy8 =-1.
If serial ='937009W' emjbst8 =-1.

If serial ='937009W' emjbem8 =-1.
If serial ='937009W' emjbstm9 =-1.
If serial ='937009W' emjbsty9 =-1.
If serial ='937009W' emjbedm9 =-1.
If serial ='937009W' emjbedy9 =-1.
If serial ='937009W' emjbst9 =-1.

If serial ='937009W' emjbem9 =-1.
If serial ='937009W' emjbstm10 =-1.
If serial ='937009W' emjbsty10 =-1.
If serial ='937009W' emjbedm10 =-1.
If serial ='937009W' emjbedy10 =-1.
If serial ='937009W' emjbst10 =-1.
If serial ='937009W' emjbem10 =-1.
If serial ='’X81008K' Emjbedm1 =4.
If serial ='X81008K' emjbedyl =86.
If serial ='950048H' emjbedm2 =0.
If serial ='950048H' emjbedy2 =0.

If serial ='950048H' emjbstm3 =-1.
If serial ='950048H' emjbst3 =-1.

If serial ='950048H' emjbem3 =-1.
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If serial ='282014R' emjbedm3 =0.
If serial ='282014R' emjbedy3 =0.
If serial ='229006R' emjbedy4 =89.
If serial ='229006R’' emjbsty5 =89.
If serial ='950076N' emjbedm7 =12.
If serial ='950076N' emjbedy7 =89.
If serial ='982059T' Emjbedm1 =9.
If serial ='982059T' emjbedyl =78.
If serial ='982059T"' emjbstm2 =9.
If serial ='982059T"' emjbsty2 =78.
If serial ='982059T' emjbedm2 =9.
If serial ='982059T' emjbedy2 =82.
If serial ='982059T"' emjbstm3 =9.
If serial ='982059T"' emjbsty3 =82.
If serial ='982059T' emjbedm3 =11.
If serial ='982059T' emjbedy3 =82.
If serial ='982059T' emjbst3 =1.

If serial ='982059T"' emjbstm4 =11.
If serial ='982059T' emjbsty4 =82.

If serial ='982059T' emjbedm4 =11.
If serial ='982059T"' emjbedy4 =84.
If serial ='982059T"' emjbst4 =1.

If serial ='982059T' emjbem4 =1.

If serial ='982059T"' emjbstm5 =11.
If serial ='982059T' emjbsty5 =84.
If serial ='982059T' emjbedm5 =12.
If serial ='982059T' emjbedy5 =84.
If serial ='982059T' emjbstm6 =12.
If serial ='982059T' emjbsty6 =84.
If serial ='982059T"' emjbedm6 =0.
If serial ='982059T"' emjbedy6 =O0.
If serial ='982059T' emjbstm7 =-1.
If serial ='982059T" emjbsty7 =-1.
If serial ='982059T' emjbedm7 =-1.
If serial ='982059T' emjbedy7 =-1.
If serial ='982059T"' emjbst7 =-1.

If serial ='982059T' emjbem7 =-1.
If serial ='982059T' emjbstm8 =-1.
If serial ='982059T" emjbsty8 =-1.
If serial ='982059T' emjbedm8 =-1.
If serial ='982059T' emjbedy8 =-1.
If serial ='982059T"' emjbst8 =-1.

If serial ='982059T' emjbem8 =-1.
If serial ='982059T' emjbstm9 =-1.
If serial ='982059T"' emjbsty9 =-1.
If serial ='982059T' emjbedm9 =-1.
If serial ='982059T' emjbedy9 =-1.
If serial ='982059T' emjbst9 =-1.

If serial ='982059T' emjbem9 =-1.
If serial ='982059T"' emjbstm10 =-1.
If serial ='982059T' emjbsty10 =-1.
If serial ='982059T' emjbedm10 =-1.
If serial ='982059T"' emjbedy10 =-1.
If serial ='982059T" emjbst10 =-1.
If serial ='982059T' emjbem10 =-1.
If serial ='’X83005P' Emjbedm1 =8.
If serial ='X83005P' emjbedyl =77.
If serial ='X83005P' emjbstm2 =8.
If serial ='’X83005P"' emjbsty2 =77.
If serial ='X83005P' emjbedm?2 =8.
If serial ='X83005P' emjbedy2 =78.
If serial ='X83005P' emjbsty3 =78.
If serial ='X83005P' emjbedm3 =6.
If serial ='X83005P"' emjbedy3 =80.
If serial ='X83005P' emjbstm4 =3.
If serial ='X83005P"' emjbsty4 =84.
If serial ='X83005P' emjbedm4 =9.
If serial ='X83005P"' emjbedy4 =84.
If serial ='X83005P' emjbstm5 =10.
If serial ='’X83005P"' emjbsty5 =85.
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If serial ='X83005P' emjbedm5 =5.
If serial ='’X83005P' emjbedy5 =91.
If serial ='X83005P' emjbst5 =1.

If serial ='’X83005P' emjbem5 =1.

If serial ='950122S' emjbedm?2 =0.
If serial ='950122S' emjbedy2 =0.

If serial ='284001S' emjbedm?2 =10.

If serial ='284001S' emjbedy2 =77.
If serial ='284001S' emjbstm3 =2.
If serial ='284001S' emjbedm3 =0.
If serial ='284001S' emjbedy3 =0.
If serial ='284001S' emjbstm4 =-1.
If serial ='284001S' emjbsty4 =-1.
If serial ='284001S' emjbedm4 =-1.
If serial ='284001S' emjbedy4 =-1.
If serial ='284001S' emjbst4 =-1.

If serial ='284001S' emjbem4 =-1.
If serial ='284022A" Emjbstm1 =9.
If serial ='284022A" emjbstyl =79.
If serial ='284022A' Emjbedm1 =5.
If serial ='284022A" emjbedyl =80.
If serial ='284022A" emjbstl =1.

If serial ='284022A" emjbstm2 =5.
If serial ='284022A" emjbsty2 =80.
If serial ='284022A' emjbedm?2 =9.
If serial ='284022A" emjbedy2 =80.
If serial ='284022A"' emjbst2 =1.

If serial ='284022A" emjbem2 =3.
If serial ='284022A" emjbstm3 =9.
If serial ='284022A" emjbsty3 =80.
If serial ='284022A' emjbedm3 =5.
If serial ='284022A" emjbedy3 =81.
If serial ='284022A" emjbst3 =1.

If serial ='284022A" emjbstm4 =5.
If serial ='284022A" emjbsty4 =81.
If serial ='284022A' emjbedm4 =8.
If serial ='284022A' emjbedy4 =82.
If serial ='284022A" emjbstm5 =9.
If serial ='284022A" emjbsty5 =82.
If serial ='284022A' emjbedm5 =1.
If serial ='284022A' emjbedy5 =85.
If serial ='284022A" emjbst5 =2.

If serial ='284022A" emjbstm6 =4.
If serial ='284022A" emjbsty6 =87.
If serial ='284022A' emjbedm6 =8.
If serial ='284022A"' emjbedy6 =87.
If serial ='284022A" emjbst6 =2.

If serial ='284022A" emjbstm7 =8.
If serial ='284022A" emjbsty7 =87.

If serial ='284022A"' emjbedm7 =10.

If serial ='284022A" emjbedy7 =87.
If serial ='284022A"' emjbst7 =2.

If serial ='284022A" emjbstm8 =10.
If serial ='284022A" emjbsty8 =87.

If serial ='284022A' emjbedm8 =10.

If serial ='284022A' emjbedy8 =88.
If serial ='284022A" emjbst8 =2.

If serial ='481030Y"' emjbedy7 =79.
If serial ='982103T' Emjbedm1 =6.
If serial ='982103T' emjbedyl =85.
If serial ='982103T"' emjbstm2 =7.
If serial ='982103T" emjbsty2 =85.
If serial ='982103T' emjbedm2 =0.
If serial ='982103T' emjbedy2 =0.
If serial ='982103T' emjbem2 =1.
If serial ='982103T' emjbstm3 =-1.
If serial ='982103T' emjbsty3 =-1.
If serial ='982103T' emjbedm3 =-1.
If serial ='982103T"' emjbedy3 =-1.
If serial ='982103T' emjbst3 =-1.
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If serial ='982103T' emjbem3 =-1.
If serial ='982103T' emjbstm4 =-1.
If serial ='982103T' emjbsty4 =-1.

If serial ='982103T' emjbedm4 =-1.
If serial ='982103T' emjbedy4 =-1.
If serial ='982103T' emjbst4 =-1.

If serial ='982103T' emjbem4 =-1.
If serial ='982103T' emjbstm5 =-1.
If serial ='982103T"' emjbsty5 =-1.
If serial ='982103T' emjbedm5 =-1.
If serial ='982103T' emjbedy5 =-1.
If serial ='982103T' emjbst5 =-1.

If serial ='982103T' emjbem5 =-1.

If serial ='Y01010B' Emjbstm1 =7.
If serial ="Y01010B' emjbstyl =74.
If serial ='Y01010B' Emjbedm1 =4.
If serial ="Y01010B' emjbedyl =75.
If serial ='Y01010B' emjbstm2 =8.
If serial ='Y01010B' emjbsty2 =75.
If serial ='Y01010B' emjbedm2 =7.
If serial ="Y01010B' emjbedy2 =86.
If serial ='X34003H' Emjbedm1 =1.
If serial ='X34003H' emjbedm2 =0.
If serial ='X34003H' emjbedy2 =0.
If serial ='X34003H' emjbstm3 =-1.
If serial ='X34003H' emjbsty3 =-1.
If serial ='X34003H' emjbedm3 =-1.
If serial ='X34003H' emjbedy3 =-1.
If serial ='X34003H' emjbst3 =-1.

If serial ='’X34003H' emjbem3 =-1.
If serial ='X34003H' emjbstm4 =-1.
If serial ='X34003H' emjbsty4 =-1.
If serial ='’X34003H' emjbedm4 =-1.
If serial ='X34003H' emjbedy4 =-1.
If serial ='X34003H' emjbst4 =-1.

If serial ='X34003H' emjbem4 =-1.
If serial ='X34003H' emjbstm5 =-1.
If serial ='X34003H' emjbsty5 =-1.
If serial ='X34003H' emjbedm5 =-1.
If serial ='X34003H' emjbedy5 =-1.
If serial ='’X34003H' emjbst5 =-1.

If serial ='X34003H' emjbem5 =-1.
If serial ='515022J' emjbedm3 =5.
If serial ='515022J' emjbedy3 =91.
If serial ='308030B' emjbstm4 =9.
If serial ='308030B' emjbsty4 =78.
If serial ='308030B' emjbedm4 =7.
If serial ='308030B' emjbedy4 =81.
If serial ='308030B' emjbedm5 =10.
If serial ='308030B' emjbedy5 =81.
If serial ='308030B' emjbstm6 =5.
If serial ='308030B' emjbsty6 =82.
If serial ='550438R' emjbstm8 =3.
If serial ='550438R' emjbsty8 =90.
If serial ='985004H' Emjbedm1 =11.
If serial ='985004H' emjbedyl =90.
If serial ='985004H' emjbstm2 =11.
If serial ='985004H' emjbsty2 =90.
If serial ='985004H' emjbedm2 =0.
If serial ='985004H' emjbedy2 =0.
If serial ='985004H' emjbst2 =2.

If serial ='985004H' emjbstm3 =-1.
If serial ='985004H' emjbsty3 =-1.
If serial ='985004H' emjbedm3 =-1.
If serial ='985004H' emjbedy3 =-1.
If serial ='985004H' emjbst3 =-1.

If serial ='985004H' emjbem3 =-1.
If serial ='985004H' emjbstm4 =-1.
If serial ='985004H' emjbsty4 =-1.

If serial ='985004H' emjbedm4 =-1.
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If serial ='985004H' emjbedy4 =-1.
If serial ='985004H' emjbst4 =-1.

If serial ='985004H' emjbem4 =-1.
If serial ='985004H' emjbstm5 =-1.
If serial ='985004H' emjbsty5 =-1.
If serial ='985004H' emjbedm5 =-1.
If serial ='985004H' emjbedy5 =-1.
If serial ='985004H' emjbst5 =-1.

If serial ='985004H' emjbem5 =-1.
If serial ="Y30100S' Emjbstm1 =9.
If serial ="Y30100S' emjbstyl =74.
If serial ='Y30100S' Emjbedm1 =6.
If serial ="Y30100S' emjbedyl =75.
If serial ="Y30100S' emjbstm2 =6.
If serial ='Y30100S' emjbstm3 =7.
If serial ='Y30100S' emjbsty3 =78.
If serial ='Y30100S' emjbedm3 =2.
If serial ="Y30100S' emjbedy3 =91.
If serial ='X82203N' emjbedy2 =78.
If serial ='517037J' emjbedy3 =87.
If serial ='400029H' emjbsty5 =84.

If serial ='400029H' emjbedm5 =10.

If serial ='400029H' emjbstm9 =7.
If serial ='920020P' emjbstm8 =5.
If serial ='920020P' emjbsty8 =91.
If serial ='920020P' emjbedm8 =0.
If serial ='920020P' emjbedy8 =0.
If serial ='X71002Q' Emjbedm1 =9.

If serial ='X71002Q' emjbedyl =81.

If serial ='X71002Q"' emjbstm2 =9.
If serial ='X71002Q" emjbsty2 =81.

If serial ='X71002Q"' emjbedm2 =12.
If serial ='X71002Q' emjbedy2 =84.

If serial ='X71002Q"' emjbst2 =1.

If serial ='X71002Q"' emjbstm3 =10.

If serial ='X71002Q"' emjbsty3 =85.
If serial ='X71002Q"' emjbedm3 =4.

If serial ='X71002Q"' emjbedy3 =87.

If serial ='X71002Q"' emjbst3 =1.
If serial ='X71002Q' emjbstm4 =6.
If serial ='X71002Q"' emjbsty4 =87.

If serial ='X71002Q"' emjbedy4 =87.

If serial ='X71002Q"' emjbst4 =1.
If serial ='X71002Q"' emjbem4 =3.
If serial ='X71002Q"' emjbsty5 =87.

If serial ='X71002Q' emjbedy5 =89.
If serial ='X71002Q' emjbstm6 =12.

If serial ='X71002Q" emjbsty6 =89.
If serial ='X71002Q"' emjbedm6 =0.
If serial ='X71002Q"' emjbedy6 =0.
If serial ='X71002Q"' emjbstm7 =-1.
If serial ='X71002Q"' emjbsty7 =-1.

If serial ='X71002Q"' emjbedm7 =-1.

If serial ='X71002Q"' emjbedy7 =-1.
If serial ='X71002Q" emjbst7 =-1.

If serial ='X71002Q' emjbem7 =-1.
If serial ='X71002Q"' emjbstm8 =-1.
If serial ='X71002Q"' emjbsty8 =-1.

If serial ='X71002Q' emjbedm8 =-1.

If serial ='X71002Q"' emjbedy8 =-1.
If serial ='X71002Q" emjbst8 =-1.

If serial ='X71002Q' emjbem8 =-1.
If serial ='X71002Q"' emjbstm9 =-1.
If serial ='X71002Q' emjbsty9 =-1.

If serial ='X71002Q"' emjbedm9 =-1.

If serial ='X71002Q"' emjbedy9 =-1.
If serial ='X71002Q' emjbst9 =-1.
If serial ='X71002Q' emjbem9 =-1.
If serial ='Y00126S' emjbedm2 =0.
If serial ='Y00126S' emjbedy2 =0.
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If serial ='550232U" emjbedy3 =78.
If serial ='465047A" emjbsty5 =86.
If serial ='950280M' emjbedm7 =12.
If serial ='950280M' emjbedy7 =89.
If serial ='950280M' emjbstm8 =1.
If serial ='950280M' emjbsty8 =90.
If serial ='X82089T' emjbstyl =75.
If serial ="'Y01190H' emjbedm2 =6.
If serial ="Y01190H' emjbedy2 =87.
If serial ='Y01190H' emjbstm3 =6.
If serial ='Y01190H' emjbsty3 =87.
If serial ='Y01190H' emjbedm3 =9.
If serial ="Y01190H' emjbedy3 =87.
If serial ='Y01190H' emjbstm4 =-1.
If serial ="Y01190H' emjbsty4 =-1.

If serial ='Y01190H' emjbedm4 =-1.
If serial ="Y01190H' emjbedy4 =-1.
If serial ="YO1190H' emjbst4 =-1.

If serial ='YO1190H' emjbem4 =-1.
If serial ="Y01190H' emjbstm5 =-1.
If serial ="Y01190H' emjbsty5 =-1.
If serial ="Y01190H' emjbedm5 =-1.
If serial ='Y01190H' emjbedy5 =-1.
If serial ="Y01190H' emjbst5 =-1.

If serial ='Y01190H' emjbem5 =-1.
If serial ="Y01190H' emjbstm6 =-1.
If serial ='YO1190H' emjbsty6 =-1.
If serial ='Y01190H' emjbedm6 =-1.
If serial ="Y01190H' emjbedy6 =-1.
If serial ="YO1190H' emjbst6 =-1.

If serial ='Y01190H' emjbem6 =-1.
If serial ="Y01190H' emjbstm7 =-1.
If serial ="Y01190H' emjbsty7 =-1.
If serial ='Y01190H' emjbedm7 =-1.
If serial ="Y01190H' emjbedy7 =-1.
If serial ='Y0O1190H' emjbst7 =-1.

If serial ='YO1190H' emjbem7 =-1.
If serial ="Y01190H' emjbstm8 =-1.
If serial ="Y01190H' emjbsty8 =-1.
If serial ='Y01190H' emjbedm8 =-1.
If serial ='Y01190H' emjbedy8 =-1.
If serial ="Y01190H' emjbst8 =-1.

If serial ='Y01190H' emjbem8 =-1.
If serial ='YO1190H' emjbstm9 =-1.
If serial ='YO1190H' emjbsty9 =-1.
If serial ="Y01190H' emjbedm9 =-1.
If serial ="Y01190H' emjbedy9 =-1.
If serial ="YO1190H' emjbst9 =-1.

If serial ='Y01190H' emjbem9 =-1.
If serial ='Y01190H' emjbstm10 =-1.
If serial ="Y01190H' emjbsty10 =-1.

If serial ='Y01190H' emjbedm10 =-1.

If serial ="Y01190H' emjbedy10 =-1.
If serial ="Y01190H' emjbst10 =-1.

If serial ="Y01190H' emjbem10 =-1.
If serial ='Y01190H' emjbstm11 =-1.
If serial ='Y01190H' emjbsty11 =-1.

If serial ='Y01190H' emjbedm11 =-1.

If serial ='Y01190H' emjbedyl1l =-1.
If serial ='Y01190H' emjbst1l =-1.
If serial ='Y01190H' emjbem11 =-1.
If serial ='620167Y"' emjbedm3 =0.
If serial ='620167Y' emjbedy3 =0.
If serial ='505007F' emjbstm5 =2.
If serial ='505007F" emjbsty5 =90.
If serial ='505007F' emjbedm5 =0.
If serial ='505007F' emjbedy5 =0.
If serial ='505007F' emjbstm6 =-1.
If serial ='505007F' emjbsty6 =-1.
If serial ='505007F' emjbedm6 =-1.
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If serial ='505007F' emjbedy6 =-1.
If serial ='505007F' emjbst6 =-1.

If serial ='505007F' emjbem6 =-1.
If serial ='185011T' emjbedy8 =87.
If serial ='185011T' emjbsty9 =87.
If serial ='185011T' emjbedm9 =4.
If serial ='185011T' emjbedy9 =88.
If serial ="185011T" emjbstm10 =4.
If serial ="185011T' emjbsty10 =88.
If serial ='185011T' emjbedm10 =12.
If serial ='185011T' emjbedy10 =90.
If serial ='185011T' emjbsty1ll =91.
If serial ='185011T' emjbedm1l =O0.
If serial ='185011T' emjbedy11 =0.
If serial ='185011T' emjbem11 =1.
If serial ='185011T' emjbstm12 =-1.
If serial ='185011T"' emjbsty12 =-1.
If serial ='185011T' emjbedm12 =-1.
If serial ='185011T' emjbedyl2 =-1.
If serial ='185011T"' emjbst12 =-1.
If serial ='185011T' emjbem12 =-1.
If serial ="Y30283D' Emjbedm1 =6.
If serial ='Y30283D' emjbedyl =75.
If serial ="Y30283D' emjbstm2 =6.
If serial ="Y30283D' emjbsty2 =75.
If serial ="Y30283D' emjbedm2 =6.
If serial ='Y30283D' emjbedy2 =80.
If serial ="Y30283D' emjbstm3 =-1.
If serial ='Y30283D' emjbsty3 =-1.
If serial ="Y30283D' emjbedm3 =-1.
If serial ="Y30283D' emjbedy3 =-1.
If serial ="Y30283D' emjbst3 =-1.

If serial ="Y30283D' emjbem3 =-1.
If serial ='Y30283D' emjbstm4 =-1.
If serial ="Y30283D' emjbsty4 =-1.

If serial ="Y30283D' emjbedm4 =-1.
If serial ='Y30283D' emjbedy4 =-1.
If serial ="Y30283D' emjbst4 =-1.

If serial ="Y30283D' emjbem4 =-1.
If serial ="Y30283D' emjbstm5 =-1.
If serial ='Y30283D' emjbsty5 =-1.
If serial ="Y30283D' emjbedm5 =-1.
If serial ='Y30283D' emjbedy5 =-1.
If serial ="Y30283D' emjbst5 =-1.

If serial ='Y30283D' emjbem5 =-1.
If serial ="Y30283D' emjbstm6 =-1.
If serial ='Y30283D' emjbsty6 =-1.
If serial ="Y30283D' emjbedm6 =-1.
If serial ='Y30283D' emjbedy6 =-1.
If serial ='Y30283D' emjbst6 =-1.

If serial ="Y30283D' emjbem6 =-1.
If serial ='Y30283D' emjbstm7 =-1.
If serial ="Y30283D' emjbsty7 =-1.
If serial ='Y30283D' emjbedm7 =-1.
If serial ="Y30283D' emjbedy7 =-1.
If serial ='Y30283D' emjbst7 =-1.

If serial ='Y30283D' emjbem7 =-1.
If serial ='Y30283D' emjbstm8 =-1.
If serial ='Y30283D' emjbsty8 =-1.
If serial ='Y30283D' emjbedm8 =-1.
If serial ='Y30283D' emjbedy8 =-1.
If serial ='Y30283D' emjbst8 =-1.

If serial ='Y30283D' emjbem8 =-1.
If serial ='Y30283D' emjbstm9 =-1.
If serial ='Y30283D' emjbsty9 =-1.
If serial ='Y30283D' emjbedm9 =-1.
If serial ='Y30283D' emjbedy9 =-1.
If serial ='Y30283D' emjbst9 =-1.

If serial ="Y30283D' emjbem9 =-1.
If serial ='Y20191S' emjbstm2 =7.
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If serial ='Y20191S' emjbsty2 =76.
If serial ='Y20191S' emjbedm?2 =9.
If serial ="Y20191S' emjbedy2 =80.
If serial ='Y20191S' emjbstm3 =7.
If serial ='Y20191S' emjbsty3 =81.
If serial ='Y20191S' emjbedm3 =10.
If serial ='Y20191S' emjbedy3 =82.
If serial ='Y20191S' emjbstm4 =4.
If serial ='Y20191S' emjbsty4 =84.
If serial ="Y20191S' emjbedm4 =7.
If serial ='Y20191S' emjbedy4 =84.
If serial ='Y20191S' emjbstm5 =7.
If serial ='Y20191S' emjbsty5 =84.
If serial ="Y20191S' emjbedm5 =1.
If serial ='Y20191S' emjbedy5 =85.
If serial ='Y20191S' emjbstm6 =7.
If serial ='Y20191S' emjbsty6 =85.
If serial ="'Y20191S' emjbedm6 =9.
If serial ='Y20191S' emjbedy6 =85.
If serial ='Y20191S' emjbsty7 =86.
If serial ='Y20191S' emjbedm7 =9.
If serial ='Y20191S' emjbedy7 =86.
If serial ='Y20191S' emjbstm8 =6.
If serial ='Y20191S' emjbsty8 =87.
If serial ='Y20191S' emjbedy8 =87.
If serial ='Y20191S' emjbstm9 =9.
If serial ='Y20191S' emjbsty9 =88.
If serial ='Y20191S' emjbedm9 =10.
If serial ='Y20191S' emjbedy9 =88.
If serial ='Y20191S' emjbstm10 =2.
If serial ='Y20191S' emjbstyl0 =89.
If serial ='Y20191S' emjbedm10 =2.

If serial ='Y20191S' emjbedy10 =91.

If serial ='Y20191S' emjbstm1l =-1.
If serial ='Y20191S' emjbstyll =-1.

If serial ='Y20191S' emjbedm11 =-1.

If serial ='Y20191S' emjbedy1l =-1.
If serial ='Y20191S' emjbst1l =-1.
If serial ='Y20191S' emjbem11 =-1.
If serial ='Y20191S' emjbstm12 =-1.
If serial ='Y20191S' emjbsty12 =-1.

If serial ='Y20191S' emjbedm12 =-1.

If serial ='Y20191S' emjbedyl12 =-1.
If serial ='Y20191S' emjbst12 =-1.
If serial ='Y20191S' emjbem12 =-1.
If serial ='660004U' emjbedm3 =11.
If serial ='660004U' emjbedy3 =88.
If serial ='525039J' emjbedm2 =3.
If serial ='525039J' emjbedy2 =79.
If serial ='525039J' emjbstm4 =3.

If serial ='525039J' emjbedm4 =11.
If serial ='525039J' emjbedy4 =80.
If serial ='525039J' emjbedm6 =3.
If serial ='525039J' emjbedy6 =85.
If serial ='186002X' emjbedm8 =0.
If serial ='186002X' emjbedy8 =0.
If serial ="Y30169F' emjbedm?2 =0.
If serial ="Y30169F' emjbedy2 =0.
If serial ='660031X' emjbedm3 =0.
If serial ='660031X' emjbedy3 =0.
If serial ='550166J' emjbsty5 =91.
If serial ='422054E' emjbedy8 =89.
If serial ='740017Y' emjbedm3 =6.
If serial ='740017Y' emjbedy3 =88.
If serial ='740017Y' emjbstm4 =6.
If serial ='740017Y' emjbsty4 =88.
If serial ='740017Y' emjbedm4 =5.
If serial ='740017Y' emjbedy4 =91.
If serial ='740017Y' emjbstm5 =-1.
If serial ='740017Y' emjbsty5 =-1.
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If serial ='740017Y' emjbedm5 =-1.
If serial ='740017Y' emjbedy5 =-1.
If serial ='740017Y' emjbst5 =-1.

If serial ='740017Y' emjbem5 =-1.

If serial ='740017Y' emjbstm6 =-1.
If serial ='740017Y' emjbsty6 =-1.
If serial ='740017Y' emjbedm6 =-1.
If serial ='740017Y" emjbedy6 =-1.
If serial ='740017Y' emjbst6 =-1.

If serial ='740017Y' emjbem6 =-1.
If serial ='740017Y"' emjbstm7 =-1.
If serial ='740017Y' emjbsty7 =-1.
If serial ='740017Y' emjbedm7 =-1.
If serial ='740017Y"' emjbedy7 =-1.
If serial ='740017Y" emjbst7 =-1.

If serial ='740017Y' emjbem7 =-1.
If serial ='740017Y' emjbstm8 =-1.
If serial ='740017Y' emjbsty8 =-1.
If serial ='740017Y' emjbedm8 =-1.
If serial ='740017Y' emjbedy8 =-1.
If serial ='740017Y' emjbst8 =-1.

If serial ='740017Y' emjbem8 =-1.
If serial ='630056V' emjbstm5 =1.
If serial ='630056V' emjbsty5 =78.
If serial ='630056V' emjbedm5 =2.
If serial ='630056V' emjbedy5 =79.
If serial ='630056V' emjbstm6 =6.
If serial ='630056V"' emjbsty6 =79.
If serial ='630056V' emjbedm6 =8.
If serial ='630056V' emjbedy6 =81.
If serial ='630056V' emjbstm7 =10.
If serial ='630056V"' emjbsty7 =81.
If serial ='630056V' emjbedm7 =12.
If serial ='513031Y"' emjbedm8 =0.
If serial ='513031Y"' emjbedy8 =0.
If serial ="Y20246R' emjbedm11 =0.
If serial ='Y20246R' emjbedyl11 =0.
If serial ='088014J' emjbedm10 =O0.
If serial ='088014J' emjbedy10 =0.
If serial ='986147M' emjbedm3 =6.
If serial ='986147M' emjbedy3 =88.
If serial ='986147M' emjbstm4 =6.
If serial ='986147M' emjbsty4 =88.
If serial ='986147M' emjbedm4 =0.
If serial ='986147M' emjbedy4 =0.
If serial ='986147M' emjbstm5 =-1.
If serial ='986147M' emjbsty5 =-1.
If serial ='986147M' emjbedm5 =-1.
If serial ='986147M' emjbedy5 =-1.
If serial ='986147M' emjbst5 =-1.

If serial ='986147M' emjbem5 =-1.
If serial ='986147M' emjbstm6 =-1.
If serial ='986147M' emjbsty6 =-1.
If serial ='986147M' emjbedm6 =-1.
If serial ='986147M' emjbedy6 =-1.
If serial ='986147M' emjbst6 =-1.

If serial ='986147M' emjbem6 =-1.
If serial ='986147M' emjbstm7 =-1.
If serial ='986147M' emjbsty7 =-1.
If serial ='986147M' emjbedm7 =-1.
If serial ='986147M' emjbedy7 =-1.
If serial ='986147M' emjbst7 =-1.

If serial ='986147M' emjbem7 =-1.
If serial ='986147M' emjbstm8 =-1.
If serial ='986147M' emjbsty8 =-1.
If serial ='986147M' emjbedm8 =-1.
If serial ='986147M' emjbedy8 =-1.
If serial ='986147M' emjbst8 =-1.

If serial ='986147M' emjbem8 =-1.
If serial ='986147M' emjbstm9 =-1.
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If serial ='986147M' emjbsty9 =-1.

If serial ='986147M' emjbedm9 =-1.
If serial ='986147M' emjbedy9 =-1.
If serial ='986147M' emjbst9 =-1.

If serial ='986147M' emjbem9 =-1.
If serial ='986147M' emjbstm10 =-1.
If serial ='986147M' emjbsty10 =-1.
If serial ='986147M' emjbedm10 =-1.
If serial ='986147M' emjbedy10 =-1.
If serial ='986147M' emjbst10 =-1.
If serial ='986147M' emjbem10 =-1.
If serial ='986147M' emjbstm11 =-1.
If serial ='986147M' emjbsty11 =-1.
If serial ='986147M' emjbedm11 =-1.
If serial ='986147M' emjbedy11 =-1.
If serial ='986147M' emjbstll =-1.
If serial ='986147M' emjbem11 =-1.
If serial ='986147M' emjbstm12 =-1.
If serial ='986147M' emjbsty12 =-1.
If serial ='986147M' emjbedm12 =-1.
If serial ='986147M' emjbedy12 =-1.
If serial ='986147M' emjbst12 =-1.
If serial ='986147M' emjbem12 =-1.
If serial ='950055D' emjbedm4 =3.
If serial ='950055D" emjbedy4 =89.
If serial ='950055D' emjbedm5 =9.
If serial ='950055D' emjbedy5 =90.
If serial ='681021N' emjbedm8 =0.
If serial ='681021N' emjbedy8 =0.

If serial ='200069E' emjbsty12 =90.
If serial ="200069E' emjbedy12 =91.
If serial ='120140P' emjbedm11 =0.
If serial ="120140P' emjbedy11 =0.
If serial ='X70021P' emjbedm3 =0.
If serial ='X70021P' emjbedy3 =0.

If serial ='120050N' emjbedm5 =0.
If serial ='120050N' emjbedy5 =0.

If serial ='824016N' emjbedm8 =0.
If serial ='824016N' emjbedy8 =0.

If serial ='720044P' emjbedm12 =4.
If serial ='720044P' emjbedy12 =90.
If serial ='093025T"' emjbstyl =77.

If serial ='093025T' Emjbedm1 =8.
If serial ='093025T' emjbedyl =77.
If serial ='093025T' emjbstm2 =9.

If serial ='093025T"' emjbsty2 =77.

If serial ='093025T' emjbedm2 =10.
If serial ='093025T' emjbedy2 =77.
If serial ='093025T' emjbstm3 =10.
If serial ='093025T"' emjbsty3 =77.

If serial ='093025T' emjbedm3 =2.
If serial ='093025T' emjbedy3 =78.
If serial ='093025T"' emjbstm4 =2.

If serial ='093025T"' emjbsty4 =78.

If serial ='093025T' emjbedm4 =3.
If serial ='093025T' emjbedy4 =78.
If serial ='093025T"' emjbstm5 =4.

If serial ='093025T"' emjbsty5 =78.

If serial ='093025T' emjbedm5 =6.
If serial ='093025T' emjbedy5 =78.
If serial ='093025T"' emjbstm6 =6.

If serial ='093025T' emjbsty6 =78.

If serial ='093025T' emjbedm6 =6.
If serial ='093025T' emjbedy6 =80.
If serial ='093025T' emjbstm7 =6.

If serial ='093025T' emjbsty7 =80.

If serial ='093025T' emjbedm7 =9.
If serial ='093025T' emjbedy7 =82.
If serial ='093025T" emjbstm8 =10.
If serial ='093025T' emjbsty8 =82.
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If serial ='093025T' emjbedm8 =3.
If serial ='093025T' emjbedy8 =84.
If serial ='093025T' emjbstm9 =3.

If serial ='093025T' emjbsty9 =84.
If serial ='093025T' emjbedm9 =12.
If serial ='093025T" emjbedy9 =89.
If serial ='093025T' emjbst9 =1.

If serial ='093025T' emjbem9 =1.

If serial ='287195A' emjbedm5 =8.
If serial ='287195A" emjbedy5 =79.
If serial ='287195A" emjbstm6 =9.
If serial ='287195A" emjbsty6 =80.
If serial ='287195A' emjbedm6 =3.
If serial ='287195A" emjbedy6 =84.
If serial ='287195A" emjbstm7 =9.
If serial ='287195A" emjbsty7 =84.
If serial ='287195A' emjbedm7 =3.
If serial ='287195A" emjbedy7 =85.
If serial ='287195A" emjbstm8 =3.
If serial ='287195A"' emjbsty8 =85.
If serial ='287195A"' emjbstm10 =9.
If serial ='881006H' emjbedm8 =0.
If serial ='881006H' emjbedy8 =0.
If serial ='X32040C' emjbedy5 =85.
If serial ='287091N' emjbsty4 =84.

If serial ='300062X' emjbedy5 =84.
If serial ='300062X"' emjbstm6 =11.
If serial ='300062X"' emjbsty6 =84.
If serial ='143002E' emjbedy8 =89.
If serial ="X82495E' Emjbstm1 =7.
If serial ='X82495E' emjbstyl =74.
If serial ='X82495E' Emjbedm1 =5.
If serial ="X82495E' emjbedyl =76.
If serial ='X82495E' emjbstl =1.

If serial ='X82495E' emjbstm2 =3.
If serial ='X82495E' emjbsty2 =75.
If serial ='X82495E' emjbedm?2 =9.
If serial ='X82495E' emjbedy2 =75.
If serial ='X82495E' emjbst2 =2.

If serial ='X82495E' emjbstm3 =6.
If serial ='X82495E' emjbsty3 =76.
If serial ='X82495E' emjbhedm3 =10.
If serial ='X82495E' emjbedy3 =76.
If serial ="X82495E' emjbst3 =1.

If serial ='X82495E' emjbsty4 =76.
If serial ='X82495E' emjbedm4 =11.
If serial ="X82495E' emjbedy4 =76.
If serial ="X82495E' emjbstm5 =11.
If serial ='X82495E' emjbsty5 =76.
If serial ='X82495E' emjbstm7 =10.
If serial ="X82495E' emjbsty7 =77.
If serial ='X82495E' emjbedm7 =2.
If serial ='X82495E' emjbedy7 =80.
If serial ='X82495E' emjbst7 =1.

If serial ="X82495E' emjbem7 =1.

If serial ='X82495E' emjbstm8 =2.
If serial ='X82495E' emjbsty8 =80.
If serial ='X82495E' emjbedm8 =9.
If serial ='X82495E' emjbedy8 =81.
If serial ='X82495E' emjbstm9 =9.
If serial ='X82495E' emjbsty9 =81.
If serial ='X82495E' emjbedm9 =10.
If serial ='X82495E' emjbedy9 =82.
If serial ='X82495E' emjbst9 =2.

If serial ='X82495E' emjbstm10 =10.
If serial ='’X82495E' emjbsty10 =82.
If serial ='’X82495E' emjbedm10 =8.
If serial ='X82495E' emjbedy10 =83.
If serial ="X82495E' emjbst10 =1.

If serial ='X82495E' emjbstm11 =3.
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If serial ='X82495E' emjbsty11 =85.
If serial ='X82495E' emjbedm11 =0.
If serial ='X82495E' emjbedy11 =0.
If serial ="X82495E' emjbst1l =1.
If serial ='287134D' emjbsty4 =89.
If serial ='400131X"' emjbstyl =74.
If serial ='400131X' Emjbedm1 =6.
If serial ='400131X' emjbedyl =77.
If serial ='400131X' emjbstm2 =6.
If serial ='400131X"' emjbsty2 =77.
If serial ='400131X' emjbedm?2 =0.
If serial ='400131X"' emjbedy2 =0.
If serial ='400131X' emjbstm3 =-1.
If serial ='400131X"' emjbsty3 =-1.
If serial ='400131X' emjbedm3 =-1.
If serial ='400131X' emjbedy3 =-1.
If serial ='400131X' emjbst3 =-1.

If serial ='400131X' emjbem3 =-1.
If serial ='400131X"' emjbstm4 =-1.
If serial ='400131X' emjbsty4 =-1.

If serial ='400131X' emjbedm4 =-1.
If serial ='400131X' emjbedy4 =-1.
If serial ='400131X"' emjbst4 =-1.

If serial ='400131X' emjbem4 =-1.
If serial ='400131X' emjbstm5 =-1.
If serial ='400131X' emjbsty5 =-1.
If serial ='400131X"' emjbst5 =-1.

If serial ='400131X' emjbem5 =-1.
If serial ='432021V' emjbsty9 =82.
If serial ='385149Q' Emjbstm1 =4.
If serial ='385149Q' emjbstyl =76.
If serial ='385149Q' Emjbedm1 =3.
If serial ='385149Q' emjbedyl =78.
If serial ='385149Q' emjbstl =1.

If serial ='385149Q' emjbem1 =1.
If serial ='385149Q"' emjbstm2 =3.
If serial ='385149Q"' emjbsty2 =78.
If serial ='385149Q' emjbedm2 =3.
If serial ='385149Q' emjbedy2 =87.
If serial ='385149Q' emjbst2 =1.

If serial ='385149Q' emjbem2 =1.
If serial ='385149Q' emjbstm3 =8.
If serial ='385149Q' emjbstm4 =7.
If serial ='385149Q" emjbsty4 =90.
If serial ='385149Q' emjbedm4 =3.
If serial ='385149Q' emjbedy4 =91.
If serial ='385149Q' emjbem4 =3.
If serial ='385149Q' emjbstm5 =3.
If serial ='385149Q' emjbsty5 =91.
If serial ='385149Q' emjbedm5 =6.
If serial ='385149Q' emjbedy5 =91.
If serial ='385149Q' emjbst5 =1.

If serial ='385149Q' emjbem5 =1.

If serial ='513012U' emjbedy5 =87.
If serial ='X40026E' emjbedy8 =84.
If serial ='385189C' emjbstm6 =8.
If serial ='385189C' emjbsty6 =90.
If serial ='520032R' emjbedm5 =0.
If serial ='520032R' emjbedy5 =0.
If serial ='X78073C' emjbstm9 =8.
If serial ='X78073C' emjbsty9 =77.
If serial ='500431T' emjbstm4 =4.
If serial ='500431T' emjbsty4 =84.
If serial ='630004Z' emjbedm5 =1.
If serial ='630004Z' emjbedy5 =86.
If serial ='630004Z' emjbstm6 =1.
If serial ='630004Z' emjbsty6 =86.
If serial ='630004Z' emjbedm6 =8.
If serial ='630004Z' emjbedy6 =86.
If serial ='630004Z' emjbstm7 =8.
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If serial ='630004Z' emjbsty7 =86.
If serial ='630004Z' emjbedm7 =0.
If serial ='630004Z' emjbedy7 =0.
If serial ='630004Z' emjbstm8 =-1.
If serial ='630004Z' emjbsty8 =-1.
If serial ='630004Z' emjbedm8 =-1.
If serial ='630004Z' emjbedy8 =-1.
If serial ='630004Z' emjbst8 =-1.
If serial ='630004Z' emjbem8 =-1.
If serial ='630004Z' emjbstm9 =-1.
If serial ='630004Z' emjbsty9 =-1.
If serial ='630004Z' emjbedm9 =-1.
If serial ='630004Z' emjbedy9=-1.
If serial ='630004Z' emjbst9=-1.

If serial ='630004Z' emjbem9=-1.
If serial ='630004Z' emjbstm10=-1.
If serial ='630004Z' emjbsty10=-1.
If serial ='630004Z' emjbedm10=-1.
If serial ='630004Z' emjbedy10=-1.
If serial ='630004Z' emjbst10=-1.
If serial ='630004Z' emjbem10=-1.
If serial ='630004Z' emjbstm11=-1.
If serial ='630004Z' emjbsty11=-1.
If serial ='630004Z' emjbedm11=-1.
If serial ='630004Z' emjbedy11=-1.
If serial ='630004Z' emjbst11=-1.
If serial ='630004Z' emjbem11=-1.
If serial ='143013L' emjbedm9=0.
If serial ='143013L"' emjbedy9=0.

If serial ='620042B' emjbstm4=7.
If serial ='620042B' emjbsty4=88.
If serial ='650215B' emjbedm5=0.
If serial ='650215B' emjbedy5=0.
If serial ='188109C' emjbedm9=0.
If serial ='188109C' emjbedy9=0.
If serial ='620092T' emjbstm4=8.

If serial ='620092T' emjbsty4=83.
If serial ='750023Z' emjbedm5=6.
If serial ='750023Z' emjbedy5=88.
If serial ='750023Z' emjbstm6=6.

If serial ='750023Z' emjbsty6=88.
If serial ='750023Z' emjbedm6=4.
If serial ='750023Z' emjbedy6=89.
If serial ='750023Z' emjbstm7=5.

If serial ='750023Z' emjbsty7=89.
If serial ='750023Z' emjbedm7=6.
If serial ='750023Z' emjbstm8=8.

If serial ='750023Z' emjbedm8=10.
If serial ='750023Z' emjbstm9=10.
If serial ='750023Z' emjbedm9=3.
If serial ='750023Z' emjbedy9=90.
If serial ='750023Z' emjbstm10=3.
If serial ='750023Z' emjbsty10=90.
If serial ='750023Z' emjbedm10=6.
If serial ='750023Z' emjbstm11=7.
If serial ='750023Z' emjbedm11=10.
If serial ='750023Z' emjbstm12=10.
If serial ='750023Z' emjbedm12=0.
If serial ='750023Z' emjbedy12=0.
If serial ='282085R' emjbedm9=0.
If serial ='282085R' emjbedy9=0.
If serial ='782168J' emjbstm4=5.

If serial ='782168J' emjbsty4=84.
If serial ='782014D' emjbedy5=89.
If serial ='782014D' emjbsty6=89.
If serial ='506007M' emjbedm9=0.
If serial ='506007M' emjbedy9=0.
If serial ='933007V' emjbsty4=87.
If serial ='988010T' emjbedm5=0.
If serial ='988010T' emjbedy5=0.
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If serial ='050052D' emjbedm10=0.

If serial ='050052D' emjbedy10=0.
if serial='822037L" emjbsty2=-1.
if serial="822037L" emjbedy2=-1.
if serial='822037L' emjbstm3=-1.
if serial= '822037L" emjbsty3=-1.
if serial='822037L' emjbedm3=-1.
if serial="822037L" emjbedy3=-1.
execute.
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